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Paper — I
Note : ® This paper contains Sixty (60) multiple-choice questions, each question carrying two (2) marks.
e (Candidate is expected to answer any Fifty (50) questions.
¢ In case more than Fifty (50) questions are attempted, only the first Fifty (50) questions will be
evaluated.

1.  The principal of a school conducts an interview session of teachers and students with a
view to explore the possibility of their enhanced participation in school programmes. This
endeavour may be related to which type of research ?

(1) Evaluation Research (2) Fundamental Research
(3) Action Research (4) Applied Research

2.  In doing action research what is the usual sequence of steps ?
(1) Reflect, observe, plan, act (2) Plan, act, observe, reflect
(3) Plan, reflect, observe, act (4)  Act, observe, plan, reflect

3.  Which sequence of research steps is logical in the list given below ?

(1) Problem formulation, Analysis, Development of Research design, Hypothesis
making, Collection of data, Arriving at generalizations and conclusions.

(2) Development of Research design, Hypothesis making, Problem formulation, Data
analysis, Arriving at conclusions and data collection.

(3) Problem formulation, Hypothesis making, Development of a Research design,
Collection of data, Data analysis and formulation of generalizations and conclusions.

(4) Problem formulation, Deciding about the sample and data collection tools,
Formulation of hypothesis, Collection and interpretation of research evidence.

4. Below are given two sets — research methods (Set-I) and data collection tools (Set-II).
Match the two sets and indicate your answer by selecting the correct code :

Set -1 Set — 11
(Research Methods) (Data Collection Tools)

a.  Experimental method i. Using primary and secondary sources
b.  Ex post-facto method ii.  Questionnaire
c.  Descriptive survey method iii.  Standardized tests
d.  Historical method iv.  Typical characteristic tests
Codes :

a b c d
(1) ii i i v
2) i v il i

3) 1 i i iv
4) i ivoodi i
5.  The issue of ‘research ethics’ may be considered pertinent at which stage of research ?
(1) At the stage of problem formulation and its definition
(2) At the stage of defining the population of research

(3) At the stage of data collection and interpretation
(4) At the stage of reporting the findings.

6.  In which of the following, reporting format is formally prescribed ?
(1) Doctoral level thesis (2) Conference of researchers
(3) Workshops and seminars (4) Symposia
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Read the following passage carefully and answer questions from 7 to 12 :

The last great war, which nearly shook the foundations of the modern world, had little
impact on Indian literature beyond aggravating the popular revulsion against violence and
adding to the growing disillusionment with the ‘humane pretensions’ of the Western World.
This was eloquently voiced in Tagore’s later poems and his last testament, Crisis in Civilisation.
The Indian intelligentsia was in a state of moral dilemma. On the one hand, it could not help
sympathising with England’s dogged courage in the hour of peril, with the Russians fighting
with their backs to the wall against the ruthless Nazi hordes, and with China groaning under the
heel of Japanese militarism; on the other hand, their own country was practically under military
occupation of their own soil, and an Indian army under Subhas Bose was trying from the
opposite camp to liberate their country. No creative impulse could issue from such confusion of
loyalties. One would imagine that the achievement of Indian independence in 1947, which came
in the wake of the Allies’ victory and was followed by the collapse of colonialism in the
neighbouring countries of South-East Asia, would have released an upsurge of creative energy.
No doubt it did, but unfortunately it was soon submerged in the great agony of partition, with its
inhuman slaughter of the innocents and the uprooting of millions of people from their homeland,
followed by the martyrdom of Mahatma Gandhi. These tragedies, along with Pakistan’s
invasion of Kashmir and its later atrocities in Bangladesh, did indeed provoke a poignant
writing, particularly in the languages of the regions most affected, Bengali, Hindi, Kashmiri,
Punjabi, Sindhi and Urdu. But poignant or passionate writing does not by itself make great
literature. What reserves of enthusiasm and confidence survived these disasters have been
mainly absorbed in the task of national reconstruction and economic development. Great
literature has always emerged out of chains of convulsions. Indian literature is richer today in
volume, range and variety than it ever was in the past.

Based on the passage answer the following questions from 7 to 12 :

7.  What was the impact of the last great war on Indian literature ?
(1) It had no impact.
(2) It aggravated popular revulsion against violence.
(3) It shook the foundations of literature.
(4) It offered eloquent support to the Western World.

8.  What did Tagore articulate in his last testament ?
(1) Offered support to Subhas Bose.
(2) Exposed the humane pretensions of the Western World.
(3) Expressed loyalty to England.
(4) Encouraged the liberation of countries.

9.  What was the stance of Indian intelligentsia during the period of great war ?
(1) Indifference to Russia’s plight.
(2) They favoured Japanese militarism.
(3) They prompted creativity out of confused loyalties.
(4) They expressed sympathy for England’s dogged courage.

10. Identify the factor responsible for the submergence of creative energy in Indian literature.
(1) Military occupation of one’s own soil.
(2) Resistance to colonial occupation.
(3) Great agony of partition.
(4) Victory of Allies.

11. What was the aftermath that survived tragedies in Kashmir and Bangladesh ?
(1)  Suspicion of other countries (2) Continuance of rivalry
(3) Menace of war (4) National reconstruction

12. The passage has the message that
(1) Disasters are inevitable.
(2)  Great literature emerges out of chains of convulsions.
(3) Indian literature does not have a marked landscape.
(4) Literature has no relation with war and independence.
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Effective communication pre-supposes
(1) Non-alignment (2) Domination

(3) Passivity (4)  Understanding

When verbal and non-verbal messages are contradictory, it is said that most people believe

in
(1) indeterminate messages (2) verbal messages
(3) non-verbal messages (4) aggressive messages

The typical feature of an information-rich classroom lecture is in the nature of being
(1) Sedentary (2) Staggered
(3) Factual (4) Sectoral

Expressive communication is driven by
(1) Passive aggression

(2) Encoder’s personality characteristics
(3) External clues

(4) Encoder-decoder contract

Positive classroom communication leads to
(1) Coercion (2) Submission

(3) Confrontation (4) Persuasion

Classroom communication is the basis of
(1)  Social identity

(2) External inanities

(3) Biased passivity

(4)  Group aggression
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The missing term in the series 1, 4, 27, 16, ?, 36, 343, ... is
(1) 30 2) 49
3) 125 4) 81

The next term in the following series
YEB, WFD, UHG, SKI, _? will be
(1) TLO (2) QOL
3) QLO 4) GQP

If AiscodedasC,MasI, NasP,SasO,Ias A,PasN,Eas M, O as E and C as S, then
the code of COMPANIES will be

(1)  SPEINMOAC (2) NCPSEIOMA
(3) SMOPIEACN 4) SEINCPAMO

Among the following, identify the continuous type of data :
(1) Number of languages a person speaks

(2) Number of children in a household

(3) Population of cities

(4) Weight of students in a class

Ali buys a glass, a pencil box and a cup and pays T 21 to the shopkeeper. Rakesh buys a
cup, two pencil boxes and a glass and pays ¥ 28 to the shopkeeper. Preeti buys two
glasses, a cup and two pencil boxes and pays I 35 to the shopkeeper. The cost of 10 cups

will be

(1) %40
2) %60
(3) %80
4 T70

Out of four cities given below three are alike in some manner while the fourth one is
different. Identify the odd one

(1) Lucknow

(2) Rishikesh
(3) Allahabad
(4) Patna

Given below are some characteristics of reasoning. Select the code that states a
characteristic which is not of deductive reasoning :

(1) The conclusion must be based on observation and experiment.

(2)  The conclusion should be supported by the premise/premises.

(3) The conclusion must follow from the premise/premises necessarily.

(4) The argument may be valid or invalid.
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If two standard form categorical propositions with the same subject and predicate are
related in such a manner that if one is undetermined the other must be undetermined, what
is their relation ?

(1) Contrary (2) Subcontrary

(3) Contradictory (4) Sub-altern

Men and woman may have different reproductive strategies but neither can be considered
inferior or superior to the other, any more than a bird’s wings can be considered superior
or inferior to a fish’s fins. What type of argument it is ?

(1) Biological (2) Physiological

(3) Analogical (4) Hypothetical

Among the following propositions two are related in such a way that they cannot both be
true but can both be false. Select the code that states those two propositions.

Propositions :

(a) Every student is attentive.

(b) Some students are attentive.

(c) Students are never attentive.

(d) Some students are not attentive.

Codes :
(I) (a)and (b) (2) (a)and (c)
(3) (b)and (¢) 4) (¢)and (d)

Given below are two premises ((a) and (b)). From those two premises four conclusions (i),
(i1), (ii1) & (iv) are drawn. Select the code that states the conclusions validly drawn from
the premises (taking singly or jointly.)
Premises : (a) Untouchability is a curse.

(b) All hot pans are untouchable.
Conclusions : (i) All hot pans are curse.

(i1)) Some untouchable things are hot pans.

(iii)) All curses are untouchability.

(iv) Some curses are untouchability.

Codes :
(1) (i) and (ii) (2) (i) and (iii)
(3) (iii) and (iv) (4) (i) and (iv)

If the statement ‘None but the brave wins the race’ is false which of the following
statements can be claimed to be true ?

Select the correct code :

(1)  All brave persons win the race.

(2) Some persons who win the race are not brave.
(3) Some persons who win the race are brave.

(4) No person who wins the race is brave.
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The table below embodies data on the sales revenue (¥ in lakh) generated by a
publishing house during the years 2012-15 while selling books, magazines and
journals as three categories of items. Answer questions 31 — 33 based on the data

contained in the table.

Sales Revenue (% in lakh)
Year—
2012 2013 2014 2015
Items |
Journals 46 47 45 44
Magazines 31 39 46 51
Books 73 77 78 78
Total

31. In 2015, approximately what percent of total revenue came from books ?

(1) 45%
2) 55%
3) 35%
4 25%

32. The number of years in which there was an increase in revenue from at least two

categories of items, is

(1) 0
@ 1
3 2
4 3

33. If the year 2016 were to show the same growth in terms of total sales revenue as the year

2015 over the year 2014, then the revenue in the year 2016 must be approximately :
(1) 194 lakh
(2) R 187 lakh
(3) %172 lakh
(4) % 177 lakh
W-00 12
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E3l
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(2) 55%
3) 35%
4) 25%
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W-00

A University professor maintains data on MCA students tabulated by performance
and gender of the students. The data is kept on a computer hard disk, but accidently
some of it is lost because of a computer virus. Only the following could be
recovered :

Number of MCA Students
erformance
- Average | Good | Excellent | Total
Gender |
Male 10
Female 32
Total 30

Panic buttons were pressed but to no avail. An expert committee was formed, which
decided that the following facts were self evident :

(a) Half the students were either excellent or good.

(b) 40% of the students were females.

(c)  One-third of the male students were average.

Answer questions 34 — 36 based on the data given above :
How many female students are excellent ?

(1) 0 (2) 8

(3) 16 “4) 32

What proportion of female students are good ?

(1) O (2) 0.25

(3) 0.50 4) 0.75
Approximately, what proportion of good students are male ?
(1) 0 (2) 073

(3) 043 4) 0.27

Which of the following statement(s) is/are TRUE ?

S1 : The decimal number 11 is larger than the hexadecimal number 11.

S2 : In the binary number 1110.101, the fractional part has the decimal value as 0.625.
(1) SI only (2) S2only

(3) Both S1 and S2 (4) Neither S1 nor S2

Read the following two statements :

I: Information and Communication Technology (ICT) is considered a subset of
Information Technology (IT).

II: The ‘right to use’ a piece of software is termed as copyright.

Which of the above statement(s) is/are CORRECT ?

(1) BothIandII (2) Neither I nor II

(3) Monly (4) Tonly

Which of the following correctly lists computer memory types from highest to lowest
speed ?

(1) Secondary Storage; Main Memory (RAM); Cache Memory; CPU Registers

(2) CPU Registers; Cache Memory; Secondary Storage; Main Memory (RAM)

(3) CPU Registers; Cache Memory; Main Memory (RAM); Secondary Storage

(4) Cache Memory; CPU Registers; Main Memory (RAM); Secondary Storage

14
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Which of the following is a characteristic of Web2.0 applications ?
(1)  Multiple users schedule their time to use Web2.0 applications one by one.

(2) Web2.0 applications are focused on the ability for people to collaborate and share
information online.

(3) Web2.0 applications provide users with content rather than facilitating users to
create it.

(4) Web2.0 applications use only static pages.

With regard to a word processing software, the process of combining static information in
a publication together with variable information in a data source to create one merged
publication is called

(1) Electronic mail (2) Data sourcing

(3) Mail merge (4) Spam mail

DVD technology uses an optical media to store the digital data. DVD is an acronym for
(1) Digital Vector Disc (2) Digital Volume Disc
(3) Digital Versatile Disc (4) Digital Visualization Disc

Assertion (A) : Sustainable development is critical to well being of human society.

Reason (R) : Environmentally sound policies do not harm the environment or deplete
the natural resources.

Choose the correct code :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(3) (A)istrue and (R) is false.

(4) (A)is false and (R) is true.

The dominant source of pollution due to oxides of nitrogen (NOy) in urban areas is

(1) road transport (2) commercial sector

(3) energy use in industry (4) power plants

Which of the following is not a water-brone disease ?
(1) Typhoid (2) Hepatitis
(3) Cholera (4) Dengue
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46. Indian government’s target for power production from small hydro projects by the year

2022 is
(1) 1 Giga-Watt (2) 5 Giga-Watt
(3) 10 Giga-Watt (4) 15 Giga-Watt

47. In which country, the recent international agreement on phasing out Hydro Fluoro
Carbons (HFCs) was signed ?

(1) Rwanda (2) Morocco
(3) South Africa (4) Algeria

48. Which of the following natural hazards is not hydro-meteorological ?
(1) Snow avalanche (2) Sea erosion

(3) Tropical cyclone (4) Tsunami

49. Which of the following are the demerits of globalisation of higher education ?
(a) Exposure to global curriculum
(b) Promotion of elitism in education
(c) Commodification of higher education
(d) Increase in the cost of education

Select the correct answer from the codes given below :

Codes :
() (a)and (d) (2) (a),(c)and (d)
(3) (b),(c) and (d) 4) (a), (b), (c) and (d)

50. Which of the following statements are correct about deemed universities ?
(a) The Governor of the State is the chancellor of deemed universities.
(b) They can design their own syllabus and course work.
(c) They can frame their own guidelines regarding admission and fees.
(d) They can grant degrees.

Select the correct answer from the codes given below :

Codes :
() (a), (b) and (c) (2) (b),(c)and (d)
(3) (a),(c)and (d) 4) (a), (b), (c) and (d)
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52.

53.

54.

The purpose of value education is best served by focussing on
(1)  Cultural practices prevailing in the society.

(2) Norms of conduct laid down by a social group.

(3) Concern for human values.

(4) Religious and moral practices and instructions.

Which of the following statements are correct ?

(a) Rajya Sabha is a permanent House which can be dissolved only during national
emergency.

(b) Rajya Sabha does not represent the local interests of the States.

(c) Members of the Rajya Sabha are not bound to vote at the dictates of the states they
represent.

(d) No Union territory has a representative in the Rajya Sabha.

Select the correct answer from the codes given below :

Codes :
() (a)and (d) (2) (b)and (c)
(3) (b),(c) and (d) 4) (a), (b), (c) and (d)

Which of the following are not necessarily the immediate consequences of the
proclamation of the President’s Rule in a State ?

(a) Dissolution of the State Assembly.

(b) Removal of the Council of Ministers in the State.

(c) Takeover of the State administration by the Union Government.
(d) Appointment of a new Chief Secretary.

Select the correct answer from the codes given below :

Codes :
() (a)and (d) (2) (a), (b) and (c)
(3) (a), (b), (c) and (d) (4) (b)and (c)

Instead of holding the office during the pleasure of the President who among the following
hold(s) office during good behaviour ?

(a) Governor of a State (b) Attorney General of India

(c) Judges of the High Court (d) Administrator of a Union Territory
Select the correct answer from the codes given below :

Codes :

(1) (a) only (2)  (c) only

(3) (a)and(c) 4 (@), (b), (c) and (d)
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55. Which of the following set of statements represents acceptable propositions in respect of
teaching-learning relationships ? Choose the correct code to indicate your answer.
(i)  When students fail in a test, it is the teacher who fails.
(1) Every teaching must aim at ensuring learning.
(iii)) There can be teaching without learning taking place.
(iv) There can be no learning without teaching.
(v) A teacher teaches but learns also.
(vi) Real learning implies rote learning.

Codes :
(1) (i), (iii), (iv) and (v) (2) (i), (i), (iii) and (V)
(3) (ii), (iv), (v) and (vi) @) (1), (i), (v) and (vi)

56. Assertion (A) : Learning is a life long process.
Reason (R) : Learning to be useful must be linked with life processes.
Choose the correct answer from the following code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.
(4) (A)is false, but (R) is true.

57. Effectiveness of teaching has to be judged in terms of
(1) Course coverage
(2) Students’ interest
(3) Learning outcomes of students
(4) Use of teaching aids in the classroom

58. In which teaching method learner’s participation is made optimal and proactive ?
(1) Discussion method (2) Buzz session method
(3) Brainstorming session method (4) Project method

59. One of the most powerful factors affecting teaching effectiveness is related to the
(1)  Social system of the country (2) Economic status of the society
(3) Prevailing political system (4) Educational system

60. Assertion (A) : Formative evaluation tends to accelerate the pace of learning.
Reason (R) : As against summative evaluation, formative evaluation is highly
reliable.
Choose the correct answer from the following code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.
(4) (A)is false, but (R) is true.
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If you write your Name, Roll Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means such as change of response by scratching or using
white fluid, you will render yourself liable to disqualification.
You have to return the Original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are,
however, allowed to carry original question booklet on
conclusion of examination.
Use only Black Ball point pen.
Use of any calculator or log table etc., is prohibited.
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Note

X-00

Paper — I

: o This paper contains Sixty (60) multiple-choice questions, each question carrying two (2) marks.

e (Candidate is expected to answer any Fifty (50) questions.
¢ In case more than Fifty (50) questions are attempted, only the first Fifty (50) questions will be
evaluated.

When verbal and non-verbal messages are contradictory, it is said that most people believe

in
(1) indeterminate messages (2) verbal messages
(3) non-verbal messages (4) aggressive messages

The typical feature of an information-rich classroom lecture is in the nature of being
(1) Sedentary (2) Staggered
(3) Factual (4) Sectoral

Expressive communication is driven by
(1) Passive aggression

(2) Encoder’s personality characteristics
(3) External clues

(4) Encoder-decoder contract

Positive classroom communication leads to
(1) Coercion (2) Submission

(3) Confrontation (4) Persuasion

Classroom communication is the basis of
(1)  Social identity

(2) External inanities

(3) Biased passivity

(4)  Group aggression

Effective communication pre-supposes

(1) Non-alignment (2) Domination
(3) Passivity (4)  Understanding
2



TyaT - I
AT: o THUTATT H WS (60) Tgahedd U9 &, TS U9 & &l (2) 3H & |
o f5TH ¥ SHigaR =i fodt off o= (50) 991 & ST ¢ |
o SHIRAR TR U= (50) T T4 U1 ol I I W IHRAR 51T I T 7y T=m (50)

T BT Hoieh AT ST |
1. S Hifgs q9r TGS Se3 WER-faX &, Ot 78 Sl ST & o S1ehier o fovard oid &
(1) e @ g (2) Hitgs dewm
(3) HifEs T | (4) SUHE A

2. THd GEAT Y RN AT 6 G ORI s9o [0 Uhid & g § gt & 9
(1) TiRfea (2) waRd
(3) dHTHS 4) TIEH

3. wroErys Suu fRgeh FRT URd 2T § 2
(1) 3TEA U
(2) T EH (TAHIET) o AT i fooTang
(3) e weha
(4) F AEH-FHeARH (TSI T EY

4., GHNICHS Hel GUYOT T IR e=ifeha § & &1 8 & 2
(1) SeTE/3mEdeT () TEgo
(3) AHAT-EEAT 4 FTF

5. ohRY GUYYT fohHeRT MR € 2
(1) HHISTh e
(2) dTer et

(3) ARSI
(4) OTieH U
6. WA HUNOT § Uged § I& HHT ST &
(1) eI (2) "
(3) EEA (4) <y
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12.

13.
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The next term in the following series
YEB, WFD, UHG, SKI, _? will be
(1) TLO (2) QOL
(3) QLO 4 GQP

If AiscodedasC,MasI, NasP,SasO,Ias A,PasN,Eas M, O as E and C as S, then
the code of COMPANIES will be

(1)  SPEINMOAC (2) NCPSEIOMA
(3) SMOPIEACN 4) SEINCPAMO

Among the following, identify the continuous type of data :
(1)  Number of languages a person speaks

(2) Number of children in a household

(3) Population of cities

(4) Weight of students in a class

Ali buys a glass, a pencil box and a cup and pays T 21 to the shopkeeper. Rakesh buys a
cup, two pencil boxes and a glass and pays ¥ 28 to the shopkeeper. Preeti buys two
glasses, a cup and two pencil boxes and pays I 35 to the shopkeeper. The cost of 10 cups
will be

(1) 40
2) %60
(3) %80
@ Z70

Out of four cities given below three are alike in some manner while the fourth one is
different. Identify the odd one

(1) Lucknow

(2) Rishikesh

(3) Allahabad

(4) Patna

Given below are some characteristics of reasoning. Select the code that states a
characteristic which is not of deductive reasoning :

(1)  The conclusion must be based on observation and experiment.

(2) The conclusion should be supported by the premise/premises.

(3) The conclusion must follow from the premise/premises necessarily.
(4) The argument may be valid or invalid.

The missing term in the series 1, 4, 27, 16, ?, 36, 343, ... is
() 30 (2) 49
3) 125 4) 81

4
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e YEB, WED, UHG, SKI, ? ¥ 37TeT g g
() TLO (2) QOL
(3) QLO 4) GQP

TCAFBFCEMHIENFPE SHOL IFALEPHFNEEFME OFET
3T C 1 S &, @ COMPANIES 1 &< &I

(1)  SPEINMOAC (2) NCPSEIOMA
(3) SMOPIEACN 4) SEINCPAMO

fAfefEd o | Fad TR o ST &l Ted e

(1) U AT gRT Sl ST Hehe{ ATell JTaTe i G
(2) UHERH T B A

(3) VTR B SIS

(4) U HEH BEI B AT

3Tl 5 U MR & T 21 H Ueh T, U Urdel SR 3 Ush 7 GIET | ThHT F THASR T
T 28 H U &Y, I URgeT S 3R T o9 GRS | Wi = gFRR | ¥ 35 | §F T, U 69
31T 31 Ufget e @RS | 10 Ul T Jod e

(1) T40

2) %60

(3) T80

4) %70

T ST T 9R IRl § @ A R T Rl 9 0 UhEEE €, Saieh e 98T 3TN § | SHeh
TEEH BT |

(1) <ETs

(2) TR

(3) IOMRETR

4 g

I 7k o P faeiamd 5 1 § | Frifehd § @ 39 % 1 9A B S ek deh ol gt
'_ﬁgfa?ﬂ?ﬂ%

(1) Tepd Yeqor e g9 W STETd g A |

(2) TTohd mR-aTEE/ATEET R THTEd BT 1T |

(3) Te=pd IaEa: SUR-aTRy/aERT ¥ FeherT amey |

(4) T oY ST Y & HHATE |

e 1, 4,27, 16, 2, 36,343, ... G B N IR &
(1) 30 (2) 49
(3) 125 4 81
5 P.T.O.
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Men and woman may have different reproductive strategies but neither can be considered
inferior or superior to the other, any more than a bird’s wings can be considered superior
or inferior to a fish’s fins. What type of argument it is ?

(1) Biological (2) Physiological

(3) Analogical (4) Hypothetical

Among the following propositions two are related in such a way that they cannot both be
true but can both be false. Select the code that states those two propositions.

Propositions :

(a) Every student is attentive.

(b) Some students are attentive.

(c) Students are never attentive.

(d) Some students are not attentive.

Codes :
(I) (a)and (b) (2) (a)and (c)
(3) (b)and (c) 4) (c)and (d)

Given below are two premises ((a) and (b)). From those two premises four conclusions (i),
(1), (ii1) & (iv) are drawn. Select the code that states the conclusions validly drawn from
the premises (taking singly or jointly.)
Premises : (a) Untouchability is a curse.

(b) All hot pans are untouchable.
Conclusions : (i) All hot pans are curse.

(i1)) Some untouchable things are hot pans.

(iii)) All curses are untouchability.

(iv) Some curses are untouchability.

Codes :
(1) (i) and (ii) (2) (i) and (iii)
(3) (iii) and (iv) (4) (i) and (iv)

If the statement ‘None but the brave wins the race’ is false which of the following
statements can be claimed to be true ?

Select the correct code :

(1)  All brave persons win the race.

(2) Some persons who win the race are not brave.

(3) Some persons who win the race are brave.

(4) No person who wins the race is brave.

If two standard form categorical propositions with the same subject and predicate are
related in such a manner that if one is undetermined the other must be undetermined, what
is their relation ?

(1) Contrary (2) Subcontrary
(3) Contradictory (4) Sub-altern
6



14. Hfectat o qHul Ht USHATHS HATAT STeRT-3TeT &1 Tehell &, ofeh fohar o off gaY & et
Y STIFE TN ISP T8l WA ST bl &, U 78 9 UhR et vaft & Ui - duet &
et SEH STIAT SIPE el HHT ST GohelT & | T8 1557 WK BT A ¢ 2
(1) it (2) ¥RR FaHEr
(3) HEHERH (4) HAHH

15. foeAifed deharerl # 31 30 UK Fatyd & o6 o 31 el Tél & Wb &, fohd o <A1 TTord @ Hehd
€ | 3T B H I B ST 3T 3 ThATHIT B T4 § |
TH- AT
(a) VI BT Srad BT |
(b) FT I AT eI ¢ |
(c) B T off Ffet T&l & ¢ |
(d) FS D Iarad Tal & € |

Qg—d‘:
() () 3R (b) (2) (a) 3R (c)
(3) () I (c) @) (c) 3 (d)

16. = I THaTe (a 3R b) []RE T E | 37 4T qebaredl ¥ 9R 6 (i), (i), (iii) 3 (iv) Femer
MTE | 39 FH BT T B ST THATHT I (Thet 3T T T F) T (60T i ST & |
TBAE: (a) STIYAA U AT E |

(b) T TH AT YT |
frepe . () T T S AT € |
(i) T YT dist T AT € |
(iii) Tt TMIIMT SYTAT € |
(iv) FD NPT STGYFAT & |

E TR
() (@) 3R Gi) (2) (i) ¥R (iii)
(3) (iii) 3R (iv) 4) (i) 3 (iv)
17. 3 FF 3R g & dfesh o) Al & g § faord &id1 & Tord &, af f=iteed § 9 68 %o
I GE T T Hehell & 2
Tl e BT TFT B |

(1) Tt 9R A 3re | foott gid & |

(2) drgH fosEl 8 oot $w AR 9K Té e € |
(3) P A A g B oot B €, IR Ed € |
(4) <re ¥ foerdt g gt g A 9] el BT e |

18. I THM STYT A1 94T & 31 A FRUeT dh-aTe 39 UehR Gard ¢ foh 3R Ueh el ear
&, o g ot rfrifea g, ot ST ey T AT € 2
(1) 3@ (2) AT
(3) IrdtaRId (4) o
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20.
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The table below embodies data on the sales revenue (¥ in lakh) generated by a
publishing house during the years 2012-15 while selling books, magazines and
journals as three categories of items. Answer questions 19 — 21 based on the data

contained in the table.

Sales Revenue (% in lakh)
Year—
2012 2013 2014 2015
Items |
Journals 46 47 45 44
Magazines 31 39 46 51
Books 73 77 78 78
Total

The number of years in which there was an increase in revenue from at least two

categories of items, is

(1 0
@ 1
3 2
“4 3

If the year 2016 were to show the same growth in terms of total sales revenue as the year

2015 over the year 2014, then the revenue in the year 2016 must be approximately :

(1) %194 lakh
(2) %187 lakh
(3) %172 lakh
4) %177 lakh

In 2015, approximately what percent of total revenue came from books ?

(1) 45%
2) 55%
3) 35%
@) 25%



e € 1 et § A 2012-15 % SR TR YBT9T U FRT UEAshT, Ut qUr e
=1 fagel 1 A= Afrat § faget Tora (e v H) e st e e § | arferer § oo
el & MR T UTT 19 ¥ 21 HIaF |

g — foreml T (@@ wuw)

1 7T 2012 2013 2014 2015
SR 46 47 45 44
RIEEDS 31 39 46 51
TETH 73 77 78 78

E3l

19. fopc ool # %A | A &1 71 5l AT W T | i 8% 2
(H 0
2 1
(3 2
“4 3

20. 3T T 2016 % IR Fot [osht TG | T a9 2014 0 Jor1 § a9 2015 | g8 Ihg & e
ghg e &1, a a9 2016 % IR A5G | Jfeg T -1 g Afey 2

(1) R 194 =
2) R187 =
3) Rl172<E
4 R177 =

21. =9 2015 | GEAHT S oI5kt T FoT ST T Tehe=T HTeTa 9T UTe g2 2
(1) 45%
2) 55%
(3) 35%
@) 25%
X-00 9 P.T.O.
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A University professor maintains data on MCA students tabulated by performance
and gender of the students. The data is kept on a computer hard disk, but accidently
some of it is lost because of a computer virus. Only the following could be
recovered :

Number of MCA Students
erformance
- Average | Good | Excellent | Total
Gender |
Male 10
Female 32
Total 30

Panic buttons were pressed but to no avail. An expert committee was formed, which
decided that the following facts were self evident :

(a) Half the students were either excellent or good.

(b) 40% of the students were females.

(c)  One-third of the male students were average.

Answer questions 22 — 24 based on the data given above :

What proportion of female students are good ?

(1) O (2) 0.25

3) 0.50 4) 0.75
Approximately, what proportion of good students are male ?
(1) 0 (2) 0.73

(3) 043 4) 027

How many female students are excellent ?

(1) 0 (2) 8

3) 16 “4) 32

Read the following two statements :

I: Information and Communication Technology (ICT) is considered a subset of
Information Technology (IT).

II: The ‘right to use’ a piece of software is termed as copyright.

Which of the above statement(s) is/are CORRECT ?

(1) BothIandII (2) Neither I nor II

(3) I only (4) Tonly

Which of the following correctly lists computer memory types from highest to lowest
speed ?

(1) Secondary Storage; Main Memory (RAM); Cache Memory; CPU Registers
(2) CPU Registers; Cache Memory; Secondary Storage; Main Memory (RAM)
(3) CPU Registers; Cache Memory; Main Memory (RAM); Secondary Storage
(4) Cache Memory; CPU Registers; Main Memory (RAM); Secondary Storage

Which of the following statement(s) is/are TRUE ?
S1 : The decimal number 11 is larger than the hexadecimal number 11.
S2 : In the binary number 1110.101, the fractional part has the decimal value as 0.625.

(1) SI only (2) S2only
(3) Both S1 and S2 (4) Neither S1 nor S2
10
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ot favafaenera & MY ERT THALT B & Gag | ATHST ST & U9 aon o &
FTAR AMferhTha fHaT T ¥ | ifehe H Fre % o foww | v m , |t wanmaw
FHIY T & HRUT FT (b T & MY | haat i sitne sfvrfaa fog o ad

THH.T BT Bt G&T
U9 —
dew | I | IFE | FA
e d
T 10
Hfget 32
gl 30

4Tk ST i Il T, Tohq ST IS AT el g3 | Uk [aRiust |iAfd 1 e fohan e, i
T T T 7o 3 FAiTehd oo o 9med o

(a) 7Y BE AT AN SFHE ATITE I |

(b)  40% B HigaTd o |

(c) TOT BT § Uh-{feTs ad TR H & |

T ST T 3fiehe & YR W UTT 22 ¥ 24 H I T |

AfgeAT SETeT T feohaT ST aTd 399 ¢ 2

(1) 0 2) 0.25
(3) 0.50 4) 0.75
STH ST BT AT ST 3T 89 € 2

(L 0 2) 073
(3) 043 4) 0.27
fohat Afeet SE S € 2

(L 0 2) 8
(3) 16 4) 32
TeAfetfaa ST ot b ug -

[: Yo Ud GOR Wi (38.1.2T) i ot Ueifieht (377E.21.) S Sugq=ad M= ST & |
[: 9Ream & fhd B & STA-SsR’ & HIut-Tge (FalhR GRI) FHel ST & |
SRS T | @ i e WE e/ €2

(1) TATIFarIl (2) FELITHN

(3) FHEAAI (4) el

frfefEd & 9 9 |1 FFge BER TR A ¥ STIad ¥ a9 TG (T1E) 1 geieg T ¢ 2
(1) Thedl RS, B9 TERT (IRTUR,), H3 FAER, A7, FTored
(2) Wiy, A, H GURY, Fhedl WS, BT BERT (IR TTA,)
(3) WUty Iy, B HART, 99 AU (SR TTN,), Yohedl RSt
(4) 9 AEN, WO, AT, B OERY (IRTTA,); Tehed RS

frferfiaa o = 91/8 wuT T2 e 2
S1 : SIMCAT TEAT 11 TSy 9= 11 Y aer & |
S2 : fgamum @& 1110.101 % 3T¥Teh HIT 1 SOHeAT A 0.625 € |
(1) wae Sl (2) HaAS2
(3) S1TATS2 (4) A& S1, TES2
11 P.T.O.
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With regard to a word processing software, the process of combining static information in
a publication together with variable information in a data source to create one merged
publication is called

(1) Electronic mail (2) Data sourcing

(3) Mail merge (4) Spam mail

DVD technology uses an optical media to store the digital data. DVD is an acronym for
(1) Digital Vector Disc (2) Digital Volume Disc
(3) Digital Versatile Disc (4) Digital Visualization Disc

Assertion (A) : Sustainable development is critical to well being of human society.

Reason (R) : Environmentally sound policies do not harm the environment or deplete
the natural resources.

Choose the correct code :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(3) (A)istrue and (R) is false.

(4) (A)is false and (R) is true.

The dominant source of pollution due to oxides of nitrogen (NOy) in urban areas is

(1) road transport (2) commercial sector

(3) energy use in industry (4) power plants

Which of the following is not a water-brone disease ?
(1) Typhoid (2) Hepatitis
(3) Cholera (4) Dengue

Which of the following is a characteristic of Web2.0 applications ?
(1)  Multiple users schedule their time to use Web2.0 applications one by one.

(2) Web2.0 applications are focused on the ability for people to collaborate and share
information online.

(3) Web2.0 applications provide users with content rather than facilitating users to
create it.

(4)  Web2.0 applications use only static pages.

12
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I ARG FiweerR & TIW H, UH TUIEd USRI a9 & ST &d B uiadt e o 9T
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gl aiaott feges o € 2

(1) fefsteat o fewh () fefSea agy fewn
(3) fefvteet aeree fewr @) fefee fojeramestom fewh
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Tl e BT I B
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(2) (A) 31T (R) AT T &, ABT (R), (A) HT Tel TLIHT el ¢ |
(3)  (A) W&l T (R) el & |

@) (A) 7o adn (R) Wl € |

T & | ATsgie St (NOy) % H0T UguvT &1 Td & &

(1) HeH uaed (2) @tTeges &9
(3) S UgeRT Sl (4) R e
frfafad § 9 STot SIa-30 T8t & 2

(1) <CE®ES (2) TUeRle"

(3) = @ =7

fefetEd & | 9 2.0 SFUERT i DI T Foeioar ¢ 2
(D) %%%aﬁ%wméaz.o%m%fmwwqr%awmwﬁaﬁﬁ
|
(2) 3T 2.0 F SFAN AN I ST H AR eIe a1 Hl SEH-TEH H Bl Gl T
Higd B & |
(3) 39 2.0 HT AT O YT HRAAT & 7 {6 STeh! T o T GohReb &Il & |
(4) 39 2.0 FTHINT HaeT STARSAAIT J2i T ST FIAT € |
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34. In which country, the recent international agreement on phasing out Hydro Fluoro
Carbons (HFCs) was signed ?

(1) Rwanda (2) Morocco
(3) South Africa (4) Algeria

35. Which of the following natural hazards is not hydro-meteorological ?
(1) Snow avalanche (2) Seaerosion

(3) Tropical cyclone (4) Tsunami

36. Which of the following are the demerits of globalisation of higher education ?
(a) Exposure to global curriculum
(b) Promotion of elitism in education
(c) Commodification of higher education
(d) Increase in the cost of education

Select the correct answer from the codes given below :

Codes :
() (a)and (d) (2) (a),(c)and (d)
(3) (b),(c)and (d) 4) (a), (b), (c) and (d)

37. Which of the following statements are correct about deemed universities ?
(a) The Governor of the State is the chancellor of deemed universities.
(b) They can design their own syllabus and course work.
(c) They can frame their own guidelines regarding admission and fees.
(d) They can grant degrees.

Select the correct answer from the codes given below :

Codes :
(1) (a), (b) and (c) (2)  (b), (c) and (d)
(3) (@), (c)and (d) 4 (@), (b), (c) and (d)
38. Indian government’s target for power production from small hydro projects by the year
2022 is
(1) 1 Giga-Watt (2) 5 Giga-Watt
(3) 10 Giga-Watt (4) 15 Giga-Watt

X-00 14



34. T 39 A A & T BE FAR Hed (HFCs) 1 TR0Eg dlich d T i adl Sarieeia

TR T B’ 6T 7T 2
(1) Tarer (2) HFR
(3) TfRI0T STRIHT (4) efostiran

35. T=ATarEd Wehide STusTet § § i 9 eTegl-HaH T8 § 2
(1) Tex wgeH (2) IS FeE
(3) SUTHCEIRT Tshard @) F
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(c) o SIfEel a9 Yo & faug § o1 feon-fser o weha € 1
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U T $i B T TEl S H qIT B
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(1) (a), (b) T (c) (2) (b), (c) T (d)

(3) (a), ()T (d) ) (a), (b), (c) T (d)

38. YRA WHR HT O STA-[Igd IRASTHIST & a9 2022 T ITaX TG HT 7 &
(1) 1 Tirmere (2) 5 TTETE
(3) 10 ThTETE (4) 15 e
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39. Which of the following statements are correct ?

(a) Rajya Sabha is a permanent House which can be dissolved only during national
emergency.

(b) Rajya Sabha does not represent the local interests of the States.

(c) Members of the Rajya Sabha are not bound to vote at the dictates of the states they
represent.

(d) No Union territory has a representative in the Rajya Sabha.

Select the correct answer from the codes given below :

Codes :
() (a)and (d) (2) (b)and (c)
(3) (b),(c) and (d) 4) (a), (b), (c) and (d)

40. Which of the following are not necessarily the immediate consequences of the
proclamation of the President’s Rule in a State ?

(a) Dissolution of the State Assembly.

(b) Removal of the Council of Ministers in the State.

(c) Takeover of the State administration by the Union Government.
(d) Appointment of a new Chief Secretary.

Select the correct answer from the codes given below :

Codes :
() (a)and (d) (2) (a), (b) and (¢)
(3) (a),(b), (c) and (d) (4) (b)and (c)

41. Instead of holding the office during the pleasure of the President who among the following
hold(s) office during good behaviour ?

(a) Governor of a State (b) Attorney General of India

(c) Judges of the High Court (d) Administrator of a Union Territory
Select the correct answer from the codes given below :

Codes :

(1)  (a) only (2)  (c) only

(3) (a)and (c) 4) (), (b), (c) and (d)

42. The purpose of value education is best served by focussing on
(1)  Cultural practices prevailing in the society.
(2) Norms of conduct laid down by a social group.
(3) Concern for human values.

(4) Religious and moral practices and instructions.
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43. Assertion (A) : Learning is a life long process.
Reason (R) : Learning to be useful must be linked with life processes.
Choose the correct answer from the following code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.
(4) (A)is false, but (R) is true.

44. Effectiveness of teaching has to be judged in terms of
(1) Course coverage
(2) Students’ interest
(3) Learning outcomes of students
(4)  Use of teaching aids in the classroom

45. In which teaching method learner’s participation is made optimal and proactive ?
(1) Discussion method (2) Buzz session method
(3) Brainstorming session method (4) Project method

46. One of the most powerful factors affecting teaching effectiveness is related to the
(1)  Social system of the country (2) Economic status of the society
(3) Prevailing political system (4) Educational system

47. Assertion (A) : Formative evaluation tends to accelerate the pace of learning.
Reason (R) : As against summative evaluation, formative evaluation is highly
reliable.
Choose the correct answer from the following code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.
(4) (A)is false, but (R) is true.

48. Which of the following set of statements represents acceptable propositions in respect of
teaching-learning relationships ? Choose the correct code to indicate your answer.
(i)  When students fail in a test, it is the teacher who fails.
(1) Every teaching must aim at ensuring learning.
(i1i1)) There can be teaching without learning taking place.
(iv) There can be no learning without teaching.
(v) A teacher teaches but learns also.
(vi) Real learning implies rote learning.

Codes :
(1) (i), (iii), (iv) and (v) (2) (@), (ii), (iii) and (V)
(3) (i), (iv), (v) and (vi) @) (@), (), (v) and (vi)

X-00 18



43.

44.

45.

46.

47.

48.

X-00

Afume (A) : AT U STe-adwa ufkar ¥ |

% (R) ;ST o STEI e o foTT 5 e WshHT | ST ST =@’ |
e T T et W HE IR B T B

(1) (A) 3R (R) I el & 3 (R), (A) l Tel AL |

(2) (A) 3T (R) 3T &t €, T (R), (A) i Tt AT F&T & |

(3) (AT E, fFT (R) T € |

4) (A) T &, fohq (R) @&t € |

fo1eT0T Bt WeTTEreRTeT < fotg f=iferd o @ fop w9 4 fopan st =nfew 2
(1) ToIva-a%] % DR % R W)

(2) BET H AT F IR T

(3) SE % AT GROTHE &% YR T

(4) R H 918707 WETI WA & SUANT o SER 0T

iR o 4 for foreqor fafer & feremelt st YR i Tod™ q9T TecTehR) ST ST € 2

(1) uiteraren = fafy o (2) Ji\d ardr 9 @t fafy &

(3) foames o =i fafa & (4) RS fafy §

T3T8T0T TeTTEreRIIAT bt T e aTeT Ueh Taiiteeh IIerAeTet! s o Heifad & 9
(1) 391 S G e o (2) TS W 3tk feafa

(3) formm T e 9@ (4) SrerfoTer e 9

e (A) : TR JoaishT SRR ot I T w@Rd ST € |

& (R) : TheTTcHsh Jodish sh! qoiT | AT Jedich e fava-ia & |
e ST T et T Hel ST BT TA A

(1) (A) 3T (R) I &t & 31X (R), (A) Tl T&T AN |
(2) (A) 3T (R) T T €, T (R), (A) i Tt A Fal & |
(3) (AT E, g (R) ToId & |

4) (A) T &, fohq (R) @&t € |

Toreror-atfrm Geet o G & TAifchd el o TU=ag § & P QT Wi FH ¢ 2 3101 3T
T9M % ToTT WEl 2 1 =9 HY |

() 9 D fHEr wieT 9 % g €, af 9 o1t € ST STawhet e € |

(i) T ToreToT 1 SR Sty GRATvEd AT @i € |

(iii) AT 3 ToT To18ToT & HeheT € |

(iv) fereror & fomm g tferme 7 & WehaT € |

(v) g Toreten fereror o €, b o Araer o ¥ |

(vi) oITEiees U o1 SATHU Shae fehar ST aretr s € |

W:
() (i), (iii), (iv) 3R (v) @) (), (i), (iii) 3T (v)
(3) (i), (iv), (v) 3 (vi) @) (), (i), (v) 3 (vi)

19 P.T.O.



49.

50.

S1.

52.

53.

54.

X-00

In doing action research what is the usual sequence of steps ?
(1) Reflect, observe, plan, act (2) Plan, act, observe, reflect
(3) Plan, reflect, observe, act (4)  Act, observe, plan, reflect

Which sequence of research steps is logical in the list given below ?

(1) Problem formulation, Analysis, Development of Research design, Hypothesis
making, Collection of data, Arriving at generalizations and conclusions.

(2) Development of Research design, Hypothesis making, Problem formulation, Data
analysis, Arriving at conclusions and data collection.

(3) Problem formulation, Hypothesis making, Development of a Research design,
Collection of data, Data analysis and formulation of generalizations and conclusions.

(4) Problem formulation, Deciding about the sample and data collection tools,
Formulation of hypothesis, Collection and interpretation of research evidence.

Below are given two sets — research methods (Set-I) and data collection tools (Set-II).
Match the two sets and indicate your answer by selecting the correct code :

Set -1 Set — I1
(Research Methods) (Data Collection Tools)

a.  Experimental method 1. Using primary and secondary sources
b.  Ex post-facto method ii.  Questionnaire
c.  Descriptive survey method iii.  Standardized tests
d.  Historical method iv.  Typical characteristic tests
Codes :

a b c d
(1) ii i i v
2) i v il i

3 u w1 v
4 1 v i i

The issue of ‘research ethics’ may be considered pertinent at which stage of research ?
(1) At the stage of problem formulation and its definition

(2) At the stage of defining the population of research

(3) At the stage of data collection and interpretation

(4) At the stage of reporting the findings.

In which of the following, reporting format is formally prescribed ?
(1) Doctoral level thesis (2) Conference of researchers
(3) Workshops and seminars (4) Symposia

The principal of a school conducts an interview session of teachers and students with a
view to explore the possibility of their enhanced participation in school programmes. This
endeavour may be related to which type of research ?

(1) Evaluation Research (2) Fundamental Research

(3) Action Research (4) Applied Research
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Read the following passage carefully and answer questions from 55 to 60 :

The last great war, which nearly shook the foundations of the modern world, had little
impact on Indian literature beyond aggravating the popular revulsion against violence and
adding to the growing disillusionment with the ‘humane pretensions’ of the Western World.
This was eloquently voiced in Tagore’s later poems and his last testament, Crisis in Civilisation.
The Indian intelligentsia was in a state of moral dilemma. On the one hand, it could not help
sympathising with England’s dogged courage in the hour of peril, with the Russians fighting
with their backs to the wall against the ruthless Nazi hordes, and with China groaning under the
heel of Japanese militarism; on the other hand, their own country was practically under military
occupation of their own soil, and an Indian army under Subhas Bose was trying from the
opposite camp to liberate their country. No creative impulse could issue from such confusion of
loyalties. One would imagine that the achievement of Indian independence in 1947, which came
in the wake of the Allies’ victory and was followed by the collapse of colonialism in the
neighbouring countries of South-East Asia, would have released an upsurge of creative energy.
No doubt it did, but unfortunately it was soon submerged in the great agony of partition, with its
inhuman slaughter of the innocents and the uprooting of millions of people from their homeland,
followed by the martyrdom of Mahatma Gandhi. These tragedies, along with Pakistan’s
invasion of Kashmir and its later atrocities in Bangladesh, did indeed provoke a poignant
writing, particularly in the languages of the regions most affected, Bengali, Hindi, Kashmiri,
Punjabi, Sindhi and Urdu. But poignant or passionate writing does not by itself make great
literature. What reserves of enthusiasm and confidence survived these disasters have been
mainly absorbed in the task of national reconstruction and economic development. Great
literature has always emerged out of chains of convulsions. Indian literature is richer today in
volume, range and variety than it ever was in the past.

Based on the passage answer the following questions from 55 to 60 :

55. What did Tagore articulate in his last testament ?
(1) Offered support to Subhas Bose.
(2) Exposed the humane pretensions of the Western World.
(3) Expressed loyalty to England.
(4) Encouraged the liberation of countries.

56. What was the stance of Indian intelligentsia during the period of great war ?
(1) Indifference to Russia’s plight.
(2) They favoured Japanese militarism.
(3) They prompted creativity out of confused loyalties.
(4) They expressed sympathy for England’s dogged courage.

57. Identify the factor responsible for the submergence of creative energy in Indian literature.
(1) Military occupation of one’s own soil.
(2) Resistance to colonial occupation.
(3) Great agony of partition.
(4) Victory of Allies.

58. What was the aftermath that survived tragedies in Kashmir and Bangladesh ?
(1)  Suspicion of other countries (2) Continuance of rivalry
(3) Menace of war (4) National reconstruction

59. The passage has the message that
(1) Disasters are inevitable.
(2) Great literature emerges out of chains of convulsions.
(3) Indian literature does not have a marked landscape.
(4) Literature has no relation with war and independence.

60. What was the impact of the last great war on Indian literature ?
(1) It had no impact.
(2) It aggravated popular revulsion against violence.
(3) It shook the foundations of literature.
(4) It offered eloquent support to the Western World.
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Paper — I
Note : ® This paper contains Sixty (60) multiple-choice questions, each question carrying two (2) marks.
e (Candidate is expected to answer any Fifty (50) questions.
¢ In case more than Fifty (50) questions are attempted, only the first Fifty (50) questions will be
evaluated.

The table below embodies data on the sales revenue (¥ in lakh) generated by a
publishing house during the years 2012-15 while selling books, magazines and

journals as three categories of items. Answer questions 1 — 3 based on the data

contained in the table.

Sales Revenue (% in lakh)
Year—
2012 2013 2014 2015
Items |
Journals 46 47 45 44
Magazines 31 39 46 51
Books 73 77 78 78
Total

1.  If the year 2016 were to show the same growth in terms of total sales revenue as the year
2015 over the year 2014, then the revenue in the year 2016 must be approximately :
(1) 194 lakh
(2) % 187 lakh
(3) R 172 lakh
(4) R 177 lakh

2. In 2015, approximately what percent of total revenue came from books ?

Y-00

(1) 45%
2) 55%
(3) 35%
4)  25%

The number of years in which there was an increase in revenue from at least two

categories of items, is

1 0
@ 1
3 2
“ 3



gy - I
AT: o THUTAT H WS (60) Tgahedd U9 &, Ui U9 & &l (2) 3H & |
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T BT Hoieh AT ST |
e &1 TS ATferest § AW 2012-15 % FRI et T Hut gRT GEIehT, ahrentet qur se
! fagpt 1 i St § et Tora (@ra vuT ) "aet sifes faw e § ) arferer 9 e e
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RS 2012 2013 2014 2015
SRAA 46 47 45 44
BlECa] 31 39 46 51
BSED 73 77 78 78

E3l

1. 33T 2016 % IR Fot o601 TR T ST 99 2014 S gor1 H a9 2015 § g g5 & e
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A University professor maintains data on MCA students tabulated by performance
and gender of the students. The data is kept on a computer hard disk, but accidently
some of it is lost because of a computer virus. Only the following could be

recovered :
Number of MCA Students
erformance
- Average | Good | Excellent | Total
Gender |
Male 10
Female 32
Total 30

Panic buttons were pressed but to no avail. An expert committee was formed, which
decided that the following facts were self evident :

(a) Half the students were either excellent or good.

(b) 40% of the students were females.

(c)  One-third of the male students were average.

Answer questions 4 — 6 based on the data given above :
4.  Approximately, what proportion of good students are male ?

(H 0 (2) 0.73

(3) 043 4) 027
S. How many female students are excellent ?

(H O 2) 8

3) 16 4) 32
6.  What proportion of female students are good ?

(1) O (2) 0.25

(3) 0.50 4) 0.75

7.  Which of the following correctly lists computer memory types from highest to lowest
speed ?
(1) Secondary Storage; Main Memory (RAM); Cache Memory; CPU Registers
(2) CPU Registers; Cache Memory; Secondary Storage; Main Memory (RAM)
(3) CPU Registers; Cache Memory; Main Memory (RAM); Secondary Storage
(4) Cache Memory; CPU Registers; Main Memory (RAM); Secondary Storage

8.  Which of the following statement(s) is/are TRUE ?
S1 : The decimal number 11 is larger than the hexadecimal number 11.
S2 : In the binary number 1110.101, the fractional part has the decimal value as 0.625.
(1) S1 only (2) S2only
(3) Both S1 and S2 (4) Neither S1 nor S2

9. Read the following two statements :
I: Information and Communication Technology (ICT) is considered a subset of
Information Technology (IT).
II: The ‘right to use’ a piece of software is termed as copyright.
Which of the above statement(s) is/are CORRECT ?
(1) BothIandII (2) Neither I nor II
(3) I only (4) Tonly
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DVD technology uses an optical media to store the digital data. DVD is an acronym for
(1) Digital Vector Disc (2) Digital Volume Disc
(3) Digital Versatile Disc (4) Digital Visualization Disc

Assertion (A) : Sustainable development is critical to well being of human society.

Reason (R) : Environmentally sound policies do not harm the environment or deplete
the natural resources.

Choose the correct code :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(3) (A)istrue and (R) is false.

(4) (A)is false and (R) is true.

The dominant source of pollution due to oxides of nitrogen (NOy) in urban areas is

(1) road transport (2) commercial sector

(3) energy use in industry (4) power plants

Which of the following is not a water-brone disease ?
(1) Typhoid (2) Hepatitis
(3) Cholera (4) Dengue

Which of the following is a characteristic of Web2.0 applications ?
(1)  Multiple users schedule their time to use Web2.0 applications one by one.

(2) Web2.0 applications are focused on the ability for people to collaborate and share
information online.

(3) Web2.0 applications provide users with content rather than facilitating users to
create it.

(4)  Web2.0 applications use only static pages.

With regard to a word processing software, the process of combining static information in
a publication together with variable information in a data source to create one merged
publication is called

(1) Electronic mail (2) Data sourcing
(3) Mail merge (4) Spam mail
6
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16. Which of the following natural hazards is not hydro-meteorological ?
(1) Snow avalanche (2) Sea erosion

(3) Tropical cyclone (4) Tsunami

17.  Which of the following are the demerits of globalisation of higher education ?
(a) Exposure to global curriculum
(b) Promotion of elitism in education
(c) Commodification of higher education
(d) Increase in the cost of education

Select the correct answer from the codes given below :

Codes :
() (a)and (d) (2) (a),(c)and (d)
(3) (b),(c) and (d) 4) (a), (b), (c) and (d)

18. Which of the following statements are correct about deemed universities ?
(a) The Governor of the State is the chancellor of deemed universities.
(b) They can design their own syllabus and course work.
(c) They can frame their own guidelines regarding admission and fees.
(d) They can grant degrees.

Select the correct answer from the codes given below :

Codes :
() (a), (b) and (c) (2) (b), (c) and (d)
(3) (a),(c)and (d) 4) (a), (b), (c) and (d)

19. Indian government’s target for power production from small hydro projects by the year

2022 is
(1) 1 Giga-Watt (2) 5 Giga-Watt
(3) 10 Giga-Watt (4) 15 Giga-Watt

20. In which country, the recent international agreement on phasing out Hydro Fluoro
Carbons (HFCs) was signed ?

(1) Rwanda (2) Morocco

(3) South Africa (4) Algeria
Y-00 8
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Which of the following are not necessarily the immediate consequences of the
proclamation of the President’s Rule in a State ?

(a) Dissolution of the State Assembly.

(b) Removal of the Council of Ministers in the State.

(c) Takeover of the State administration by the Union Government.
(d) Appointment of a new Chief Secretary.

Select the correct answer from the codes given below :

Codes :
() (a)and (d) (2) (a), (b) and (c)
(3) (a), (b), (c) and (d) 4) (b)and (c)

Instead of holding the office during the pleasure of the President who among the following
hold(s) office during good behaviour ?

(a) Governor of a State (b) Attorney General of India

(c)  Judges of the High Court (d)  Administrator of a Union Territory
Select the correct answer from the codes given below :

Codes :

(1) (a)only 2) (c)only

(3) (a)and () 4 (@), (b), (c) and (d)

The purpose of value education is best served by focussing on
(1)  Cultural practices prevailing in the society.

(2) Norms of conduct laid down by a social group.

(3) Concern for human values.

(4) Religious and moral practices and instructions.

Which of the following statements are correct ?

(a) Rajya Sabha is a permanent House which can be dissolved only during national
emergency.

(b) Rajya Sabha does not represent the local interests of the States.

(c) Members of the Rajya Sabha are not bound to vote at the dictates of the states they
represent.

(d) No Union territory has a representative in the Rajya Sabha.

Select the correct answer from the codes given below :

Codes :

() (a)and (d) (2) (b)and (c)

(3) (b),(c) and (d) 4) (a), (b), (c) and (d)
10
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Effectiveness of teaching has to be judged in terms of
(1) Course coverage

(2) Students’ interest

(3) Learning outcomes of students

(4)  Use of teaching aids in the classroom

In which teaching method learner’s participation is made optimal and proactive ?
(1) Discussion method (2) Buzz session method
(3) Brainstorming session method (4) Project method

One of the most powerful factors affecting teaching effectiveness is related to the
(1)  Social system of the country (2) Economic status of the society
(3) Prevailing political system (4) Educational system

Assertion (A) : Formative evaluation tends to accelerate the pace of learning.

Reason (R) : As against summative evaluation, formative evaluation is highly
reliable.

Choose the correct answer from the following code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

Which of the following set of statements represents acceptable propositions in respect of
teaching-learning relationships ? Choose the correct code to indicate your answer.

(i)  When students fail in a test, it is the teacher who fails.

(1) Every teaching must aim at ensuring learning.

(i11)) There can be teaching without learning taking place.

(iv) There can be no learning without teaching.

(v) A teacher teaches but learns also.

(vi) Real learning implies rote learning.

Codes :
(1) (i), (iii), (iv) and (v) (2) (@), (ii), (iii) and (V)
(3) (i), (iv), (v) and (vi) @) (@), (), (v) and (vi)

Assertion (A) : Learning is a life long process.

Reason (R) : Learning to be useful must be linked with life processes.
Choose the correct answer from the following code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.
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Which sequence of research steps is logical in the list given below ?

(1) Problem formulation, Analysis, Development of Research design, Hypothesis
making, Collection of data, Arriving at generalizations and conclusions.

(2) Development of Research design, Hypothesis making, Problem formulation, Data
analysis, Arriving at conclusions and data collection.

(3) Problem formulation, Hypothesis making, Development of a Research design,
Collection of data, Data analysis and formulation of generalizations and conclusions.

(4) Problem formulation, Deciding about the sample and data collection tools,
Formulation of hypothesis, Collection and interpretation of research evidence.

Below are given two sets — research methods (Set-I) and data collection tools (Set-II).
Match the two sets and indicate your answer by selecting the correct code :

Set -1 Set — I1
(Research Methods) (Data Collection Tools)

a.  Experimental method 1. Using primary and secondary sources
b.  Ex post-facto method ii.  Questionnaire
c.  Descriptive survey method iii.  Standardized tests
d.  Historical method iv.  Typical characteristic tests
Codes :

a b c d
(1) ii i i v
2) i v il i

G) i i i v
@ i ivodil i

The issue of ‘research ethics’ may be considered pertinent at which stage of research ?
(1) At the stage of problem formulation and its definition

(2) At the stage of defining the population of research

(3) At the stage of data collection and interpretation

(4) At the stage of reporting the findings.

In which of the following, reporting format is formally prescribed ?
(1) Doctoral level thesis (2) Conference of researchers
(3) Workshops and seminars (4) Symposia

The principal of a school conducts an interview session of teachers and students with a
view to explore the possibility of their enhanced participation in school programmes. This
endeavour may be related to which type of research ?

(1) Evaluation Research (2) Fundamental Research
(3) Action Research (4) Applied Research

In doing action research what is the usual sequence of steps ?

(1) Reflect, observe, plan, act (2) Plan, act, observe, reflect
(3) Plan, reflect, observe, act (4)  Act, observe, plan, reflect

14
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Read the following passage carefully and answer questions from 37 to 42 :

The last great war, which nearly shook the foundations of the modern world, had little
impact on Indian literature beyond aggravating the popular revulsion against violence and
adding to the growing disillusionment with the ‘humane pretensions’ of the Western World.
This was eloquently voiced in Tagore’s later poems and his last testament, Crisis in Civilisation.
The Indian intelligentsia was in a state of moral dilemma. On the one hand, it could not help
sympathising with England’s dogged courage in the hour of peril, with the Russians fighting
with their backs to the wall against the ruthless Nazi hordes, and with China groaning under the
heel of Japanese militarism; on the other hand, their own country was practically under military
occupation of their own soil, and an Indian army under Subhas Bose was trying from the
opposite camp to liberate their country. No creative impulse could issue from such confusion of
loyalties. One would imagine that the achievement of Indian independence in 1947, which came
in the wake of the Allies’ victory and was followed by the collapse of colonialism in the
neighbouring countries of South-East Asia, would have released an upsurge of creative energy.
No doubt it did, but unfortunately it was soon submerged in the great agony of partition, with its
inhuman slaughter of the innocents and the uprooting of millions of people from their homeland,
followed by the martyrdom of Mahatma Gandhi. These tragedies, along with Pakistan’s
invasion of Kashmir and its later atrocities in Bangladesh, did indeed provoke a poignant
writing, particularly in the languages of the regions most affected, Bengali, Hindi, Kashmiri,
Punjabi, Sindhi and Urdu. But poignant or passionate writing does not by itself make great
literature. What reserves of enthusiasm and confidence survived these disasters have been
mainly absorbed in the task of national reconstruction and economic development. Great
literature has always emerged out of chains of convulsions. Indian literature is richer today in
volume, range and variety than it ever was in the past.

Based on the passage answer the following questions from 37 to 42 :

37. What was the stance of Indian intelligentsia during the period of great war ?
(1) Indifference to Russia’s plight.
(2) They favoured Japanese militarism.
(3) They prompted creativity out of confused loyalties.
(4) They expressed sympathy for England’s dogged courage.

38. Identify the factor responsible for the submergence of creative energy in Indian literature.
(1) Military occupation of one’s own soil.
(2) Resistance to colonial occupation.
(3) Great agony of partition.
(4) Victory of Allies.

39. What was the aftermath that survived tragedies in Kashmir and Bangladesh ?
(1)  Suspicion of other countries (2) Continuance of rivalry
(3) Menace of war (4) National reconstruction

40. The passage has the message that
(1) Disasters are inevitable.
(2)  Great literature emerges out of chains of convulsions.
(3) Indian literature does not have a marked landscape.
(4) Literature has no relation with war and independence.

41. What was the impact of the last great war on Indian literature ?
(1) It had no impact.
(2) It aggravated popular revulsion against violence.
(3) It shook the foundations of literature.
(4) It offered eloquent support to the Western World.

42. What did Tagore articulate in his last testament ?
(1) Offered support to Subhas Bose.
(2) Exposed the humane pretensions of the Western World.
(3) Expressed loyalty to England.
(4) Encouraged the liberation of countries.
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The typical feature of an information-rich classroom lecture is in the nature of being
(1) Sedentary (2) Staggered
(3) Factual (4) Sectoral

Expressive communication is driven by
(1) Passive aggression

(2)  Encoder’s personality characteristics
(3) External clues

(4) Encoder-decoder contract

Positive classroom communication leads to
(1) Coercion (2) Submission

(3) Confrontation (4) Persuasion

Classroom communication is the basis of
(1)  Social identity

(2) External inanities

(3) Biased passivity

(4)  Group aggression

Effective communication pre-supposes
(1) Non-alignment (2) Domination

(3) Passivity (4)  Understanding

When verbal and non-verbal messages are contradictory, it is said that most people believe

in

(1) indeterminate messages (2) verbal messages

(3) non-verbal messages (4) aggressive messages
18
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49, IfAiscodedasC,MasI,NasP,SasO,Ias A,PasN, EasM, O as E and C as S, then
the code of COMPANIES will be

(1) SPEINMOAC (2) NCPSEIOMA
(3) SMOPIEACN (4) SEINCPAMO

50. Among the following, identify the continuous type of data :
(1) Number of languages a person speaks
(2) Number of children in a household
(3) Population of cities
(4) Weight of students in a class

51. Ali buys a glass, a pencil box and a cup and pays X 21 to the shopkeeper. Rakesh buys a
cup, two pencil boxes and a glass and pays ¥ 28 to the shopkeeper. Preeti buys two
glasses, a cup and two pencil boxes and pays I 35 to the shopkeeper. The cost of 10 cups

will be

(1) %40
2) %60
(3) %80
@ Z70

52. Out of four cities given below three are alike in some manner while the fourth one is
different. Identify the odd one

(1)  Lucknow

(2) Rishikesh
(3) Allahabad
(4) Patna

53. Given below are some characteristics of reasoning. Select the code that states a
characteristic which is not of deductive reasoning :

(1)  The conclusion must be based on observation and experiment.

(2) The conclusion should be supported by the premise/premises.

(3) The conclusion must follow from the premise/premises necessarily.
(4) The argument may be valid or invalid.

54. The missing term in the series 1, 4, 27, 16, ?, 36, 343, ... is
(1) 30 2) 49
3) 125 4) 81

55. The next term in the following series
YEB, WFD, UHG, SKI, _? will be
(1) TLO (2) QOL
(3) QLO 4 GQP

Y-00 20
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Among the following propositions two are related in such a way that they cannot both be
true but can both be false. Select the code that states those two propositions.

Propositions :

(a) Every student is attentive.

(b) Some students are attentive.

(c) Students are never attentive.

(d) Some students are not attentive.

Codes :
() (a) and (b) (2) (a)and (c)
(3) (b)and (¢) (4) (c)and (d)

Given below are two premises ((a) and (b)). From those two premises four conclusions (i),
(i1), (ii1) & (iv) are drawn. Select the code that states the conclusions validly drawn from
the premises (taking singly or jointly.)
Premises : (a) Untouchability is a curse.

(b) All hot pans are untouchable.
Conclusions : (i) All hot pans are curse.

(i1)) Some untouchable things are hot pans.

(iii)) All curses are untouchability.

(iv) Some curses are untouchability.

Codes :
(1) (@) and (ii) (2) (i1) and (iii)
(3) (i) and (iv) (4) (i) and (iv)

If the statement ‘None but the brave wins the race’ is false which of the following
statements can be claimed to be true ?

Select the correct code :

(1)  All brave persons win the race.

(2) Some persons who win the race are not brave.

(3) Some persons who win the race are brave.

(4) No person who wins the race is brave.

If two standard form categorical propositions with the same subject and predicate are
related in such a manner that if one is undetermined the other must be undetermined, what
is their relation ?

(1) Contrary (2) Subcontrary

(3) Contradictory (4) Sub-altern

Men and woman may have different reproductive strategies but neither can be considered
inferior or superior to the other, any more than a bird’s wings can be considered superior
or inferior to a fish’s fins. What type of argument it is ?

(1) Biological (2) Physiological

(3) Analogical (4) Hypothetical
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Note

Z-00

Paper — I

: o This paper contains Sixty (60) multiple-choice questions, each question carrying two (2) marks.

e (Candidate is expected to answer any Fifty (50) questions.
¢ In case more than Fifty (50) questions are attempted, only the first Fifty (50) questions will be
evaluated.

Assertion (A) : Sustainable development is critical to well being of human society.

Reason (R) : Environmentally sound policies do not harm the environment or deplete
the natural resources.

Choose the correct code :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(3) (A)istrue and (R) is false.

(4) (A)is false and (R) is true.

The dominant source of pollution due to oxides of nitrogen (NOy) in urban areas is

(1) road transport (2) commercial sector
(3) energy use in industry (4) power plants

Which of the following is not a water-brone disease ?
(1) Typhoid (2) Hepatitis
(3) Cholera (4) Dengue

Which of the following is a characteristic of Web2.0 applications ?
(1)  Multiple users schedule their time to use Web2.0 applications one by one.

(2) Web2.0 applications are focused on the ability for people to collaborate and share
information online.

(3) Web2.0 applications provide users with content rather than facilitating users to
create it.

(4)  Web2.0 applications use only static pages.

With regard to a word processing software, the process of combining static information in
a publication together with variable information in a data source to create one merged
publication is called

(1) Electronic mail (2) Data sourcing
(3) Mail merge (4) Spam mail

DVD technology uses an optical media to store the digital data. DVD is an acronym for
(1) Digital Vector Disc (2) Digital Volume Disc
(3) Digital Versatile Disc (4) Digital Visualization Disc

2
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Which of the following are the demerits of globalisation of higher education ?
(a) Exposure to global curriculum

(b) Promotion of elitism in education

(c) Commodification of higher education

(d) Increase in the cost of education

Select the correct answer from the codes given below :

Codes :
() (a)and (d) (2) (a),(c)and (d)
(3) (b),(c) and (d) 4) (a), (b), (c) and (d)

Which of the following statements are correct about deemed universities ?
(a) The Governor of the State is the chancellor of deemed universities.
(b) They can design their own syllabus and course work.

(c) They can frame their own guidelines regarding admission and fees.
(d) They can grant degrees.

Select the correct answer from the codes given below :

Codes :
() (a), (b) and (c) (2) (b),(c) and (d)
(3) (a),(c)and (d) 4) (a), (b), (c) and (d)

Indian government’s target for power production from small hydro projects by the year
2022 is

(1) 1 Giga-Watt (2) 5 Giga-Watt
(3) 10 Giga-Watt (4) 15 Giga-Watt

In which country, the recent international agreement on phasing out Hydro Fluoro
Carbons (HFCs) was signed ?

(1) Rwanda (2) Morocco
(3) South Africa (4) Algeria

Which of the following natural hazards is not hydro-meteorological ?
(1) Snow avalanche (2) Seaerosion

(3) Tropical cyclone (4) Tsunami
4
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Instead of holding the office during the pleasure of the President who among the following
hold(s) office during good behaviour ?

(a) Governor of a State (b) Attorney General of India

(c) Judges of the High Court (d) Administrator of a Union Territory
Select the correct answer from the codes given below :

Codes :

(1) (a)only (2)  (c)only

(3) (a)and (c) (4) (), (b), (c) and (d)

The purpose of value education is best served by focussing on
(1)  Cultural practices prevailing in the society.

(2) Norms of conduct laid down by a social group.

(3) Concern for human values.

(4) Religious and moral practices and instructions.

Which of the following statements are correct ?

(a) Rajya Sabha is a permanent House which can be dissolved only during national
emergency.

(b) Rajya Sabha does not represent the local interests of the States.

(c) Members of the Rajya Sabha are not bound to vote at the dictates of the states they
represent.

(d) No Union territory has a representative in the Rajya Sabha.

Select the correct answer from the codes given below :

Codes :
() (a)and (d) (2) (b)and (c)
(3) (b),(c) and (d) 4) (a), (b), (c) and (d)

Which of the following are not necessarily the immediate consequences of the
proclamation of the President’s Rule in a State ?

(a) Dissolution of the State Assembly.

(b) Removal of the Council of Ministers in the State.

(c) Takeover of the State administration by the Union Government.
(d) Appointment of a new Chief Secretary.

Select the correct answer from the codes given below :

Codes :
(I) (a)and (d) (2) (a), (b) and (¢)
(3) (a),(b), (c) and (d) (4) (b)and (c)
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16. In which teaching method learner’s participation is made optimal and proactive ?
(1) Discussion method (2) Buzz session method
(3) Brainstorming session method (4) Project method

17. One of the most powerful factors affecting teaching effectiveness is related to the
(1)  Social system of the country (2) Economic status of the society
(3) Prevailing political system (4) Educational system

18. Assertion (A) : Formative evaluation tends to accelerate the pace of learning.
Reason (R) : As against summative evaluation, formative evaluation is highly
reliable.
Choose the correct answer from the following code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.
(4) (A)is false, but (R) is true.

19. Which of the following set of statements represents acceptable propositions in respect of
teaching-learning relationships ? Choose the correct code to indicate your answer.
(i)  When students fail in a test, it is the teacher who fails.
(i) Every teaching must aim at ensuring learning.
(iii)) There can be teaching without learning taking place.
(iv) There can be no learning without teaching.
(v) A teacher teaches but learns also.
(vi) Real learning implies rote learning.

Codes :
(1) (1), (ii1), (iv) and (v) (2) (@), (i), (ii1) and (V)
(3) (ii), (iv), (v) and (vi) @) (@), (i), (v) and (vi)

20. Assertion (A) : Learning is a life long process.
Reason (R) : Learning to be useful must be linked with life processes.
Choose the correct answer from the following code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.
(4) (A)is false, but (R) is true.

21. Effectiveness of teaching has to be judged in terms of
(1) Course coverage
(2) Students’ interest
(3) Learning outcomes of students
(4) Use of teaching aids in the classroom

Z-00 8
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Below are given two sets — research methods (Set-I) and data collection tools (Set-II).
Match the two sets and indicate your answer by selecting the correct code :

Set -1 Set — I1
(Research Methods) (Data Collection Tools)

a.  Experimental method 1. Using primary and secondary sources
b.  Ex post-facto method ii.  Questionnaire
c.  Descriptive survey method iii.  Standardized tests
d.  Historical method iv.  Typical characteristic tests
Codes :

a b c d
(1) ii i i v
2) i v il i

G) i i i v
@ i ivodil i

The issue of ‘research ethics’ may be considered pertinent at which stage of research ?
(1) At the stage of problem formulation and its definition

(2) At the stage of defining the population of research

(3) At the stage of data collection and interpretation

(4) At the stage of reporting the findings.

In which of the following, reporting format is formally prescribed ?
(1) Doctoral level thesis (2) Conference of researchers
(3) Workshops and seminars (4) Symposia

The principal of a school conducts an interview session of teachers and students with a
view to explore the possibility of their enhanced participation in school programmes. This
endeavour may be related to which type of research ?

(1) Evaluation Research (2) Fundamental Research
(3) Action Research (4) Applied Research

In doing action research what is the usual sequence of steps ?

(1) Reflect, observe, plan, act (2) Plan, act, observe, reflect
(3) Plan, reflect, observe, act (4)  Act, observe, plan, reflect

Which sequence of research steps is logical in the list given below ?

(1) Problem formulation, Analysis, Development of Research design, Hypothesis
making, Collection of data, Arriving at generalizations and conclusions.

(2) Development of Research design, Hypothesis making, Problem formulation, Data
analysis, Arriving at conclusions and data collection.

(3) Problem formulation, Hypothesis making, Development of a Research design,
Collection of data, Data analysis and formulation of generalizations and conclusions.

(4) Problem formulation, Deciding about the sample and data collection tools,
Formulation of hypothesis, Collection and interpretation of research evidence.
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Read the following passage carefully and answer questions from 28 to 33 :

The last great war, which nearly shook the foundations of the modern world, had little
impact on Indian literature beyond aggravating the popular revulsion against violence and
adding to the growing disillusionment with the ‘humane pretensions’ of the Western World.
This was eloquently voiced in Tagore’s later poems and his last testament, Crisis in Civilisation.
The Indian intelligentsia was in a state of moral dilemma. On the one hand, it could not help
sympathising with England’s dogged courage in the hour of peril, with the Russians fighting
with their backs to the wall against the ruthless Nazi hordes, and with China groaning under the
heel of Japanese militarism; on the other hand, their own country was practically under military
occupation of their own soil, and an Indian army under Subhas Bose was trying from the
opposite camp to liberate their country. No creative impulse could issue from such confusion of
loyalties. One would imagine that the achievement of Indian independence in 1947, which came
in the wake of the Allies’ victory and was followed by the collapse of colonialism in the
neighbouring countries of South-East Asia, would have released an upsurge of creative energy.
No doubt it did, but unfortunately it was soon submerged in the great agony of partition, with its
inhuman slaughter of the innocents and the uprooting of millions of people from their homeland,
followed by the martyrdom of Mahatma Gandhi. These tragedies, along with Pakistan’s
invasion of Kashmir and its later atrocities in Bangladesh, did indeed provoke a poignant
writing, particularly in the languages of the regions most affected, Bengali, Hindi, Kashmiri,
Punjabi, Sindhi and Urdu. But poignant or passionate writing does not by itself make great
literature. What reserves of enthusiasm and confidence survived these disasters have been
mainly absorbed in the task of national reconstruction and economic development. Great
literature has always emerged out of chains of convulsions. Indian literature is richer today in
volume, range and variety than it ever was in the past.

Based on the passage answer the following questions from 28 to 33 :

28. Identify the factor responsible for the submergence of creative energy in Indian literature.
(1) Military occupation of one’s own soil.
(2) Resistance to colonial occupation.
(3) Great agony of partition.
(4) Victory of Allies.

29. What was the aftermath that survived tragedies in Kashmir and Bangladesh ?
(1)  Suspicion of other countries (2) Continuance of rivalry
(3) Menace of war (4) National reconstruction

30. The passage has the message that
(1) Disasters are inevitable.
(2)  Great literature emerges out of chains of convulsions.
(3) Indian literature does not have a marked landscape.
(4) Literature has no relation with war and independence.

31. What was the impact of the last great war on Indian literature ?
(1) It had no impact.
(2) It aggravated popular revulsion against violence.
(3) It shook the foundations of literature.
(4) It offered eloquent support to the Western World.

32. What did Tagore articulate in his last testament ?
(1) Offered support to Subhas Bose.
(2) Exposed the humane pretensions of the Western World.
(3) Expressed loyalty to England.
(4) Encouraged the liberation of countries.

33. What was the stance of Indian intelligentsia during the period of great war ?
(1) Indifference to Russia’s plight.
(2) They favoured Japanese militarism.
(3) They prompted creativity out of confused loyalties.
(4) They expressed sympathy for England’s dogged courage.

Z-00 12
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28. RAT Qe H GoHHS STl i Aled B dTel R Sl Ted B |
(1) 3T & &Rl o1 9= 3T | (2) 3TUHATTE T T R |
(3) TOISH ForEET ST o FAT | (4) T Ui @l fas

29, HYHN TAT AR bl AT T S U1 77 & 2

(1) T M T ORI (2) wfagFEar & R

(3) IFH GAA (4) L qAETT
30. TR T R () HTE 2

(1) SATUETT TEvawE! gt & |
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33. WS % 9HT AR Sl bt o/ 9 o ?
(1) 9 & AN % H % Ui STEE & |
(2) o SN A VAR H U H o |
(3) SR ATET e F YT i Seer & |
(4) SR ETE & gE-HTeH % Ui WETN ST |
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Expressive communication is driven by
(1) Passive aggression

(2) Encoder’s personality characteristics
(3) External clues

(4) Encoder-decoder contract

Positive classroom communication leads to
(1) Coercion (2) Submission

(3) Confrontation (4) Persuasion

Classroom communication is the basis of
(1)  Social identity

(2) External inanities

(3) Biased passivity

(4)  Group aggression

Effective communication pre-supposes
(1) Non-alignment (2) Domination

(3) Passivity (4)  Understanding

When verbal and non-verbal messages are contradictory, it is said that most people believe

in
(1) indeterminate messages (2) verbal messages
(3) non-verbal messages (4) aggressive messages

The typical feature of an information-rich classroom lecture is in the nature of being
(1) Sedentary (2) Staggered
(3) Factual (4) Sectoral
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Among the following, identify the continuous type of data :
(1)  Number of languages a person speaks

(2) Number of children in a household

(3) Population of cities

(4) Weight of students in a class

Ali buys a glass, a pencil box and a cup and pays T 21 to the shopkeeper. Rakesh buys a
cup, two pencil boxes and a glass and pays ¥ 28 to the shopkeeper. Preeti buys two
glasses, a cup and two pencil boxes and pays I 35 to the shopkeeper. The cost of 10 cups
will be

(1) 40
2) %60
(3) %80
@ z70

Out of four cities given below three are alike in some manner while the fourth one is
different. Identify the odd one

(1) Lucknow

(2) Rishikesh
(3) Allahabad
(4) Patna

Given below are some characteristics of reasoning. Select the code that states a
characteristic which is not of deductive reasoning :

(1)  The conclusion must be based on observation and experiment.

(2)  The conclusion should be supported by the premise/premises.

(3) The conclusion must follow from the premise/premises necessarily.

(4) The argument may be valid or invalid.

The missing term in the series 1, 4, 27, 16, ?, 36, 343, ... is
() 30 (2) 49
3) 125 4) 81

The next term in the following series
YEB, WFD, UHG, SKI, _? will be
(1) TLO (2) QOL
(3) QLO 4 GQp

IfAiscodedasC,MasI,NasP,SasO,Ias A,Pas N, EasM, O as E and C as S, then
the code of COMPANIES will be

(1) SPEINMOAC (2) NCPSEIOMA
(3) SMOPIEACN (4) SEINCPAMO
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Given below are two premises ((a) and (b)). From those two premises four conclusions (i),
(i), (iii) & (iv) are drawn. Select the code that states the conclusions validly drawn from
the premises (taking singly or jointly.)
Premises : (a) Untouchability is a curse.

(b) All hot pans are untouchable.
Conclusions : (i) All hot pans are curse.

(i1)) Some untouchable things are hot pans.

(i1i1)) All curses are untouchability.

(iv) Some curses are untouchability.

Codes :
(1) () and (i) (2) (i1) and (iii)
(3) (i) and (iv) (4) (1) and (iv)

If the statement ‘None but the brave wins the race’ is false which of the following
statements can be claimed to be true ?

Select the correct code :

(1)  All brave persons win the race.

(2) Some persons who win the race are not brave.
(3) Some persons who win the race are brave.

(4) No person who wins the race is brave.

If two standard form categorical propositions with the same subject and predicate are
related in such a manner that if one is undetermined the other must be undetermined, what
is their relation ?

(1) Contrary (2) Subcontrary

(3) Contradictory (4) Sub-altern

Men and woman may have different reproductive strategies but neither can be considered
inferior or superior to the other, any more than a bird’s wings can be considered superior
or inferior to a fish’s fins. What type of argument it is ?

(1) Biological (2) Physiological

(3) Analogical (4) Hypothetical

Among the following propositions two are related in such a way that they cannot both be
true but can both be false. Select the code that states those two propositions.

Propositions :

(a) Every student is attentive.

(b) Some students are attentive.

(c) Students are never attentive.

(d) Some students are not attentive.

Codes :
(I) (a)and (b) (2) (a)and (c)
(3) (b)and (¢) 4) (c)and (d)
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The table below embodies data on the sales revenue (¥ in lakh) generated by a
publishing house during the years 2012-15 while selling books, magazines and
journals as three categories of items. Answer questions 52 — 54 based on the data

contained in the table.

Sales Revenue (% in lakh)
Year—
2012 2013 2014 2015
Items |
Journals 46 47 45 44
Magazines 31 39 46 51
Books 73 77 78 78
Total

In 2015, approximately what percent of total revenue came from books ?

(1) 45%

2) 55%
3) 35%
4 25%

The number of years in which there was an increase in revenue from at least two

categories of items, is

(1) 0
@ 1
3 2
4 3

If the year 2016 were to show the same growth in terms of total sales revenue as the year

2015 over the year 2014, then the revenue in the year 2016 must be approximately :
(1) 194 lakh
(2) R 187 lakh
(3) %172 lakh
(4) % 177 lakh
20
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A University professor maintains data on MCA students tabulated by performance
and gender of the students. The data is kept on a computer hard disk, but accidently
some of it is lost because of a computer virus. Only the following could be
recovered :

Number of MCA Students
erformance
- Average | Good | Excellent | Total
Gender |
Male 10
Female 32
Total 30

Panic buttons were pressed but to no avail. An expert committee was formed, which
decided that the following facts were self evident :

(a) Half the students were either excellent or good.

(b) 40% of the students were females.

(c)  One-third of the male students were average.

Answer questions 55 — 57 based on the data given above :
How many female students are excellent ?

(1) 0 (2) 8

3) 16 4) 32

What proportion of female students are good ?

(1) O (2) 0.25

(3) 0.50 4) 0.75
Approximately, what proportion of good students are male ?
(1) 0 2) 0.73

(3) 043 4) 0.27

Which of the following statement(s) is/are TRUE ?

S1 : The decimal number 11 is larger than the hexadecimal number 11.

S2 : In the binary number 1110.101, the fractional part has the decimal value as 0.625.
(1) SI only (2) S2only

(3) Both S1 and S2 (4) Neither S1 nor S2

Read the following two statements :

I: Information and Communication Technology (ICT) is considered a subset of
Information Technology (IT).

II: The ‘right to use’ a piece of software is termed as copyright.

Which of the above statement(s) is/are CORRECT ?

(1) BothIandII (2) Neither I nor II

(3) Monly (4) Tonly

Which of the following correctly lists computer memory types from highest to lowest
speed ?

(1) Secondary Storage; Main Memory (RAM); Cache Memory; CPU Registers
(2) CPU Registers; Cache Memory; Secondary Storage; Main Memory (RAM)
(3) CPU Registers; Cache Memory; Main Memory (RAM); Secondary Storage
(4) Cache Memory; CPU Registers; Main Memory (RAM); Secondary Storage
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Question Answer Question Answer
1 3 31 1
2 3 32 4
3 2 33 2
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PAPER -1
Note : This paper consists of Fifty (50) objective type questions of Two (2) marks each. All
questions are compulsory. 50 Q x 2 M = 100 Marks
1.  Which of the following set of statements best represents the nature and objective of teaching

and learning ?
a) Teaching is like selling and learning is like buying.
b) Teaching is a social act while learning is a personal act.

(

(

(c) Teaching implies learning whereas learning does not imply teaching.

(d) Teaching is a kind of delivery of knowledge while learning is like receiving it.
(

e) Teaching is an interaction and is triadic in nature whereas learning is an active
engagement in a subject domain.

Code :
(1) (@) (d) and (e) (2)  (b), () and (e)
(3) (a) (b) and () 4)  (a) (b)and (d)

2. From the list given below identify the learner characteristics which would facilitate teaching-
learning system to become effective. Choose the correct code to indicate your answer.
(a) Prior experience of learner (b) Learner’s family lineage
(c) Aptitude of the learner (d) Learner’s stage of development
(e) Learner’s food habits and hobbies (f)  Learner’s religious affiliation
Code :

(1) (@), (c) and (d) (2)  (d), (e) and ()
(3)  (a) (d) and (e) 4)  (b), () and (f)

3.  Assertion (A) : All teaching implies learning.
Reason (R) : Learning to be useful must be derived from teaching.
Choose the correct answer from the following :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
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On the basis of summative tests, a teacher is interpreting his/her students, performance in
terms of their wellness life style evident in behaviour. This will be called :

(1) Formative testing (2) Continuous and comprehensive evaluation

(3) Norm - referenced testing (4)  Criterion - referenced testing

Which one of the following is a key behaviour in effective teaching ?

(1) Using student ideas and contribution

(2) Structuring
(38) Instructional variety
(4) Questioning

Which of the following research types focuses on ameliorating the prevailing situations ?
(1) Fundamental Research (2) Applied Research
(3) Action Research (4) Experimental Research

A researcher attempts to evaluate the effect of method of feeding on anxiety - proneness of
children. Which method of research would be appropriate for this ?

(1) Case study method (2) Experimental method
(3) Ex-post-facto method (4) Survey method

In which of the following arrangements a wider spectrum of ideas and issues may be made
possible ?

(1) Research Article (2) Workshop mode
(3) Conference (4) Symposium

In finalizing a thesis writing format which of the following would form part of supplementary
pages ?

(1) List of tables and figures (2) Table of contents

(8) Conclusions of the study (4) Bibliography and Appendices

Which of the following is susceptible to the issue of research ethics ?
(1) Inaccurate application of statistical techniques

(2) Faulty research design

(8) Choice of sampling techniques

(4)

Reporting of research findings

=
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Read the passage carefully and answer question numbers from 11 to 15.

Climate change is considered to be one of the most serious threats to sustainable development,
with adverse impacts on the environment, human health, food security, economic activity, natural
resources and physical infrastructure. Global climate varies naturally. According to the Inter-
governmental Panel on Climate Change (IPCC), the effects of climate change have already been
observed, and scientific findings indicate that precautionary and prompt action is necessary.
Vulnerability to climate change is not just a function of geography or dependence on natural
resources; it also has social, economic and political dimensions which influence how climate change
affects different groups. Poor people rarely have insurance to cover loss of property due to natural
calamities i.e. drought, floods, super cyclones etc. The poor communities are already struggling to
cope with the existing challenges of poverty and climate variability and climate change could push
many beyond their ability to cope or even survive. It is vital that these communities are helped to
adapt to the changing dynamics of nature. Adaptation is a process through which societies make
themselves better able to cope with an uncertain future. Adapting to climate change entails taking
the right measures to reduce the negative effects of climate change (or exploit the positive ones) by
making the appropriate adjustments and changes. These range from technological options such
as increased sea defences or flood - proof houses on stilts to behavioural change at the individual
level, such as reducing water use in times of drought. Other strategies include early warning
systems for extreme events, better water management, improved risk management, various
insurance options and biodiversity conservation. Because of the speed at which climate change is
happening due to global temperature rise, it is urgent that the vulnerability of developing countries
to climate change is reduced and their capacity to adapt is increased and national adaptation
plans are implemented. Adapting to climate change will entail adjustments and changes at every
level from community to national and international. Communities must build their resilience,
including adopting appropriate technologies while making the most of traditional knowledge,
and diversifying their livelihoods to cope with current and future climate stress. Local coping
strategies and knowledge need to be used in synergy with government and local interventions.
The need of adaptation interventions depends on national circumstances. There is a large body of
knowledge and experience within local communities on coping with climatic variability and extreme
weather events. Local communities have always aimed to adapt to variations in their climate. To
do so, they have made preparations based on their resources and their knowledge accumulated
through experience of past weather patterns. This includes times when they have also been forced
to react to and recover from extreme events, such as floods, drought and hurricanes. Local coping
strategies are an important element of planning for adaptation. Climate change is leading
communities to experience climatic extremes more frequently, as well as new climate conditions
and extremes. Traditional knowledge can help to provide efficient, appropriate and time - tested
ways of advising and enabling adaptation to climate change in communities who are feeling the

effects of climate changes due to global warming.
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11. Given below are the factors of vulnerability of poor people to climate change. Select the code
that contains the correct answer.

(a

)  Their dependence on natural resources
(b) Geographical attributes

(c) Lack of financial resources

(d) Lack of traditional knowledge

Code :
(1) (a), (b) and (c) (2)  (b), () and (d)
(3) (a), (b), (c) and (d) (4)  (c) only

12. Adaptation as a process enables societies to cope with :

(a
(b

)  An uncertain future

) Adjustments and changes

(c) Negative impact of climate change

(d) Positive impact of climate change

Select the most appropriate answer from the following code :
1) (@), O), (© and (d) (2) () and ()

(3) () (0 and (d) (4) (0 only

13. To address the challenge of climate change, developing countries urgently require :
(1) Imposition of climate change tax
(2) Implementation of national adaptation policy at their level
(3) Adoption of short-term plans
(4) Adoption of technological solutions
14. The traditional knowledge should be used through :
(1) Its dissemination
(2) Improvement in national circumstances
(3) Synergy between government and local interventions
(4)

Modern technology
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1 Stetarg g & afd e safaadl ot dear & wRe fou T E | TE W ael He v 99T B
(a) TeRfder FETEAT T et FiRar

(b)  siifers Hro

(c) Torita damemi =0t et

(d) URURER A T A9

(a), (b) 3R (o) (2)  (b), (c) ¥R (d)
(a), (b), (c) ¥R (d) 4) b (o)

3The T Uiehal & ®9 | THwSI &1 fefafed § & fraes e gmse fagm o gmef s@m § 2
(a) SAMTed vfas

(b) FHSE iR gfREd

(c) oAy Rerd 1 ThRRIHS THE

(d) <oy qReER 1 GRS THE

frefafed Te o 9 Faifis ST Sl =TT h

(1) (@), (), (©) 3R (d) 2 (a) 3R ()

(3) (b), (¢) 3 (q) 4 &5 (9

Serary, gieds st g § fued & fore fasmstiar T 1 srermeavas w9 9 frefafed § 9
HT HY T 72

(1) Sierary gferd s T

2) ST TR W UCH STher HIfd hl HrEaa

(2)
(3)  STTUEfY FASHIT STUHI
(4)

4)  GrENRTRE GHIE ST

IRAReE JE 1 I9AM Fefafad § 9 foraes mream § fovan St =nfee ?
(1) 39 JaIR-TER g

(2) T aRfufaEl 9 gur ga

(3) R R T TEaarl o o= daremd 9

(4) T dreifient g
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15. The main focus of the passage is on :
(1) Combining traditional knowledge with appropriate technology
(2) Co-ordination between regional and national efforts
(3) Adaptation to climate change
(4) Social dimensions of climate change
16. The interaction between a teacher and students creates a zone of proximal :
(1) Difference (2) Confusion
(3) Development (4) Distortion
17. The spatial audio reproduction in a classroom can reduce the students’ :
(1) Cognitive load in understanding
(2) Respect for the teacher
(3) Motivation for excellence
(4) Interest in technology - orientation
18. The classroom communication should essentially be :
(1) Contrived (2) Empathetic (3) Abstract (4) Non-descriptive
19. A good communicator begins his/her presentation with a :
(1) Complex question (2) Non-sequitur
(3) Repetitive phrase (4) Ice-breaker
20. In a classroom, the probability of message reception can be enhanced by :
(1) Establishing a viewpoint
(2) Exposing the ignorance of students
(3) Increasing the information load
(4) Using high decibel audio tools
21. In the series 1, 6, 15, 28, 45, ............ the next term will be :
(1) o6 (2) 76 (3) 56 (4) 84
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15. 39 TS 1 Hehfeh fag ® -
(1) URURE I 1 T SRt & e S

(2) & SR U T & Se 9

(3) Soreng ufterdd % gfd STk

(4) SraTg 9RE o AT ST

16. fonerw iR faenfofai o sfie ER Garg ey S 1 Fefor e B
1) &H®X (2) vH
(3) forprw 4) fopfa

17. st e & Tenfeh g T30 &1 owig 9 famnfei o1 frefafead 8 & 9o w2 e &/ 9 ¢ 2
(1) <" H AR 9
(2) Taeeni o fa e

(3) Ikl < fd GO

(4) iRt - stfufeama § &

18. el § Harg e ®9 ¥ B =IfeT
(1) redrh (2) g (3) e (4) R-foerRomesh

19. U A9 FHYSH T Fecienol frfefad § 9 fhad ¥& wa €2
(1) Sifead g (2) Al
(3) Y TeE (4) g

20. TRd Fen § Hag TR0 &t GHEd &1 FAfafad § 9 fha sgr S dehdr § 2
(1) it Tefid ik

(2) fomnfa=i st ARl IR e

3) =M 9N H gfg ek

(4) I SfTdA h g TR T YA Lk

21. S@a 1, 6,15, 28, 45, .......... B STl & Bl ¢
66 2) 76 3) 56 (4) 84

1) 2)
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22. The next term in the series ABD, DGK, HMS, MTSB, .......... is :
(1) NSA (2) SBL (3) PSK (4) RUH

23. In certain code, “COVALENT” is coded as BWPDUOFM. The code of “ELEPHANT” will
be :
(1) MFUIQRTW (20 QMUBIADH
(3) QFMFUOBI (4) EPHNTEAS

24. Ajay is a friend of Rakesh. Pointing to an old man Ajay asked Rakesh who is he ? Rakesh
said “His son is my son’s uncle”. The old man is related to Rakesh as :
(1) Grandfather (2) Father-in-law
(3) Father (4) Uncle

25. A postman walked 20 m straight from his office, turned right and walked 10 m. After
turning left he walked 10 m and after turning right walked 20 m. He again turned right and
walked 70 m. How far he is from his office ?
(1) 50 m. (2) 40 m. (3) 60 m. 4) 20 m.

26. It is Truism to say that no one was there when life first appeared on earth. Any assertion
about life’s origin, thus, should be treated as a theory.
The above two statements constitute :
(1) A historical explanation (2) A narrative
(3) An argument (4) A conjecture

27. Given below are four statements. Among them two are related in such a way that they can both
be true but they cannot both be false. Select the code that indicates those two statements :
Statements :
(a) Honest people never suffer.
(b) Almost all honest people do suffer.
(c) Honest people hardly suffer.
(d) Each and every honest person suffers.
Code :
1) @and() (2 @and( (3 @and(d) (@) (5 and ()
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26.
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sfgell ABD, DGK, HMS, MTSB, ......... T SFTeT UT ¥
(1) NSA (2) SBL (3) PSK (4) RUH

et e H “COVALENT” &l % BWPDUOFM T 1 “ELEPHANT” %1 %< &I :
(1) MFUIQRTW (2) QMUBIADH
(3) QFMFUOBI (4) EPHNTEAS

TS, ThIT 1 ST 8| T ol STGHT i 3R TR T U 3T 3 AW § Y27 foh a8 & 72
THY F HEl ' IHHT A2, WA H A= g1 g Ao 3R TR o o FrAfafed fear g

(1) ST (=rel) (2) THI-SA-dl (TR)
(3) e (far) (4) e (=T

T SIfeRT 79 HETe™ 9 e 20 Hie Jel, SO SIfeT R GEahs 10 Hiet Jar | et 3R gg &
IS 9% 10 HieX Fel iR fert 3R g & 915 20 HeX 9a | 38 i & Tifet 3iR get iR 70 Hiex
T | I 7Y e I forat g WR?

(1) 50 Hi&X (2) 40 HiX (3) 60 Hi&X (4) 20 "X

I el Ush U G © T S7a1 geat R qdgem Sfiie o1 Sgd g37 dal ael hIg el 11 39 JHhK,
Site & 3g9a & ey H foret ot sifepem =1 fagia wmn S =nfe |

ST SHT e faftda @ €
(1) T Ufeiiass =ame 2) TH A
(3) T Th (4) TH 3EHd

T9 9R weH feu e E ) S 9 S o0e | 39 e U Hefd € 6 3 S T € ek € Weg o S
3T 7S 81 Hehdl | 39 e 1 AT L Sl S QM1 R bl ST HIAT §

a) SAMGR =Afa weff Fee T Jew ¥ |

(
(b) TN Gt MR AT F FeAd ¢ |
(
(

c) THMGR AfH WHE & F e ¢ |

d) U THMCR SAfad e Serdl € |

(a) R (b) ) (a) 3 (o) (3) (a) ¥R (d) (4)  (b) 3R (o)
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28. A deductive argument is invalid if :
(1) Its premises and conclusion are all true.
(2) Its premises and conclusion are all false.
(3) Its premises are all false but its conclusion is true.

(4) Its premises are all true but its conclusion is false.

29. Given below are two premises (a and b). From those two premises four conclusions (i), (ii),
(iii) and (iv) are drawn. Select the code that states the conclusion/conclusions drawn validly
(taking the premises singularly or jointly).

Premises : (a) All bats are mammals.
(b) No birds are bats.
Conclusions : (i) No birds are mammals.
(i) Some birds are not mammals.
(i) No bats are birds.

(iv) All mammals are bats.

Code :
(1) (@) only (2) (@) and (ii) only
(3)  (iii) only (4) (iii) and (iv) only

30. Just as melting ice - cubes do not cause a glass of water to overflow, melting sea - ice does not
increase oceanic volume.

What type of argument is it ?

(1) Analogical (2) Hypothetical
(3)  Psychological (4) Statistical
woo [ {INTANNOO A+
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30.

T AT aeh s § 9fe
(1) 39 SMER 1R 3R Frewed |eft ot 2 |
SHh YR I TR Ty gt et &

(2)
(3) TTHh Gt SMHR AT TTeTd B W] SHhT F5hY Tal 2 |
(4)

4) THE Wl YR a1 Wl B T 39eh! =Y TTerd B |

1 < SR 1R (a 3R b) AU TR | 37 1 e arerdi § 9w sk (i), (i), (iii) 3R (iv) e T
T 139 e 1 T L Sl YHIOIe T H fehTel T (STER AR 1 oTehel 19aT HYe €9 9 old gU)
et / et o1 goTtan § |

AMUR AR :  (a) Tt TATES TAIRR B4 )
(b) IE i geft =HeS e B ¢ |
() g Tl TRl e e B
(i) TS el TR T e €
(iii) IS TEMEE Ul T BT T
(iv) T TR SHES B ©
ETE

1 (i) (2) Fad (i) 3R (i)

(1) whaa
(3) HaA (iii) (4)  FaA (iii) 3R (iv)

S8 firema # 9tk & fueerd Wel 9 fema &1 S99 SR E Sl SH YR feed g wg
feqeie ¥ 9Yg 1 T T sedl 2

g fre=fafad § 9 79 9ohR &1 deh © ?
(1) HIGTIqTh (2) UNERTIATHSR
LEIEEIEED (4) wifersEa

(3)
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Answer the questions 31 to 35 based on the data given in the table below.

Table : Number of registered vehicles in India and India’s population.

Total Two Cars, Jeeps, Goods Population
. . Buses . Others )
Year | vehicles wheelers Taxis (Lakhs) vehicles (Lakhs) (India)
akhs akhs

(Lakhs) (Lakhs) (Lakhs) (Lakhs) (Millions)
1961 6.65 0.88 3.1 0.57 1.68 0.42 439.23
1971 18.65 5.76 6.82 0.94 3.43 1.70 548.15
1981 53.91 26.18 11.60 1.62 5.54 8.97 683.32
1991 213.74 142.00 29.54 3.31 13.56 25.33 846.42
2001 549.91 385.56 70.58 6.34 29.48 57.95 1028.73
2011 1417.58 1018.65 191.23 16.04 70.64 121.02 1210.19

31. The maximum decadal growth in population of India is registered in the period :

(1) 1961-1971  (2) 1991 -2001  (3) 2001 -2011  (4) 1981 - 1991

32. In which year the decadal growth (%) in number of cars surpassed that of the two
wheelers ?
(1) 1991 (2) 2001 (3) 1981 (4) 2011
33. What was the average decadal growth in the number of cars during 1961 - 2011 ?
(1) ~131% (2) ~68% B) ~217% 4) ~157%
34. Inthe year 2001, out of total number of vehicles, the number of passenger vehicles (4 wheelers)
accounted for :
(1) ~14% (2) ~24% 3) ~31% (4) ~43%
35. What was the per capita ownership of two wheelers in India in the year 2011 ?
(1) ~ 0.084% (2) ~ 0.0084% (3) ~ 0.84% 4) ~ 0.068%
36. What is the name for a webpage address ?
(1) Domain (2) Directory (3)  Protocol (4) URL
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Trfeafiaa arferent ¥ fou U etfemsl & MR W 9 31 § 35 _T ST S |

AT : WA  USHehd aTel sht WEAT 3 U it THET

- % 9| gURA AR | R, S, 6 | " ART | ST | YRA i SHEE
(@) () I (qm@) | (FmE) | (a) | (TRE) (Taferar)
1961 6.65 0.88 3.1 0.57 1.68 0.42 439.23
1971 18.65 5.76 6.82 0.94 3.43 1.70 548.15
1981 53.91 26.18 11.60 1.62 5.54 8.97 683.32
1991 | 213.74 142.00 29.54 3.31 13.56 25.33 846.42
2001 | 549.91 385.56 70.58 6.34 29.48 57.95 1028.73
2011 | 1417.58 1018.65 191.23 16.04 70.64 121.02 1210.19
31. fr=fafed ¥ 4 forg oo & A YR &t SHgEn § gaifus gfg oo & T 2
(1) 1961-1971  (2) 1991-2001  (3) 2001 -2011  (4) 1981 - 1991
32. Tord o H R sl HeA H g8 TR Ihg (%), JUMEY & i G H g3 SIh1A gfG (%) hl TR
TE?
(1) 1991 2) 2001 (3) 1981 4) 2011
33. o9 1961 - 2011 % SRH HRI FI F&N § ad wig gig fra @ 2
1) ~131% 2) ~ 68% 3) ~217% 4)  ~157%
34. ¥ 2001 H, IRl i ol G@A | G AN el (Frafed areAl) i HeA F giaw a9 o ?
1) ~ 14% Q) ~ 24% (3) ~31% 4) ~ 43%
35. @4 2011 § WRd § gufean areAi i ufd safert wanfied fohdan o ?
(1) ~ 0.084% (2) ~ 0.0084% 3) ~ 0.84% (4)  ~ 0.068%
36. A9-Y3 Ud (TSH) & ford s g 2
1) <SrA (2) eEREd (3) Ui (4) I AXTQ.
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37. The data storage hierarchy consists of :
(1) Bytes, bits, fields, records, files and databases
(2) Bits, bytes, fields, records, files and databases
(38)  Bits, bytes, records, fields, files and databases
(4) Bits, bytes, fields, files, records and databases
38. Which of the following domains is used for - profit businesses ?
(1) .org (2) .net (3) .edu (4) .com
39. What is the full form of USB as used in computer related activities ?
(1)  Ultra Security Block (2)  Universal Security Block
(3)  Universal Serial Bus (4)  United Serial Bus
40. Which of the following represents billion characters ?
(1) Terabytes (2) Megabytes
(38) Kilobytes (4) Gigabytes
41. Which of the following pollutants is the major cause of respiratory diseases ?
(1) Suspended fine particles (2) Nitrogen oxides
(3) Carbon monoxide (4) Volatile organic compounds
42. Assertion (A) : In urban areas, smog episodes occur frequently in winters.
Reason (R) : In winters, a lot of biomass is burnt by people for heating purposes or to
keep themselves warm.
Choose the correct answer from the code given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true and (R) is false
(4) Both (A) and (R) are false
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Tl HerU & A § i ©
(1) ey, faeh, wieew, ey, wEd a1 SREyS

2) foew, sy, wieey, Rerey, wEd o1 SREES
3) fozH, wr3ew, Ry, wiegd, wiEd 791 SEEEs
(4)

foreq, d1Eed, HiceH, HEd, RHEH qo1 SReyS

frrefefad Sl | fRd STyt SATIR &g w4 fohan Siran § 2

(1) .30 em st 2 TWIAF) (B) FTAI(EL) (@) HNTwE(FM)

FIR Y Frefod S § FAN g 9, TH S, 1 G0 9 S ?
(1) st fafEr s (2) Fieda feEr s
(3) Fiadd HifTa a9 4) TS Hifwd |

Frafafad § 9 F-91 T o1 (fafeam) e yefiid a8 2
(1) e (2) e
3) fwcirarged (4) hTeTEeH

frefafead § ¥ SHH-91 Ygush Ya8=-a9 9 eI i@l 1 T5E FR § ?
(1) focifaa gaa wa (2) TEINH RS
(3) e HHISATFES (4) STmRAA FHEfH AR

afireRer (A) :  IRA & B, SIS & ol § SToRR Uil ot FeAd "fed 2l € |

e (R) S o Hreq B o T A & g W A = T e & fan o2 men i
S-Gafd (STEHE) i ST © |

= QU 7T Fe # ¥ T IW 1 =TT DI

(1) (A) 3 (R) < &l € &R (R), (A) T T <A T
2) (A) 3R (R) S W& § WA (R), (A) T T A0 7L T
(3) (A) W& 3R (R) T B

4) (A) 3R (R) S TTerd €1
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43. Occurrence of natural hazards is affected by :
(a) Land use changes (b) Drainage and construction
() Ozone depletion (d) Climate change
Choose the correct answer from the code given below :
(1) (@), (© and (d) 2) (@), (b)and (©)
(3) (@), (b)and () (4) (), () and (d)
44. Which of the following pollutant gases is not produced both naturally and as a result of
industrial activity ?
(1)  Chlorofluoro carbons (2) Nitrous oxide
(3) Methane (4) Carbon dioxide
45. Among the following fuels of energy, which is the most environment friendly ?
(1) Ethanol (2) Biogas (3) CNG (4) Hydrogen
46. Which of the following are the goals of higher education in India ?
(a) Access
(b) Equity
(¢) Quality and Excellence
(d) Relevance
(e) Value based education
(f) Compulsory and free education
Select the correct answer from the code given below :
(1) (@), (b) and (¢) only (2) (@), (), (@) and (9
() @), 0), ©) (d and (¢) @ @), 0), © () (@ and (©
47. Which of the following has been ranked the best college in the country (2017) as per the
National Institutional Ranking Framework (NIRF) ?
(1) Miranda House, Delhi (2) St. Stephen’s College, Delhi
(3) Fergusson College, Pune (4) Maharaja’s College, Mysore
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43.

44.

45.

46.

47.

Yrehfder amaerstl & sfed B o frefafad o g gear @ ¢

(a) ofF - 3ITEM ¥ 9REdq (b) < e AR fafo
(c) TSI | VS NEIRIECTE

= ST T e & 9 &I IW A1 =TT FHINT

D) (@ (© R @ @ (@) (b) ¥R ()
(3) (a), (b) ¥ (d) 4)  (b), (0) 3 (q)

frefafed § § - ygws 19 Uik €9 9 iR sTEifier fafafy & aRomess 1 9 3a=
& Bl 7 2

(1)  FAUFL HTei (2) TTELH sHfEE

(3) Hem (4) e SESTHRES

frefafed e Somi § HiFA-91 S TR & foe ged o € 2
1) T (2) wEH 3) wEAS (4) TESSH

IRA H 3= fren & oieg frefafea A 9 A 4 €2
(a) AT

(b) E=

(c) o1 T TR

(d) IrEfTeRdr

(e) WA A e

(f) e @ gu fen

1 fu 7T e § § wE W T ¢

(1) 9 (a), (b) 3R () 2 (), (), (o) 3R ()

(3) (@), (b), (0), (d) ¥R (e) @) @), ®), (@), () () &R (f)

TS Tieeieh Joertor e (TH.31E. IR UE. ) & 3R frfefad o § ford 2w o, Te9s wics
(2017) =T T HTw G311 2

(1) Toier gRy, food (2) U EEH Hiad, food

(3) HIEA shiets, IO (4) TRRIST FR, T

wooo [[INNNMNNARIAN. =



48. Which of the following universities has received the Visitor's Award for the best Central
University in India in Feb. 2017 ?

(1) Jawaharlal Nehru University (2) Banaras Hindu University
(3) Tezpur University (4)  University of Hyderabad

49. Who among the following can be removed by the President without Parliament’s
resolution ?

(1) Judge of a High Court (2) Governor of a State

(3) Chief Election Commissioner (4) Comptroller and Auditor - General

50. Which of the following come(s) within the ambit of the term ‘corruption’ ?
(a) Misuse of official position

(b) Deviation from rules, laws and norms

(c) Non-action when action is required

(

d) Harm to public good

Select the correct answer from the code given below :

(1) (a) only (2) (a) and (b) only
(3) (@), (b) and (d) 4) (@), (b), (c) and (d)
-o00o0-
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48. fr=fafaa favafaememl & 9 fF9 ®E’t 2017 # w69< d=a favafaeme™ & fau s
(fafseX) =1 qTEhr 9w gafl ?
(1) SfeTetere &% oo™ 2) R fexg fovafemmem
() auqY fovefarmem 4) TER fovafamme
49. Trfafed § 9 fFfd Hug & Wiehd Y& o o1 Tgufd gR1 g S 9ehdl § 2
(1) T AT h1 =T (2) TSF w1 T
(3) H=A g9 (4) fraw IR HecEn Thes
50. frefafed § & sH-91‘ R’ ves #t aRkfy § o § 2
(a) TR IS I GEIAN
(b) 7o, A IR Al § fome
() T AT SATIH B A HRATS 7 HE
(d) e Hufd &l A
= foU T e § | WE W A -
(1) F (a) (2) A (a) A (b)
() (@), (b) ¥ (d) (4) (@), (), () ¥R (d)
o0o
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Note :

PAPER -1

This paper consists of Fifty (50) objective type questions of Two (2) marks each. All
questions are compulsory.

50 Q x 2 M = 100 Marks

Answer the questions 1 to 5 based on the data given in the table below.

Table : Number of registered vehicles in India and India’s population.

Total Two Cars, Jeeps, Goods Population
. ) Buses . Others i
Year | vehicles wheelers Taxis (Lakhs) vehicles (Lakhs) (India)
akhs akhs

(Lakhs) (Lakhs) (Lakhs) (Lakhs) (Millions)
1961 6.65 0.88 3.1 0.57 1.68 0.42 439.23
1971 18.65 5.76 6.82 0.94 3.43 1.70 548.15
1981 53.91 26.18 11.60 1.62 5.54 8.97 683.32
1991 213.74 142.00 29.54 3.31 13.56 25.33 846.42
2001 549.91 385.56 70.58 6.34 29.48 57.95 1028.73
2011 1417.58 1018.65 191.23 16.04 70.64 121.02 1210.19

1.  What was the per capita ownership of two wheelers in India in the year 2011 ?
(3) ~ 0.068%

1)

~ 0.0084 %

(2)

~ 0.84%

(4) ~0.084%

2. What was the average decadal growth in the number of cars during 1961 - 2011 ?

1) ~68% Q) ~217% (B) ~157% 4) ~131%

In the year 2001, out of total number of vehicles, the number of passenger vehicles (4 wheelers)
accounted for :

1) ~24% Q) ~31% (3) ~43% 4)  ~14%

The maximum decadal growth in population of India is registered in the period :
(1) 1991 - 2001 (2) 2001 - 2011 (3) 1981 - 1991 (4) 1961 - 1971

In which year the decadal growth (%) in number of cars surpassed that of the two
wheelers ?

(1) 2001 2) 1981 (3) 2011 (4) 1991
wooo [ [JARRITHARN ORI
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WT-Ua -1

e U U H Ue (50) - fashedd U9 €1 U U % a (2) 3 €1 |l we e €
50 U9 x 2 3k = 100 Ak

Frfefiaa arferent # fou U 2Tehsl & SMUR W UPT 1 A5 SIS S |
AT : URA  USHehd Tl sht WEAT 3R U it THET

- Tl g | gUEA R | WK, S, o | A e | " | 9Rd i SHEE
() (eme) (M) | (FmE) | (Tm) (=) (Tafer=r)
1961 6.65 0.88 3.1 0.57 1.68 0.42 439.23
1971 18.65 5.76 6.82 0.94 3.43 1.70 548.15
1981 53.91 26.18 11.60 1.62 5.54 8.97 683.32
1991 | 213.74 142.00 29.54 3.31 13.56 25.33 846.42
2001 | 549.91 385.56 70.58 6.34 29.48 57.95 1028.73
2011 [1417.58 1018.65 191.23 16.04 70.64 121.02 1210.19
1. =9 2011 § XA § gufean areAi sl ufd saferd Tt fohdan o ?
(1) ~ 0.0084% ) ~0.84% (3) ~ 0.068% (4)  ~0.084%
2. a9 1961 - 2011 % IR R & G | 3iwd g gfg fhaet @ 2
1) ~ 68% Q) ~217% 3) ~157% (4) ~131%

3. 942001 ¥, d1&l bl ol H& H § AN MRl (Fafedn argi) st HEeA o1 giaeid @4 o ?

(1) ~ 24% 2) ~31% 3) ~ 43% 4) ~14%
4. Trafafea § 9 foeg <o & SRA 9RA &1 SHEen § gaitis gig o & T8 2
(1) 1991 - 2001 (2) 2001 - 2011 (3) 1981 - 1991 (4) 1961 - 1971

5. form o H &Rl it & | g8 <9t 9ig (%), 3T drei i S H g8 TUh Ifg (%) T I
TE ?
2001 2

(1) ) 1981 (3) 2011 4) 1991
wooo | |[FHRIVRURLAICRT
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10.

wooo J{RIRTIMERAE

The next term in the series ABD, DGK, HMS, MTHB, .......... is :
(1) SBL (2) PSK (3) RUH (4) NSA

Given below are four statements. Among them two are related in such a way that they can
both be true but they cannot both be false. Select the code that indicates those two
statements :

Statements :

(a) Honest people never suffer.

(b) Almost all honest people do suffer.

(c) Honest people hardly suffer.

(d) Each and every honest person suffers.

Code :

1) @and(© () @and(d) (3 (and(© (@) (a)and (b)

In a classroom, the probability of message reception can be enhanced by :

(1) Exposing the ignorance of students
(2) Increasing the information load

(3) Using high decibel audio tools

(4) Establishing a viewpoint

It is Truism to say that no one was there when life first appeared on earth. Any assertion
about life’s origin, thus, should be treated as a theory.

The above two statements constitute :
(1) A narrative (2) An argument

(3) A conjecture (4) A historical explanation

The spatial audio reproduction in a classroom can reduce the students’ :

(1) Respect for the teacher

(2) Motivation for excellence

(3) Interest in technology - orientation
(4) Cognitive load in understanding

=



10.

wooo [ ALENIRNEINATRA

sfgell ABD, DGK, HMS, MTSB, ......... T SFTeT UT ¥
(1) SBL (2) PSK 3) RUH (4) NSA

T =R FyF feu T ¥ T A S oay H 39 ae 9 Hefd € R 9 S 9 @ wehd € g J <
3T & B Wehdl | ST He T I L 91 37 ST HUET BT AT HAT E

(a) THMER =Afa Hff Fe & Jerd ¥

(b) TN G SHMRR AT F% eld & |
() SHMRR =Afa S & F Feid & |
(

d) U THMCR SAfad e Serdl € |

(1) (a) &R (o) 2) (a) ¥R (d) (3) (b) ¥R (o) 4) (a) &R (b)

gt e H Harg U St Hureaar 1 fefafed § 4 fred sean s gt § 2
(1) fornfeai st sAfugar SR e

(2) g R H i wh

(3) A SfHda % g IR I YA ik

(4) gfteenmon wonfid wYh

IE e Teh WM 9 § o 59 geat R ey o o1 3g9d gol a9 a8l &8 Tel o1 39 YK,
Sie o 39 o Gag H fopelt ot sifepe w1 fagia a1 S =t |

ST gt e fafda % € -
(1) T& I&H (2) TH Th
3) TH 3FFHd (4) U Ufqeifaes samen

ot et ® Tenfen 97 Y. Tfa 1 aore ¥ farenfefai o frfafad o & o1 w12 9okt &/ Tehdt €2
(1) Tl & fa see

(2) SR W a9

(3) iRt - sAfufomama § &

(4) g H IAHR 9

6]
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11.

12.

13.

14.

15.

16.

17.

wooo J{RIRTIMERAE

A deductive argument is invalid if :

(1) Its premises and conclusion are all false.

(2) Its premises are all false but its conclusion is true.

(3) Its premises are all true but its conclusion is false.

(4) Its premises and conclusion are all true.

A good communicator begins his/her presentation with a :

(1) Non-sequitur (2) Repetitive phrase
(3) Ice-breaker (4) Complex question

In certain code, “COVALENT” is coded as BWPDUOFM. The code of “ELEPHANT” will
be :

(1) QMUBIADH (2) QFMFUOBI
(3) EPHNTEAS (4) MFUIQRTW
In the series 1, 6, 15, 28, 45, ............ the next term will be :
(1) 76 (2) 56 (3) 84 4) 66

Ajay is a friend of Rakesh. Pointing to an old man Ajay asked Rakesh who is he ? Rakesh
said “His son is my son’s uncle”. The old man is related to Rakesh as :

(1) Father-in-law (2) Father
(3) Uncle (4) Grandfather

The interaction between a teacher and students creates a zone of proximal :
(1) Confusion (2) Development
(3) Distortion (4) Difference

Given below are two premises (a and b). From those two premises four conclusions (i), (ii),
(iif) and (iv) are drawn. Select the code that states the conclusion/conclusions drawn validly
(taking the premises singularly or jointly).

Premises : (a) All bats are mammals.
(b) No birds are bats.
Conclusions : (i) No birds are mammals.
(i) Some birds are not mammals.
(i) No bats are birds.
(iv) All mammals are bats.
Code :
(1) (i) and (ii) only (2) (iii) only
(3) (i) and (iv) only (4) (@) only

=)}



11.

12.

13.

14.

15.

16.

17.

wooo [[{1LAITHININIE

T AT T ST € Afs

(1) 39P YR a1 3T frepd Geft et 2 |

(2) THh W YR I TTeTd B I SHehT TR Tl 2|
(3) 3Hh Wl YR o T B W 3HeR1 TR TTerd 2 |
(4) 3HP SMUR 919 iR Frehed |eft o=t & |

Teh ITH HEIWE I TR Fefafed § § forad I& o3 § 2

(1) Ak (2) TAEd! ggEY

(3) FEgEt (4) e wed

et | § “COVALENT” &I % BWPDUOFM ©1 “ELEPHANT” % %< B :
(1) QMUBIADH (2) QFMFUOBI

(3) EPHNTEAS (4) MFUIQRTW

Gl 1, 6, 15, 28, 45, ........... H STIE &A1 BRN -
1) 76 (2) 56 (3) 84 (4) 66

3TST, ThIT 1 S § | T ol ACHT i SR IR HId U 3T9MF A THT ¥ Y7 foh o HiA 72
THY J Hel ' SHHT A2, WA H A= g1 I Al 3R TRy o st FreAfafed o @

(1) ®Re-33-al (TIgL) (2) eL (foar )

(3) si%a (Jm=m) (4) UWSHX (=)

foreren ofiX foanfefdi & <= e Hare wHiTey S o o e 7
1) ¥H 2) fowm

(3) forpfa @) W

1 < SR TR (a 3R b) AU TR 1 37 1 e arerdi & 9w sk (i), (i), (iii) 3R (iv) e T
T | 39 2 1 =IA HL S THIOS § F Fehrel T (SR a1l 1 SThet ST G ®Y Y o )
el / freehif ot gerfar &

AMUR AR :  (a) 9 THIES TR B & |

b) IS ot gef =EES E B

(
e (i) IS Uall SRR T S ¥
(i) Fo val TR T TN T
(i) TS TETEE vt T ST S
(iv) Tt TR SEIEES B € |
<
(1) e (i) 3R (i) (2) A (iii)
(3) had (iii) 3R (iv) (4) HaA (i)

I 7




18. A postman walked 20 m straight from his office, turned right and walked 10 m. After
turning left he walked 10 m and after turning right walked 20 m. He again turned right and
walked 70 m. How far he is from his office ?

(1) 40 m. (2) 60 m. (3) 20 m. (4) 50 m.

19. Just as melting ice - cubes do not cause a glass of water to overflow, melting sea - ice does not

increase oceanic volume.

What type of argument is it ?

(1) Hypothetical (2) Psychological
(3) Statistical (4) Analogical

20. The classroom communication should essentially be :

(1) Empathetic (2) Abstract (3) Non-descriptive (4) Contrived

21. Which of the following set of statements best represents the nature and objective of teaching
and learning ?

(a) Teaching is like selling and learning is like buying.

(b) Teaching is a social act while learning is a personal act.

(c) Teaching implies learning whereas learning does not imply teaching.

(d) Teaching is a kind of delivery of knowledge while learning is like receiving it.

() Teaching is an interaction and is triadic in nature whereas learning is an active
engagement in a subject domain.

Code :

(1) () (© and () (2) (a), (b) and (©)

(3) (), (b) and (d) 4) (), (@ and (¢)

22. From the list given below identify the learner characteristics which would facilitate teaching-
learning system to become effective. Choose the correct code to indicate your answer.
(a) Prior experience of learner (b) Learner’s family lineage
(c) Aptitude of the learner (d) Learner’s stage of development
(e) Learner’s food habits and hobbies (f)  Learner’s religious affiliation
Code :

(1) (d), (e and (H (2) (@) (@ and ()
(3)  (b) (c) and (f) (4) (@) (c)and (d)
voo [[{NANIRIED OO



18.

19.

20.

21.

22.

T SIfeRan ST9R wrferd e 20 Hiet Fel, SO SIfet SR e 10 Hiet Jar | aret 3R ged
IS 9% 10 HieX Tl iR et 3R g & 915 20 HeX 9etn | 98 o § Tifett o) ger iRk 70 Hier
T | I I HEe 9 ferat g WR?

(1) 40 HX (2) 60 HIX (3) 20 HiX (4) 50 HIX

S8 fireme ® 9 & freerd el 9 e &1 g 399 9l 78 el Sel YR fieerd gu asE
femge ¥ qg 1 3T 7Tél sl 7 |
7 frfafea o 9 fg YR o1 a& © 2

(1) YReheUATcHS ) TR

(3) wiferh (4) IR

el § Here 31farl 9 9 21 e

OBRESEED (2) S () TR-faoms (4) Hedt®

frefoafad Foml % Tgea § @ SH-91 e iR e % T T e 1 etad 9§y
AT T ?

(a) Toregor fosra & TAM § SR ST TORRT & ST )

(b) Toreror wrfSer Fea T Safer stferm safaaa F 71

(c) Toreror & erferm fafeq & Safer tferma foreror =1 wifed & e
(

(

d) eI Tk YRR I I I SR § Sk SR 36 e i SiE g |

e) Torero sk sra:fohen © &R yopfa § frush € Safe aiferm wsk fawar & e=fa wfha el 71
<< :
(D) ®), () 3 (o) @ (), (b) W (o)
3)

e < T g # | faenelt % 7 aifvaen s fafed B S e sif yomeft @ gt s §
T T 39 S I 30T F o fAU T8t F2 1 =97 H |

(a) Toreneft =1 q& srqva (b) foeneff =6t wftenier a9 wWuw
(c) fommefl =t sAfyrerea (d) Tornefl = forehm =1 sTeen
(e) fomneff =t @ =t o iR s (f)  foeneff =t wnfifer wwrga
< :
(1) (d), () 3 (f) 2 (), (d) ¥R (e)
(3) (b, (o) ¥R () 4) (), (o) ¥R (d)
2z (1T )




23.

24.

25.

26.

27.

28.

wooo J{RIRTIMERAE

In finalizing a thesis writing format which of the following would form part of supplementary
pages ?

(1) Table of contents (2) Conclusions of the study

(3) Bibliography and Appendices (4) List of tables and figures

Which one of the following is a key behaviour in effective teaching ?
(1) Structuring

(2) Instructional variety
(3) Questioning

(4)

Using student ideas and contribution

Which of the following research types focuses on ameliorating the prevailing situations ?
(1) Applied Research (2) Action Research

(3) Experimental Research (4) Fundamental Research

A researcher attempts to evaluate the effect of method of feeding on anxiety - proneness of
children. Which method of research would be appropriate for this ?

(1) Experimental method (2) Ex-post-facto method
(3) Survey method (4) Case study method

Which of the following is susceptible to the issue of research ethics ?
(1) Faulty research design

(2) Choice of sampling techniques
(8) Reporting of research findings
(4)

Inaccurate application of statistical techniques

On the basis of summative tests, a teacher is interpreting his/her students, performance in
terms of their wellness life style evident in behaviour. This will be called :

(1) Continuous and comprehensive evaluation
(2) Norm - referenced testing

(3)  Criterion - referenced testing

(4)

Formative testing

p—
=)



23. TH WY YaY 9@ HEe i Sl &9 3 | Freafafed 3 § SA-9 [Wh-g%) S 9E o ?
(1) faoa-awof (2) 3TeAFA o freRd
3) TU-E iR uRfere (4) GRMRN SR ATHS w1 g

24, Trafafea § @ w0 gy feon § yqE =eer § 2
(1) w=

(2) SAI<eAHe fafawar

(3) T IET

(4) forenedt & fo=mi @ stagH &1 ST

25. frAfafad § @ iy & ford ger ¥ Hee frafiel 8 gur R = wfsa e s g ?
(1) =FerRd MY (2) Trars Wy
(3) TR MY (4) Hifaes oy

26. T TEhdl =i i fa - Sg@Ed W 9ot fafe & gura 1 SHeher HH T YA HIA ¥ 1 DA
ot wiry-fafy sa% fag sugaa 2t ?

(1) YR 9gfd (2) wHERR ggfa
(3) wE&T Ugfd (4) =l oo ugfa

27. Trafafed § @ -9 Wy Afdswsan = g & a8 ?
(1) i ! wwE i et 2

2) fee Tl @1 fased

(3) iy f=Rel sl RUE &E

(4) HifeTeha dep-iehl o1 3o HWT

28. HehoIcHeh TX&TUN o SR TR Teh fraren 1o foranfefai & froure sHerer =l 388 sifveraa gitera
St et o HeH T SATEATId a1 § 1 9 HaT S

(1) W T8 A9 i
(2) HHE HefHa Tdier

3) Trerw Hefda adiem

(4) TR Tde
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29.

30.

31.

32.

33.

34.
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In which of the following arrangements a wider spectrum of ideas and issues may be made
possible ?

(1) Workshop mode (2) Conference
(3) Symposium (4) Research Article

Assertion (A) : All teaching implies learning.

Reason (R) : Learning to be useful must be derived from teaching.
Choose the correct answer from the following :

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(2) (A) is true, but (R) is false.

(3) (A) is false, but (R) is true.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

Occurrence of natural hazards is affected by :

(a) Land use changes (b) Drainage and construction
() Ozone depletion (d) Climate change

Choose the correct answer from the code given below :

(1) (a) (b) and () (2)  (a) (b)and (d)

(3)  (b), (c) and (d) 4) (@), (c) and (d)

What is the name for a webpage address ?

(1) Directory (2) Protocol (3) URL (4) Domain

Which of the following universities has received the Visitor's Award for the best Central
University in India in Feb. 2017 ?

(1) Banaras Hindu University (2) Tezpur University
(8)  University of Hyderabad (4) Jawaharlal Nehru University

Which of the following has been ranked the best college in the country (2017) as per the
National Institutional Ranking Framework (NIRF) ?

(1) St. Stephen’s College, Delhi (2) Fergusson College, Pune
(3) Maharaja’s College, Mysore (4) Miranda House, Delhi
12



29. frafafed #§ 9 fora oremen # foami oIk 481 1 e 9 (FaeH) Hl H9a - ST Hehdl © 2
(1) <hriemen ggfa (2) THEHeH
(3) gt (4) Y@

30. 3faeRe (A) : @t foreror & eaferm fofed € ®
e (R) : AT 1 TN B o T 3/ eTavass &9 | freror ¥ =gegst 21 =nfeu |
frfafad o o W&t S h1 997 HY
(1) (A) 3R (R) I =& &, AfFT (R), (A) T FE TIEHH T 7|

2) (A) 5 g, AfFA (R) Tod 2|

(3) (A) T &, AR (R) W

(4) (A) 3R (R) I T ¥ 31 (R), (A) 1 T& TILHT T |

31. Yihfae Aaersii & "fed g H fAfafad o1 qume gedl ©

(a) gfi - ST § gRad (b) < feRE SR FEfo
(c) TSI | HH (d) Sterary aRedd

= QU 7T Fe § § T IW 1 =TT DI

(1) (a), (b) ¥R (o) 2 (a), (b) ¥ (@)

(3)  (b), (0) ¥R (d) 4) (@) (0 ¥R (d)

32, 99-U8 U (TSH) & fod s - § 2
(1) <SEEwRd PR CEI] (3) IIARTAL (4) <A

33. Ti=fafaa favafaememl & @ 8 ®ad 2017 ® 69w foavafaacE & fau garsas
(fafsrex) o1 qrEenr e g3t ?

(1) =rE fe<g fovefomme (2) AN foredfemEmeT

(3) AR forafoEme (4) SERE Te foavdfaEmeT

34. T Gieenfieh JoieRor g (TA.3TE. TR UW. ) o 3TER f=fatad § 9 ford <9 8, qd 9 sie
(2017) T T WIS €37 2

(1) He LIhd Hierd, foed (2) ®EA e, gOI
(3) RRIST shicisl, HIX (4) e ey, fet
sooo [[[HMUENUALAUITIRNI 1 P10



35. Which of the following are the goals of higher education in India ?
(a) Access
(b) Equity

(c)  Quality and Excellence

(d) Relevance

(e) Value based education

(f) Compulsory and free education

Select the correct answer from the code given below :

(1) (a), (b), (©) and (9 () (@) (b), ©) (@ and (@)

(3) (@) (b), ©) () () and () (4) (a), () and (¢) only

36. Among the following fuels of energy, which is the most environment friendly ?
(1) Biogas (2) CNG (3) Hydrogen (4) Ethanol

37. Which of the following pollutant gases is not produced both naturally and as a result of
industrial activity ?

(1) Nitrous oxide (2) Methane
(3) Carbon dioxide (4) Chlorofluoro carbons

38. Which of the following come(s) within the ambit of the term ‘corruption’ ?
(a) Misuse of official position
(b) Deviation from rules, laws and norms
(c) Non-action when action is required
(d) Harm to public good
Select the correct answer from the code given below :
(1) (a) and (b) only (2) (a), (b) and (d)
(3) (@) (), ) and () (4) (a) only

39. Who among the following can be removed by the President without Parliament’s
resolution ?

(1) Governor of a State

(2) Chief Election Commissioner

(3) Comptroller and Auditor - General
(4) Judge of a High Court
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35.

36.

37.

38.

39.

wooo [ ALEIRNEINATRA

IRd § 3= foren & aed FreAfafea 4 d e @ €2

a) AP

b) A

0 TS TR

d) YRRl

e) ToF I fren

f) oAt wa g e

1< U 7T e § § wEl W A ¢

) (@), (b), (e) R (f) 2 (@), (b), (©), (d) ¥R (e)
)

3) (@), (), (©), (d), () R (f) (4) = (a), (b) R (e)

freAfafed e Somi § HiFA-91 S TR & foe ged e € 2
(1) @& (2) ErEAS (3) TEESSH 4) THE

frafafad § 9 HH-5 ygus 9 Ihfas &9 9 IR Teifies Tfafafy & qRomeasd SH1 9 3a=
& el 2

(1) e sfieEe (2) e

O IEEIEERSEEICIESS (4) FAUF FHET

frefafad § ¥ -1 yeER’ g S aikfy | o § 2
(a) HTRRT U 1 GEIAN
(b) T, Al IR ARl § fawem

(c) T AT SATIH B A HRATE T HE

(d) <k gHafd ol JHaH

1 U 7T e § 9 W@ SW A ¢
(1) e (a) 3N (b) 2) (a), (b) 3 (d)
(3) (a), (b), (c) 3 (d) (4) A (a)

frefafed § @ fa dog & wiga y&are & o wseufa grRr gerdn s dehdr 2

(1) T hl T

(2) H=T I Y
(3) fr® iR wewE wWeas
(4) S ETAI I A

[y
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41.

42,

43.

44.

45.
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Assertion (A) : In urban areas, smog episodes occur frequently in winters.

Reason (R) : In winters, a lot of biomass is burnt by people for heating purposes or to
keep themselves warm.

Choose the correct answer from the code given below :
(1) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(2) (A)is true and (R) is false

(3) Both (A) and (R) are false

(4) Both (A) and (R) are true and (R) is the correct explanation of (A)
Which of the following represents billion characters ?

(1) Megabytes (2) Kilobytes
(3) Gigabytes (4) Terabytes

Which of the following pollutants is the major cause of respiratory diseases ?
(1) Nitrogen oxides (2) Carbon monoxide

(3) Volatile organic compounds (4) Suspended fine particles

Which of the following domains is used for - profit businesses ?

(1) .net (2) .edu (3) .com (4) .org

The data storage hierarchy consists of :
1 Bits, bytes, fields, records, files and databases

3

1)

(2) Bits, bytes, records, fields, files and databases
(3) Bits, bytes, fields, files, records and databases
4

4 Bytes, bits, fields, records, files and databases

What is the full form of USB as used in computer related activities ?

(1) Universal Security Block (2)  Universal Serial Bus
United Serial Bus (4) Ultra Security Block
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40.

41.

42.

43.

44.

45.

Aafirerer (A) :  IRA & B, SIS & fol § SToRR -l ot FeAd "fed 2l € |

e (R) 1S o Hreq H o T A % g W A = T e % fan o2 men i
Jg-Gafa (STEHE) i S © |

e fou T e § § TE S B T HI

1) (A) 3R (R) S W& € WA (R), (A) T T =0 7 2
(2) (A) T g R (R) T €

3) (A) 3R (R) ST TTerd €1

(4) (A) 3R (R) S T& € IR (R), (A) H T A T

2

4

Frafafad § 9 F-1 T oRa (Tafeam) e yefiid o g 2
(1) e (2) TercimsE
(3) TimeTEEE (4) TETEE

frefafed # § HF-91 YguS vauT-a3 ¥ TS Al 1 T R0 ?
(1) FTEeSH AlFES (2) IS HHAISATFIES

(3) OTSTEiE HTEleh AR (4) Tocifsa gaa s

frefafad el # fFa STyt =R &g Ja T S € 2
1) WEA () (2 FHI(W) (B) HAW(FWE) 4) .30ARSH

TR HERY & Afushd § A © :

(1) foeg, ey, wieey, ey, weed aun SR
2) foeg, sy, RHEY, wieed, wiEd 991 SREYS
(3) fored, ATy, wiveE, wEel, REATSH T Sreras
(4) e, foed, wiee, ey, Hee qo SrereEs

4

FER Y e fod S § FAN g 9, TH S, 0 9 S ?
(1) FHada faenfE sam () Fiada HiEd 5|
(3) IR Hiaa =9 (4) iz TeaatE: <ats

v [[MIINIIEHINONRTY -



Read the passage carefully and answer question numbers from 46 to 50.

Climate change is considered to be one of the most serious threats to sustainable development,
with adverse impacts on the environment, human health, food security, economic activity, natural
resources and physical infrastructure. Global climate varies naturally. According to the Inter-
governmental Panel on Climate Change (IPCC), the effects of climate change have already been
observed, and scientific findings indicate that precautionary and prompt action is necessary.
Vulnerability to climate change is not just a function of geography or dependence on natural
resources; it also has social, economic and political dimensions which influence how climate change
affects different groups. Poor people rarely have insurance to cover loss of property due to natural
calamities i.e. drought, floods, super cyclones etc. The poor communities are already struggling to
cope with the existing challenges of poverty and climate variability and climate change could push
many beyond their ability to cope or even survive. It is vital that these communities are helped to
adapt to the changing dynamics of nature. Adaptation is a process through which societies make
themselves better able to cope with an uncertain future. Adapting to climate change entails taking
the right measures to reduce the negative effects of climate change (or exploit the positive ones) by
making the appropriate adjustments and changes. These range from technological options such
as increased sea defences or flood - proof houses on stilts to behavioural change at the individual
level, such as reducing water use in times of drought. Other strategies include early warning
systems for extreme events, better water management, improved risk management, various
insurance options and biodiversity conservation. Because of the speed at which climate change is
happening due to global temperature rise, it is urgent that the vulnerability of developing countries
to climate change is reduced and their capacity to adapt is increased and national adaptation
plans are implemented. Adapting to climate change will entail adjustments and changes at every
level from community to national and international. Communities must build their resilience,
including adopting appropriate technologies while making the most of traditional knowledge,
and diversifying their livelihoods to cope with current and future climate stress. Local coping
strategies and knowledge need to be used in synergy with government and local interventions.
The need of adaptation interventions depends on national circumstances. There is a large body of
knowledge and experience within local communities on coping with climatic variability and extreme
weather events. Local communities have always aimed to adapt to variations in their climate. To
do so, they have made preparations based on their resources and their knowledge accumulated
through experience of past weather patterns. This includes times when they have also been forced
to react to and recover from extreme events, such as floods, drought and hurricanes. Local coping
strategies are an important element of planning for adaptation. Climate change is leading
communities to experience climatic extremes more frequently, as well as new climate conditions
and extremes. Traditional knowledge can help to provide efficient, appropriate and time - tested
ways of advising and enabling adaptation to climate change in communities who are feeling the

effects of climate changes due to global warming.
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TEITYT ehl &9 | U 3T U9 AT 46 W 50 AT ST S |

STeraTg, aRed 1 TR TRt w1 Haifess TR Waw W S € 1 SEeRT TAieRT, Hie TR,
TrE e, A wifafafy, Trenfae derer ok ¥ifde sasEr W gfied 9uE 9ed § | dfveas sieery
e Y IRaEfad gl Wl § | Sorary qRedd et A sl Fiad i arel Sehrl Iet (3TE. 9.5, )
% STHR STefary URed= & Ul bl uget & Uferd fomen S e € IR Safes fehd o1g g € o wrashan
AR ferrgdes wRaATE fohan ST Tews €1 Sierary ufikede o Ui e fad opie 9§ 8 2§ stean
faf yrrfae daredl W & fR 72 § afew Sterary afeds & amfsens, onféie oiR Tsifaes omem off €
S 39 91 I g R ¢ foh foRe WehR & Seraryg aftenda fafis el o6t weifaa & €1 fAe safaa
% qTE WTehfeh STIRIsTl S8 @, 916, Hershald S7IfG o IR0 i i gHare &fd i gfid w & fag
IR & WA B § | e e @ e o) Soery agend i faree ghitadl 9 g8 8 S8 @ § SR
STeTaT] URede % HR ST o foT 3TN S R F9T q o 19 sified s gfvewat & som | g
Ut ¥ foh Uehfd o S<erd STl o W WHSEA 93 H g THE! S WerEdl Sl S J1feu | STdhe
e Yfshan ¢ ek wneem | g siffeea wfgs & 9 gree foem § 109 o Je € 9 Wery S
¥ Sorarg giada % |1 SR % ded SyfEd e iR IRad s & Area 9 Soer uikedd &
THRRIEE T Sl A F (TR GHET 1 HERT 38M) 6 foaw T2 3u™ fove S €1 57 3amei o
Ureifienta forehed ae: ael g5 HHa! GRal s1o@ feqell T a1g - Wafd =X 9 oot AT TR TR aeRI
IREdd S8 @ & 999 | g 1 wH FA e §1 o WHifadl § = wesli & fore qd =raret
YUITeA!, SIgaX STel Yo, Soid Siiied Yoo, fafis s fasmea iR So-fafayar e gfmfea g1 afveass
T gfg o RO 9 i § Forary # IRede 81 W1 8 I8 STewdeh ol Sl ¢ foh ooy giadd & gfd
forprerelicr <ot <t Srerdm 1 W foRaT ST ST STRT TR &HdT 1 SR ST e T TR =ifqal
FHEifad i S | Serarg, uRad & 9fd e THeE ¥ UL IR IRisg gt Tl w g 31k
Rl i AT Hr &1 T SR 9T % Serarg % 91 g faer ¥ 9HerEl S S0 et
IRERE FH H1 ITANT A 3R T ATsiifasht o fafasfinor & we-wy aqfeaa denfife & o
gfgd STot Tl SAMT =1feT | TR SR T el & |1 drerd faei gy |mere faem e
T AT TR FE 61 JE e < =nfeq | STeher Seiet geaay T ufkfefadi  fRk e €1
STTaT] aiet Seerel ST SRy HH A1l % 1Y grHee foaeM & Geie § T SHerEl % e g8d 9
3R STvE ¥ | TIT TSR T THI ¥ 3RYF A Sorary URadHl o @Y qrerdel faeH W@ ¥ 1 T A
% fore 3= fonma & Higet Tt & o799 STYE % SMUR R 19+ Tt 3ik Giad I & T8y Janiar
HI T THH 3 T off WihA 1 § 59 3% e, @ SR ThHH ST == T seA1sil § gfafsean e $ik
STE SORAT ISl &1 WS foaem 6t g WHIfqEl Sged & FaeH | meeul o WE | ey
TR i I5g W FHEE! Sl IR-aR =R serary fefasi aen 78 Serary feafadi oi) = fearfaai o1 amn
FHAI IS @1 8 | IREReh JE H 37 TG &l Sl df¥deh 199 i asie ¥ Serary IRedd & THE ol 7agd
FR T €, STty I & 91 e foem aun $ve, agfud iR guafag SuE ged | wemer faertt )

el | T




46. To address the challenge of climate change, developing countries urgently require :
(1) Implementation of national adaptation policy at their level
(2) Adoption of short-term plans
(3) Adoption of technological solutions

(4) Imposition of climate change tax

47. Given below are the factors of vulnerability of poor people to climate change. Select the code
that contains the correct answer.

(a) Their dependence on natural resources
(b) Geographical attributes
(c) Lack of financial resources

(d) Lack of traditional knowledge

Code :
(1) (b), () and (d) (2) (@), (b), (c) and (d)
()  (c) only (4) (a), (b) and (c)

48. Adaptation as a process enables societies to cope with :
(a) An uncertain future
(b) Adjustments and changes
(c) Negative impact of climate change
(d) Positive impact of climate change
Select the most appropriate answer from the following code :
(1) (a) and (9 (2) () (0 and (d)

(3) (o) only 4) (@) (b), (c) and (d)
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46.

47.

48.

oo {1411

Serary, gieds st g § fued & fore fasmastiar 3o 1 stemeavas 'v 9 frafafed § 9
HT FHI T 72

(1) 319 ®R W AL 3TIHe ifd 1 s

2)  3TCUTETY ASHN ST

(2)
(3) YN HHIEM STHAM
(4)

4)  Soremyg qRads T T

e Seraryg afted % fa e safaadl st Serar % wRe fou T ¥ | wE W A % 1 wEE H
(a) TRideh GETEA! T 3Tt FHRar

<< :
(1) (b), () 3 (d) 2 (@), () () ¥R (@)
3) fak (o 4)  (a), (b) ¥R (o)

3T Uk Uiha & &9 H qATSH 1 ffafead § 9§ forgs e arse fagm & e o=m § 2
(a) i wfeaey
(b) FHSE iR gfREd

(c) SIcTemyg Yferdd hl ThRIcHh GHTE

(d) SorETg IREdT T HhRIcHS JHTE

frfafad e d 9 gaifys Suget ST 1 =2 &

(1) (@) 3R () 2 (), () 3R (d)

() & (o @ (@), (b) (©) 3R (d)

LI




49. The main focus of the passage is on :

1)
()
(3)
4)

Co-ordination between regional and national efforts
Adaptation to climate change
Social dimensions of climate change

Combining traditional knowledge with appropriate technology

50. The traditional knowledge should be used through :

(1)
(2)
(3)
4)

wooo J{RIRTIMERAE

Improvement in national circumstances
Synergy between government and local interventions
Modern technology

Its dissemination
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49. 39 T H Gehfgad fog ®
(1) &= 3R U Tl & ofte 99
(2) ey WfEd % Hfd STgEe
(3) oAy UREA o WHEISH A
(4) URURE I 1 FYfad SN & e Sie

50. YRR I 1 AN F=fafad § 9 fegs aeem 9 foran S =nfew ?
(1) T aRfafal 9 gun ga

(2) TRER 3R T TEE % fi= aeHd |
(3) My Ureifitent R
(4) THh JEIR-TER 5N
-00o0-
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Answer Key:

10 4 35 2
11 3 36 3
12 3 37 4
13 2 38 3
14 4 39 1
15 2 40 1
16 2 41 3
17 2 42 4
18 4 43 3
19 4 44 1
20 1 45 2
21 1 46 1
22 4 47 4
23 3 48 4
24 2 49 2
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PAPER -1
Note : This paper consists of Fifty (50) objective type questions of Two (2) marks each. All
questions are compulsory. 50 Q x 2 M = 100 Marks
1.  Which of the following pollutants is the major cause of respiratory diseases ?
(1) Volatile organic compounds (2) Suspended fine particles
(3) Nitrogen oxides (4) Carbon monoxide
2. Which of the following universities has received the Visitor's Award for the best Central
University in India in Feb. 2017 ?
(1)  University of Hyderabad (2) Jawaharlal Nehru University
(3) Banaras Hindu University (4) Tezpur University
3.  Which of the following come(s) within the ambit of the term ‘corruption’ ?
(a) Misuse of official position
(b) Deviation from rules, laws and norms
(c) Non-action when action is required
(d) Harm to public good
Select the correct answer from the code given below :
1) (@), b), (© and (d) (2) (a)only
(3) (a) and (b) only 4) (a), (b) and (d)
4.  Among the following fuels of energy, which is the most environment friendly ?
(1) Hydrogen (2) Ethanol (3) Biogas (4) CNG
5.  Which of the following domains is used for - profit businesses ?
(1) .com (2) .org (3) .net (4) .edu
6.  What is the name for a webpage address ?
(1) URL (2) Domain (38) Directory (4) Protocol
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50 99T x 2 3k = 100 3k
frefafed § 4 HF-91 YguS Yaua-a3 ¥ TS il 1 T HRo § ?
(1) STomfie e s ) focifoa gaa w0
(3) TEgISH sifadrEe (4) HEA HESEES

frefafea fovafaameal § 9@ fo6g ®Ed 2017 # 969w favafaaes & fau pareas

(fafs/eX) =1 qTEhr 9w gafl ?
1) TeueR favafaae™ (2) SO TeE favafoEme™

(B) =rE feg fovefomme (4) ISR foredfemEmeTa

frefafed § § -1 yeER' o w aiify § o 72
(a) NI 9T 1 GEM
(b) 7o, A IR Al § fome

(c) T AT SATIF B A HRATS T HE

(d) s Hufd ! JhdH

= fSU T e § & W@ SW A ¢
(1)  (a), (b), (0) 3 (d) (2) %9 (a)
(3) ke (a) ¥R (b) 4)  (a), (b) 3R (d)

Frafafaad e Soq | SE-91 99 T9eR0 & e §od TFHd § ?
(1) TESNA (2) T (3) 9ErE (4) TS

frrefefad Sl | fRd STyt SATIR &g w4 fohan iran § 2

1) Fsliwa (&™) (2) .37 AR G) WEA (R @@ IFII(W®)

-8 T (TSH) & fold e M &2
(1) AT (2) =HA (3) SERER (4) IR
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Who among the following can be removed by the President without Parliament’s
resolution ?

(1) Comptroller and Auditor - General

(2) Judge of a High Court

(3) Governor of a State

(4) Chief Election Commissioner

Occurrence of natural hazards is affected by :

(a) Land use changes (b) Drainage and construction
() Ozone depletion (d) Climate change

Choose the correct answer from the code given below :

(1) () () and (d) (2) (@) (9 and (d)

(3) (@), (b)and (©) 4) (), (b)and ()

Which of the following are the goals of higher education in India ?

(a) Access

(b) Equity

(c)  Quality and Excellence

(d) Relevance

(e) Value based education

(f) Compulsory and free education

Select the correct answer from the code given below :

1) (@) (b), ©) () () and () (2) (a), (b) and (e) only
(3) (@) (b), () and (9 (4) (@) (b), ©) (@ and (@)

10. Which of the following pollutant gases is not produced both naturally and as a result of
industrial activity ?

(1) Carbon dioxide (2)  Chlorofluoro carbons
Nitrous oxide (4) Methane
HIH!HIIIHIIHI|IHIIIHIHI il -
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frAfafed # 9 {8 Tug & Wighd Y& & o1 Tgufd gR1 g S Hehdl § 2

1) Fr® iR weerE wWaw (2) T A HT A

(3) TSH <l THUMA (4) Y= FTE A

rehfder aaerstl & sfed B o frefafad o gue gear € ¢

(a) ofF - 3ITAM ¥ 9REda (b) < e SR fafo
(c) =i | et (d) e aREd

1< QU 7T Fe § ¥ T2 I 1 = SN

1) (), (© R (d) 2 (@) (© 3R (d)

(3) (), (b) 3R () 4)  (a), (b) 3T (d)

YA | =9 Tren & oeg frefafea A 9 s 9 €2

a) Afw™

>

(

(b) wr=

(0 T TE e

(d) orEfiTeR

(e) WA A e

(f)y e & gua fen

= feu T e H F wE S ¢

(1) (@), ®), (@) (@), () 3R () (2) A (a), (b) R (o)
(3) (a), (b), () 3 () 4) (@), () (0) (d) 3 (e)

frafafad § 9 HH-5 ygus 9 Ihfas &9 9 IR Teifies tfafafy & qRomeasd SH1 9 39

T el 2
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11.

12.

13.

14.

15.

HIH!HIIIHHHIIIIHI||||H!H|||I\IIHHIIII\|||!||!|!||H||||HH|\

Which of the following has been ranked the best college in the country (2017) as per the
National Institutional Ranking Framework (NIRF) ?

(1) Maharaja’s College, Mysore (2) Miranda House, Delhi

(8) St. Stephen’s College, Delhi (4) Fergusson College, Pune

Which of the following represents billion characters ?
(1) Gigabytes (2) Terabytes

(3) Megabytes (4) Kilobytes

The data storage hierarchy consists of :

(1) Bits, bytes, fields, files, records and databases
(2) Bytes, bits, fields, records, files and databases
(3) Bits, bytes, fields, records, files and databases

(4) Bits, bytes, records, fields, files and databases

What is the full form of USB as used in computer related activities ?

(1)  United Serial Bus (2)  Ultra Security Block

(3)  Universal Security Block (4)  Universal Serial Bus

Assertion (A) : In urban areas, smog episodes occur frequently in winters.

Reason (R) : In winters, a lot of biomass is burnt by people for heating purposes or to
keep themselves warm.

Choose the correct answer from the code given below :

(1) Both (A) and (R) are false

(2) Both (A) and (R) are true and (R) is the correct explanation of (A)
(3) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(A) is true and (R) is false
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T Gienfieh SoeRTol B (TA.3TE. TR, ) & AT9R Fefafad § 9 7l 3o °, g9 wierst
(2017) T T W g 2

(1) RIS Shicts], T (2) fhue Ry, ot
(3) U W o, feeedt (4) HIEA e, g0

frefafed § ¥ FF-91 T oR/e (fafera) Hige@ vl w2
(1) e (2) EECE
(3) HeTEeH (4) fwciramged

ST SR & 3Afushy | e ©

(1) fozm, areey, wiegy, wEd, ey a0 SeEEs
(2) =reew, foey, wiegy, RFEH, wiEed a0 SeEEs
(3) fozm, ey, vy, ferey, wed qo Srereds
(4) fozm, e, ferey, wiegy, Wi a0 SeEEs

2

4

HIX F rfod FwrEl § YA g 9.THH. QT E9 G 2
1) FEes HifEd a9 2) e farifE st
(B) Fiadd faenfEt sah (4) Fieda HfiEd 59

afireRer (A) :  IRY &1 B, SIS % TS B TR YH-hIEY i HeA Hfed Bl €1

e (R) 1S o HWreq B o T A % YA W A = T e & fan o2 men i
S-Gafa (STEHE) i ST © |

= feT 7T e H 9 FE IW H T R

1) (A) 3R (R) <M e €

(2) (A) 3R (R) S W € 3T (R), (A) hT T =0 B
3) (A) 3R (R) S W&l € W (R), (A) T Tl = T T
4) (A) W& § 3R (R) T B
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Read the passage carefully and answer question numbers from 16 to 20.

Climate change is considered to be one of the most serious threats to sustainable development,
with adverse impacts on the environment, human health, food security, economic activity, natural
resources and physical infrastructure. Global climate varies naturally. According to the Inter-
governmental Panel on Climate Change (IPCC), the effects of climate change have already been
observed, and scientific findings indicate that precautionary and prompt action is necessary.
Vulnerability to climate change is not just a function of geography or dependence on natural
resources; it also has social, economic and political dimensions which influence how climate change
affects different groups. Poor people rarely have insurance to cover loss of property due to natural
calamities i.e. drought, floods, super cyclones etc. The poor communities are already struggling to
cope with the existing challenges of poverty and climate variability and climate change could push
many beyond their ability to cope or even survive. It is vital that these communities are helped to
adapt to the changing dynamics of nature. Adaptation is a process through which societies make
themselves better able to cope with an uncertain future. Adapting to climate change entails taking
the right measures to reduce the negative effects of climate change (or exploit the positive ones) by
making the appropriate adjustments and changes. These range from technological options such
as increased sea defences or flood - proof houses on stilts to behavioural change at the individual
level, such as reducing water use in times of drought. Other strategies include early warning
systems for extreme events, better water management, improved risk management, various
insurance options and biodiversity conservation. Because of the speed at which climate change is
happening due to global temperature rise, it is urgent that the vulnerability of developing countries
to climate change is reduced and their capacity to adapt is increased and national adaptation
plans are implemented. Adapting to climate change will entail adjustments and changes at every
level from community to national and international. Communities must build their resilience,
including adopting appropriate technologies while making the most of traditional knowledge,
and diversifying their livelihoods to cope with current and future climate stress. Local coping
strategies and knowledge need to be used in synergy with government and local interventions.
The need of adaptation interventions depends on national circumstances. There is a large body of
knowledge and experience within local communities on coping with climatic variability and extreme
weather events. Local communities have always aimed to adapt to variations in their climate. To
do so, they have made preparations based on their resources and their knowledge accumulated
through experience of past weather patterns. This includes times when they have also been forced
to react to and recover from extreme events, such as floods, drought and hurricanes. Local coping
strategies are an important element of planning for adaptation. Climate change is leading
communities to experience climatic extremes more frequently, as well as new climate conditions
and extremes. Traditional knowledge can help to provide efficient, appropriate and time - tested
ways of advising and enabling adaptation to climate change in communities who are feeling the

effects of climate changes due to global warming.
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STeraTg, aRad 1 TR TRt w1 Haifess TR Waw W S € 1 6T TAieRT, Hie TR,
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16. To address the challenge of climate change, developing countries urgently require :

(1) Adoption of technological solutions

(2) Imposition of climate change tax
(3) Implementation of national adaptation policy at their level
(4) Adoption of short-term plans

17. Adaptation as a process enables societies to cope with :
(a) An uncertain future
(b) Adjustments and changes
(c) Negative impact of climate change
(d) Positive impact of climate change
Select the most appropriate answer from the following code :
(1) (c) only (2) (@), (b), () and (d)
(3) (a) and (¢) 4)  (b), () and (d)

18. The traditional knowledge should be used through :
(1) Modern technology

(2) Its dissemination
(3) Improvement in national circumstances
(4) Synergy between government and local interventions

19. Given below are the factors of vulnerability of poor people to climate change. Select the code
that contains the correct answer.

(a) Their dependence on natural resources
(b) Geographical attributes

(c) Lack of financial resources

(d) Lack of traditional knowledge

Code :
(1) (c) only (2) (a), (b) and (c)
3)  (b), () and (d) 4) (a), (b), (c) and (d)

20. The main focus of the passage is on :

(1) Social dimensions of climate change

(2) Combining traditional knowledge with appropriate technology
(8) Co-ordination between regional and national efforts
(4)

Adaptation to climate change
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Serary, gieds st g § fued & fore fasmastiar 3o 1 stemeavas 'v 9 frafafed § 9
HA HT T § 2

(1) TrENfTRrE THEE 7O

(2) STerary Uferd o ST

(3) ST W W UL ATha i hl hr=eraT

(4)

4)  3TCUEf FSHTT AT
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(a) SAMed vfas

(b) HHS IR qfEd
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(d) SreTg IREdT T HhRIcHS JHTE

frefafed fe o 9 gaifis Iuge STl =I79T
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Answer the questions 21 to 25 based on the data given in the table below.

Table : Number of registered vehicles in India and India’s population.

Total Two Cars, Jeeps, Goods Population
. . Buses . Others )
Year | vehicles wheelers Taxis (Lakhs) vehicles (Lakhs) (India)
akhs akhs

(Lakhs) (Lakhs) (Lakhs) (Lakhs) (Millions)
1961 6.65 0.88 3.1 0.57 1.68 0.42 439.23
1971 18.65 5.76 6.82 0.94 3.43 1.70 548.15
1981 53.91 26.18 11.60 1.62 5.54 8.97 683.32
1991 213.74 142.00 29.54 3.31 13.56 25.33 846.42
2001 549.91 385.56 70.58 6.34 29.48 57.95 1028.73
2011 1417.58 1018.65 191.23 16.04 70.64 121.02 1210.19

21. The maximum decadal growth in population of India is registered in the period :

22.

23.

24.

25.

26.

(1) 1981 - 1991

(2)

1961 - 1971

(3) 1991 - 2001

(4) 2001 - 2011

What was the per capita ownership of two wheelers in India in the year 2011 ?
(1) ~ 0.068% (2) ~ 0.084% (3) ~ 0.0084% 4) ~0.84%
What was the average decadal growth in the number of cars during 1961 - 2011 ?
(1) ~157% (2) ~131% 3) ~ 68% 4) ~217%
In which year the decadal growth (%) in number of cars surpassed that of the two
wheelers ?
(1) 2011 (2) 1991 (3) 2001 (4) 1981
In the year 2001, out of total number of vehicles, the number of passenger vehicles (4 wheelers)
accounted for :
(1) ~43% (2) ~14% 3) ~24% 4) ~31%
In which of the following arrangements a wider spectrum of ideas and issues may be made
possible ?
(1) Symposium (2) Research Article
(3) Workshop mode (4) Conference
con [ININNRNINND =
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Trfeafiaa arferent ¥ fou U etfemsl & MR W 9 21 § 25 /T ST S |

AT : UG  USHehd aTel sht WEAT 3 U it THET

> o dA| UG ART | *R, S, 9 | WA GRT | 3 | 9Rd &I SHEE
(TmE) (7M@) T (TmE) | (d) | () (Tm@) (fafer=)
1961 | 6.65 0.88 3.1 0.57 1.68 0.42 439.23
1971 | 18.65 5.76 6.82 0.94 3.43 1.70 548.15
1981 | 53.91 26.18 11.60 1.62 5.54 8.97 683.32
1991 | 213.74 142.00 29.54 3.31 13.56 25.33 846.42
2001 | 549.91 385.56 70.58 6.34 29.48 57.95 1028.73
2011 [1417.58| 1018.65 191.23 16.04 70.64 | 121.02 1210.19
21. fr=fafed § @ forg oo & A YR &t SHEEn ¥ gaifus gfg oot & T 2
(1) 1981 - 1991 (2) 1961 - 1971 (3) 1991 - 2001 (4) 2001 - 2011
22, &9 2011 § WRd § gufean arei i ufd safert wanfied fohdan o ?
1) ~ 0.068% (2) ~ 0.084% 3) ~ 0.0084% 4) ~ 0.84%
23. 9 1961 - 2011 % SRH HRI F! F&N § ad weig gig fra @ 2
(1) ~157% (2) ~131% () ~ 68% 4) ~217%
24. forq o6 H RI &1 G H g8 SURMA IhG (%), FAGT Al bl HE&A H 3 SUHRA IG5 (%) Tl IR A
TS ?
(1) 2011 2) 1991 (3) 2001 (4) 1981
25. 98 2001 H, ATEAl il el W& H 9 A6 el (Fied amgAl) St WA Sl Yiaw a1 o ?
1) ~43% 2) ~14% (3) ~24% 4) ~31%
26. Trefafed d§ @ frg srazen § foami IR 48 &1 v & (Tagy) S Y9 9@ ST bl § 2
(1) HrSt (2) Y™
(3) RS ggia (4) T
coon [{[ARFUIARAMNALANEAT VAR 1 PL.O.
 C



27. On the basis of summative tests, a teacher is interpreting his/her students, performance in
terms of their wellness life style evident in behaviour. This will be called :
(1) Criterion - referenced testing
(2) Formative testing
(3) Continuous and comprehensive evaluation
(4) Norm - referenced testing
28. Which of the following research types focuses on ameliorating the prevailing situations ?
(1) Experimental Research (2) Fundamental Research
(3) Applied Research (4) Action Research
29. From the list given below identify the learner characteristics which would facilitate teaching-
learning system to become effective. Choose the correct code to indicate your answer.
(a) Prior experience of learner (b) Learner’s family lineage
(c) Aptitude of the learner (d) Learner’s stage of development
(e) Learner’s food habits and hobbies (f)  Learner’s religious affiliation
Code :
(1) (b) () and (§) (2) (@) (c)and (d)
(3) (), (¢) and (f) (4) (@), (d) and (e)
30. Which one of the following is a key behaviour in effective teaching ?
(1) Questioning
(2) Using student ideas and contribution
(3) Structuring
(4) Instructional variety
31. Which of the following set of statements best represents the nature and objective of teaching
and learning ?
(a) Teaching is like selling and learning is like buying.
(b) Teaching is a social act while learning is a personal act.
(c) Teaching implies learning whereas learning does not imply teaching.
(d) Teaching is a kind of delivery of knowledge while learning is like receiving it.
(e) Teaching is an interaction and is triadic in nature whereas learning is an active
engagement in a subject domain.
Code :
(1) (a), (b) and (d) (2)  (a) (d) and (e)
(3)  (b), (c) and (e) 4) (), (b) and ()
con |[NMANMNIANT -



27. HehoIcHeh TX&T0N o SR TR Teh fraren 319 forenfefai & froure sHerer =l 388 sifveraa gitera
St At o HeH T ARSI a1 § 1 9 HaT S

(1) e G adem ) fioreEs weo
(3) Hdq TS AT Hedh (4) W Gefda weu

28. fr=fafad @ iy & ford yoR H divper frafaal § gur w e Ssa e s e ?
(1) iR 3y (2) Hifees oY
(3) =a=d MY (4) Torares Wy

29. = @ E g H 9 foaenef & 37 stfvaeon w1 fafed w S Rrer-stfurd gonedt @ gl e |
T T 399 S I 3T F o faU T8t F2 1 =37 H |

(a) fomnefl =1 & sgvE (b) Toremeff =t wiETRer a9 waa
c) fomnedt =t sifveman (d) Tornefl = forepm =1 sTeen
e) fommefl =t @M &t od siR Wi (1)  foreneff Y enfHe wrEa

(b), (c) 3R (f) 2 (), () &R (d)
(d), (e) ¥R (f) 4)  (a), (d) ¥R (o)

30. freAfafaa § @ siF gt foemn § yqQ oFewr 82
(1) e

31. fr=fafed wumi & ag=a § 4 FF-a1 e SR 1ftrm % ypfa 1d 29 =1 gaiam &9 H 75gd
FIAT S ?
(a) Toreqor fosra & TAM § SR ST SORRT & ST § )
(b) oreror wmfse Fer € Safew siform SAfaaa F €
(c) Torero & erferm fafeq & Stafer stferma foreror =i wifed & e
(
(

d) T T YRR I I A1 SO § Sk ATH 36 W I S T
e) Toa t sa.fohan ¥ SR yopfa § fus) § Safe eiferm wk fawa & ofa |fha & B

(1) (@), (b) 3R (d) 2 (@) (d) 3 (e)
(3) () () IR (e) 4) (a), (b) 3R (0)
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32.

33.

34.

35.

36.

HIH!I

In finalizing a thesis writing format which of the following would form part of supplementary
pages ?

(1) Bibliography and Appendices (2) List of tables and figures

(3) Table of contents (4) Conclusions of the study

Which of the following is susceptible to the issue of research ethics ?

(1) Reporting of research findings

(2) Inaccurate application of statistical techniques
(3) Faulty research design
(4) Choice of sampling techniques

A researcher attempts to evaluate the effect of method of feeding on anxiety - proneness of
children. Which method of research would be appropriate for this ?

(1) Survey method (2) Case study method
(3) Experimental method (4) Ex-post-facto method

Assertion (A) : All teaching implies learning.

Reason (R) : Learning to be useful must be derived from teaching.
Choose the correct answer from the following :

(1) (A) is false, but (R) is true.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(4) (A) is true, but (R) is false.

Given below are two premises (a and b). From those two premises four conclusions (i), (ii),
(iii) and (iv) are drawn. Select the code that states the conclusion/conclusions drawn validly
(taking the premises singularly or jointly).

Premises : (a) All bats are mammals.
(b) No birds are bats.
Conclusions : (i) No birds are mammals.
(i) Some birds are not mammals.
(i) No bats are birds.
(iv) All mammals are bats.
Code :
(1) (iii) and (iv) only (2) (@) only
i) and (ii) only (4) (i) only

1117 | I



32. UH UMY YAY oA HEe @l SAfad &9 9 | freafafead 3 § SA-9 [Wh-g) Sl HE S ?
1) To-g=r iR ufifere (2) GRMREN SR ATHS w1 g
(3) ToroF-wwof (4) A= & frehd

33. frafafeaa § @ w@-a1 oy Afdewdr 1 ey 2 gt § 2
(1) iy fsRdl sl KA e
2) =
(3) T Y TGN H STYOT BT
(4) TeRA qehTeni T faehed

34. U Siuchdl o=l bt fomT - St W Ao fafer & qure i ek i ol JAE R B 1 hiF-
ot vy -fafy sae fere Sugea et ?

(1) FE& ggfid (2) =M e ggha
(3) TR TG (4) AR gfa
35. 3feRe (A) : @t foreror & eaferm fofed € §
& (R) : Ty 1 TN B o T S/ eTavaes €9 § freror § =gegt 21 =nfeu |
Frfafad o o Wt S h1 997 HY
(1) (A) e[ @, AR (R) F B |
2) (A) 3R (R) I T ¥ 31 (R), (A) 1 T& TILHT T |

)
)
3) (A) 3R (R) I W& &, AfF (R), (A) T TE TIETH T 7|
4) (A) 5@ T, AfFA (R) T B

36. I QU YR M (a 3T b) fFGUTCF | 37 1 e Al & =R F16 (1), (i), (iid) 3R (iv) Feme g
T 139 F2 1 FIA L S UTHI0TR T H FRT T (STMHR AR i 3Tehet STea HYad €9 ¥ d gU)
frreendl / freenif ont gerfar &1
AMUR AR ;.  (a) 9 THIES WA B |

b) e off Taft TERS A B ¥

(
frend - (i) IS Uall SRR T S ¥
(i) T vl TR T A
(i) TS THTEE vt T ST S
(iv) T TR SRS B ©
e
(1) Had (iii) 3R (iv) (2) HaA (i)
(3) A (i) AR (i) (4) haA (iii)
oo | [FFRHARARRRRTATIAN v




37.

38.

39.

40.

41.

42.

A deductive argument is invalid if :
1) Its premises are all true but its conclusion is false.

3

(1)

(2) Its premises and conclusion are all true.
(3) Its premises and conclusion are all false.
(4)

4) Its premises are all false but its conclusion is true.

In certain code, “COVALENT” is coded as BWPDUOFM. The code of “ELEPHANT” will
be :

(1) EPHNTEAS (2) MFUIQRTW

(3) QMUBIADH (4) QFMFUOBI

Ajay is a friend of Rakesh. Pointing to an old man Ajay asked Rakesh who is he ? Rakesh
said “His son is my son’s uncle”. The old man is related to Rakesh as :

(1) Uncle (2) Grandfather

(3) Father-in-law (4) Father

The classroom communication should essentially be :

(1) Non-descriptive (2) Contrived (3) Empathetic (4) Abstract

A postman walked 20 m straight from his office, turned right and walked 10 m. After
turning left he walked 10 m and after turning right walked 20 m. He again turned right and
walked 70 m. How far he is from his office ?

(1) 20m. 2) 50 m. (3) 40 m. (4) 60 m.

Just as melting ice - cubes do not cause a glass of water to overflow, melting sea - ice does not
increase oceanic volume.

What type of argument is it ?
(1) Statistical (2) Analogical

(3) Hypothetical (4) Psychological

coo [[[IITNIINNIRERHY =



37.

38.

39.

40.

41.

42.

(3)
coon 1

Tk TR e ST © af

(1) 39 Al STUR a9 Fe 7 WRg SHeh1 FTshd TTerd 2 |
(2) THF SMUR 1R iR Frewed |eft Wt & |

(3) 3UP SMYR a1 3R frepd @eft et & |

(4) Tk Gt STYR ST TTerd Bl T ST Tkt Tl & |

2

4

et e H “COVALENT” &l %2 BWPDUOFM T 1 “ELEPHANT” %1 %< 21 :
(1) EPHNTEAS (2) MFUIQRTW
(3) QMUBIADH (4) QFMFUOBI

TS, ThIT 1 TG & | T ol STGHT i 3R TR T U 319 A AW § Y27 foh a8 & 72
TR Hel ' IHH A2, WA H A= g1 g Ao 3R TR o o FrAfafed fear g

(1) 3ishal (=T=) (2) TSI (=)

(3) WIER-FA-dl (TIgY) 4) e (T )

el § Hare 31farl 9 9 21 e
1) TR-faomews  (2)  wHedt® S IRESCED (4) ST

T SIfeRAT 79 e 9 e 20 Hiet Fel, SO SIfe AR GEahs 10 Hiet wel | et R ge &
IS 9% 10 HieX Fel iR fert 3R g & 915 20 HieX 9al | 98 i & Tifet 3iR ger iR 70 Hiex
Tl | I T e I forat g WR?

(1) 20 Hi&X (2) 50 Hr&X (3) 40 Hi&X 4) 60 HX

9 firema # 9t & fueerd Wel | fema &1 e S99 SR e el SH YR feed g wg
feqeis § 9Yg 1 ¥ T el 2

78 frafafad & 9 fha YR &1 o § 2

(1) wiferh™ (2) HIEIIAR
BTG EI:C] (4) TS

c
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43. The next term in the series ABD, DGK, HMS, MTB, .......... is :
(1) RUH (2) NSA (3) SBL (4) PsSK
44. The interaction between a teacher and students creates a zone of proximal :
(1) Distortion (2) Difference
(38) Confusion (4) Development
45. In the series 1, 6, 15, 28, 45, ............ the next term will be :
(1) 84 (2) 66 3) 76 (4) 56
46. It is Truism to say that no one was there when life first appeared on earth. Any assertion
about life’s origin, thus, should be treated as a theory.
The above two statements constitute :
(I) A conjecture (2) A historical explanation
(3) A narrative (4) An argument
47. In a classroom, the probability of message reception can be enhanced by :
(1) Using high decibel audio tools
(2) Establishing a viewpoint
(3) Exposing the ignorance of students
(4) Increasing the information load
48. Given below are four statements. Among them two are related in such a way that they can
both be true but they cannot both be false. Select the code that indicates those two
statements :
Statements :
(a) Honest people never suffer.
(b)  Almost all honest people do suffer.
(c) Honest people hardly suffer.
(d) Each and every honest person suffers.
Code :
1) Mand© () @and(®) () @and(© @) (a)and ()
con [INNIIMRNIHNID =



43. sf@el ABD, DGK, HMS, MTSB, ......... H 3Tl T ¥
(1) RUH (2) NSA (3) SBL (4) PSK
44, foeren SR faenfo & e RER Harg g S =1 o et
(1) fopfa 2) W
@) ¥H @) faem
45. @ 1, 6,15, 28, 45, ........... H ST & BF
(1) 84 2) 66 3) 76 (4) 56
46. I8 FEl U WM A ¢ foF 5o gedlt W Gy e o1 Sd g3 a9 I8l IS el o1 39 WK,
S & 3g9a o ey H foret ot sifepem =1 fagia wmn S =nfe |
Sygea T ke faftid e ¥ -
(1) TH 3IHa (2) TH Ufdeiiaes A
(3) Tk AN (4) TH Th
47. Twdl Fe | Hag U i F9reEdl il frEfated § 9 fRad agen S wehar § 2
(1) = SfHda & 97 IR 1 TAN Lk
2) gfeson Tenfd e
(3) fornfefai st sAfugar SR e
(4) I R H s FwR
48. SR weH U U | = I q o9 § 39 e ¥ Halfed ¥ fF 3 I T & weRd € wReg A <M
3T & 81 Hehdl | 39 e 1 AT L i1 S Q1 R bl ST HIAT §
:)m §'1=I'F|ET{ fqa wlt F T FeTd B
(b) TN G MR AT F eAd & |
(c) ZHMGR HAfK IER & T Ferd & |
(d) YAH TAFER AfH F Ferdl B |
<< :
(1) (b) 3R () 2 (a) ¥ (b) () (@) W () @ (@ R @@
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49. A good communicator begins his/her presentation with a :
(1) Ice-breaker (2) Complex question

(3) Non-sequitur (4) Repetitive phrase

50. The spatial audio reproduction in a classroom can reduce the students’ :
(1) Interest in technology - orientation
(2) Cognitive load in understanding
(3) Respect for the teacher
(4)

4 Motivation for excellence

-00o0-
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49. TH ITH GHUEH I TR0 F=farad 3 9 fhas % & § 2
(1) FHgEE (2) ifed g
(3) Ffafd (4) el gesY

50. fordt wmen & wenfer oo YA U ki ooig @ faenfelai o frefafead 8 @ o e gehar &/ 9ehdt § 2
(1) rEnfiest - stfufeam § &

(2) g H HIAHR 9

(3) Tl & ufa a1t

(4) SwpTET <k Hfd IEOW

2

4
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PAPER -1

This paper consists of Fifty (50) objective type questions of Two (2) marks each. All
questions are compulsory. 50 Q x 2 M = 100 Marks

Just as melting ice - cubes do not cause a glass of water to overflow, melting sea - ice does not
increase oceanic volume.

What type of argument is it ?
(1) Psychological (2) Statistical
(3) Analogical (4) Hypothetical

A postman walked 20 m straight from his office, turned right and walked 10 m. After
turning left he walked 10 m and after turning right walked 20 m. He again turned right and
walked 70 m. How far he is from his office ?

1) 60 m. 2) 20 m. (3) 50 m. (4) 40 m.

Given below are two premises (a and b). From those two premises four conclusions (i), (ii),
(iif) and (iv) are drawn. Select the code that states the conclusion/conclusions drawn validly
(taking the premises singularly or jointly).

Premises : a) All bats are mammals.

b) No birds are bats.

(
(
Conclusions : (i) No birds are mammals.
(i) Some birds are not mammals.
(iii) No bats are birds.
(

iv) All mammals are bats.
Code :
(1) (i) only (2) (i) and (iv) only
(3) (@) only (4) (@) and (ii) only

A good communicator begins his/her presentation with a :
(1) Repetitive phrase (2) Ice-breaker

(3) Complex question (4) Non-sequitur

N
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The classroom communication should essentially be :

(1) Abstract (2) Non-descriptive (3) Contrived (4) Empathetic
In the series 1, 6, 15, 28, 45, ............ the next term will be :
(1) 56 (2) 84 (3) 66 4) 76

Ajay is a friend of Rakesh. Pointing to an old man Ajay asked Rakesh who is he ? Rakesh
said “His son is my son’s uncle”. The old man is related to Rakesh as :

(1) Father (2) Uncle

(3) Grandfather (4) Father-in-law

The spatial audio reproduction in a classroom can reduce the students’ :

1 Motivation for excellence

3

(1)

(2) Interest in technology - orientation
(38) Cognitive load in understanding
(4)

4) Respect for the teacher

It is Truism to say that no one was there when life first appeared on earth. Any assertion
about life’s origin, thus, should be treated as a theory.

The above two statements constitute :
(1) An argument (2) A conjecture

(3) A historical explanation (4) A narrative

In a classroom, the probability of message reception can be enhanced by :

1) Increasing the information load

(
(2) Using high decibel audio tools
(3) Establishing a viewpoint

(4)

4) Exposing the ignorance of students

=
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11. Given below are four statements. Among them two are related in such a way that they
can both be true but they cannot both be false. Select the code that indicates those two
statements :

Statements :

(a) Honest people never suffer.

(b)  Almost all honest people do suffer.

(c) Honest people hardly suffer.

(d) Each and every honest person suffers.

Code :

1) @and(@ (2 (Gand@ () @and®) (@) (a)and ©)

12. In certain code, “COVALENT” is coded as BWPDUOFM. The code of “ELEPHANT” will
be :

(1) QFMFUOBI (2) EPHNTEAS
(3) MFUIQRTW (4) QMUBIADH

13. The interaction between a teacher and students creates a zone of proximal :
(1) Development (2) Distortion
(3) Difference (4) Confusion

14. A deductive argument is invalid if :

(1) Its premises are all false but its conclusion is true.
(2) Its premises are all true but its conclusion is false.
(3) Its premises and conclusion are all true.
(4) Its premises and conclusion are all false.

15. The next term in the series ABD, DGK, HMS, MTSB, .......... is :

(1) PsSK (2) RUH (3) NSA (4) SBL

ooo [[IINANINCHNNE



11. = sR %A fer e €)1 37 9 < oud H 59 ae @ Heifya € for 3 31 I &1 ek § oeg A 2l
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15. sf@e ABD, DGK, HMS, MTSB, ......... H 3Tl 9T ¥
(1) PSK (2) RUH (3) NSA (4) SBL
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Answer the questions 16 to 20 based on the data given in the table below.

Table : Number of registered vehicles in India and India’s population.

Total Two Cars, Jeeps, Goods Population
. ) Buses ) Others i
Year | vehicles wheelers Taxis (Lakhs) vehicles (Lakhs) (India)
akhs akhs

(Lakhs) (Lakhs) (Lakhs) (Lakhs) (Millions)
1961 6.65 0.88 3.1 0.57 1.68 0.42 439.23
1971 18.65 5.76 6.82 0.94 3.43 1.70 548.15
1981 53.91 26.18 11.60 1.62 5.54 8.97 683.32
1991 213.74 142.00 29.54 3.31 13.56 25.33 846.42
2001 549.91 385.56 70.58 6.34 29.48 57.95 1028.73
2011 1417.58 1018.65 191.23 16.04 70.64 121.02 1210.19

16. In which year the decadal growth (%) in number of cars surpassed that of the two

wheelers ?

(1) 1981

(2)

2011

(3) 1991

(4) 2001

17. What was the average decadal growth in the number of cars during 1961 - 2011 ?

(1) ~217% (2) ~157% B) ~131% (4) ~ 68%
18. Inthe year 2001, out of total number of vehicles, the number of passenger vehicles (4 wheelers)

accounted for :

(1) ~31% (2) ~43% (B) ~14% 4) ~24%
19. What was the per capita ownership of two wheelers in India in the year 2011 ?

(1) ~ 0.84% (2) ~ 0.068% (3) ~ 0.084% (4) ~ 0.0084%
20. The maximum decadal growth in population of India is registered in the period :

(1) 2001 - 2011 (2) 1981 - 1991 (3) 1961 - 1971 (4) 1991 - 2001
ooo [[IINANINCHNERE
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Trfeafiaa arferent ¥ fou U tfemsl o MR W U9 16 H 20 ST ST S |

AT : WA H USHehd aTel sht WEAT 3R U it THET

- %ol 9| gufed et | @E, S, 6 | A aRT | ST | YRA i SHEE
() () S (T | () | () | () (fafera)
1961 | 6.65 0.88 3.1 0.57 1.68 0.42 439.23
1971 | 18.65 5.76 6.82 0.94 3.43 1.70 548.15
1981 | 53.91 26.18 11.60 1.62 5.54 8.97 683.32
1991 | 213.74 142.00 29.54 3.31 13.56 25.33 846.42
2001 | 549.91 385.56 70.58 6.34 29.48 57.95 1028.73
2011 |1417.58| 1018.65 191.23 16.04 | 70.64 | 121.02 1210.19

16. o o | R} 1 G H g3 SR IfG (%), SUGT A1 hl T H g3 TURI Ifg (%) Tl TN
TE ?

1)

1981

(2)

2011

(3)

1991

(4)

17. a9 1961 - 2011 % SR R &1 G | 3id g gfg fhaet W@ 2

1)

~ 217%

(2)

~ 157%

(3)

~ 131%

(4)

2001

~ 68%

18. a¥ 2001 H, IR i HoT & | § AT Al (Frafedn areAl) i HeAl H gfaw a4 o ?

(1)

~ 31%

()

~ 43%

(3)

~ 14%

19. 992011 H wRa H gufean smeAi =1 fd =afda w@nfie fodan o1 ?

(1)

o~

~ 0.84%

faSl o

20. ™

1)

o-ao [ HHIEARCALAIN

2001 -

2011 (

()

~ 0.068%

1981 - 1991

(3)

(3)

(=]

~ 0.084%

1961 - 1971

4)

4)

mfafed ¥ ¥ forg Toe & SRH YR &t SHEen B gaifus gfg oo &l T 2

2)
Jl

(4)

~ 24%

~ 0.0084 %

1991 - 2001

P.T.O.



Read the passage carefully and answer question numbers from 21 to 25.

Climate change is considered to be one of the most serious threats to sustainable development,
with adverse impacts on the environment, human health, food security, economic activity, natural
resources and physical infrastructure. Global climate varies naturally. According to the Inter-
governmental Panel on Climate Change (IPCC), the effects of climate change have already been
observed, and scientific findings indicate that precautionary and prompt action is necessary.
Vulnerability to climate change is not just a function of geography or dependence on natural
resources; it also has social, economic and political dimensions which influence how climate change
affects different groups. Poor people rarely have insurance to cover loss of property due to natural
calamities i.e. drought, floods, super cyclones etc. The poor communities are already struggling to
cope with the existing challenges of poverty and climate variability and climate change could push
many beyond their ability to cope or even survive. It is vital that these communities are helped to
adapt to the changing dynamics of nature. Adaptation is a process through which societies make
themselves better able to cope with an uncertain future. Adapting to climate change entails taking
the right measures to reduce the negative effects of climate change (or exploit the positive ones) by
making the appropriate adjustments and changes. These range from technological options such
as increased sea defences or flood - proof houses on stilts to behavioural change at the individual
level, such as reducing water use in times of drought. Other strategies include early warning
systems for extreme events, better water management, improved risk management, various
insurance options and biodiversity conservation. Because of the speed at which climate change is
happening due to global temperature rise, it is urgent that the vulnerability of developing countries
to climate change is reduced and their capacity to adapt is increased and national adaptation
plans are implemented. Adapting to climate change will entail adjustments and changes at every
level from community to national and international. Communities must build their resilience,
including adopting appropriate technologies while making the most of traditional knowledge,
and diversifying their livelihoods to cope with current and future climate stress. Local coping
strategies and knowledge need to be used in synergy with government and local interventions.
The need of adaptation interventions depends on national circumstances. There is a large body of
knowledge and experience within local communities on coping with climatic variability and extreme
weather events. Local communities have always aimed to adapt to variations in their climate. To
do so, they have made preparations based on their resources and their knowledge accumulated
through experience of past weather patterns. This includes times when they have also been forced
to react to and recover from extreme events, such as floods, drought and hurricanes. Local coping
strategies are an important element of planning for adaptation. Climate change is leading
communities to experience climatic extremes more frequently, as well as new climate conditions
and extremes. Traditional knowledge can help to provide efficient, appropriate and time - tested
ways of advising and enabling adaptation to climate change in communities who are feeling the

effects of climate changes due to global warming.
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TEITYT Rl &1 | U S{iX U9 WEAT 21 ¥ 25 ST S8 |

STeraTg, aRad 1 TR TRt w1 Haifess TR Waw W S €1 SEeRT TAieRT, Hie T,
W [Ra, e nfafafy, wrwfaes darer o IR ifds stageT W yfaga gue ued © 1 afves siaery
I Y IRafad gl Wl § | Serary qRedd et A sl fad i arel Sehrl Iet (3TE. 9.5, )
% STTIR STerdTg I o JTa bl Ugel &t Uferd foran < gt © 3R Smnfes fopd 7% @i € 5 Tadhan
AR ferrgdes wRATE fohan ST STewee €1 Sierary uierde o Ui e fad opie 9§ 78 2§ stean
fa yrerfaes daredi w € fik 72 § afeer Storarg afteds & amfses, enfeie ok o smem ot
S 39 91 I g R ¢ foh foRd YRR & Seraryg aftenda fafie el o6t weifaa & €1 fe safaa
% T WThideh SRS S @, 916, HeTashad 1S o IR0 §Ffd sl eare &fd @i gfd s & fag
IR & WA B § | e e @ T SR Soery a5ed i faree Fhitadl 9 g8 8 S8 W@ § iR
STeTaTy Ui o R 31 & foTe SUd SeM IR 7l ao T o7 sifrea s giveat & sTem | Tw
TeqUt ¥ foh Uehfd o S<erd STl o WY WHSA S8 H 3 THEl Sl WerEdl Sl S J1feu | ST he
T Ufshan © FEeh wream § T stffvea ot o a1 9 faem # o197 ol 98 &7 9 Hafd s
¥ Sorarg giada % |1 SR % ded SyfEd e iR IRade s & Aread 9 Soer uikedd &
TRRIHE YUTE! hl FH HH (GhNcHS FHE1 1 HES 38H) & fau e Su forw o €1 39 39 |
Ureifienta forehed ae: ael g5 HHaT GRal s1o@ feqell T a1g - Wafd =R 9§ oo AT TR TR FaeRI
IR S @ F THA H I A FAR WA § 1 ST TG | I HeAsd o fae g8 =t
YUITeA!, SIgaX STel Yoo, Soid St Yoo, Tafimst s fasmea iR So-fafayrar e gfmfea g1 afveass
o gfs o R 58 fa | Sy H aReEd 81 W@ © 98 ScAeRash 8 Sl § foh siorarg 9Red & uid
forprereficr <ot <t Srerdt A1 W foRaT ST ST STRT TR &A1 1 SR ST e T TR =ifqal
FHEfad Sl S| erarg, TR & Ufa STwe TUed ¥ el iR SFaisa gt TRl N gHere 3R
Rl st AT HAr &1 S SR 9T % Serarg & 9@ G faer ¥ 9HeEl S S0 et
IRAARE FH T ITART A IR AU eArshifarent & fafasfieror & - aqfaa drenfifsa &1 sTm
gfgd STt T=rdl SAMT =IfeT | TR SR T el % Wi drerd faei gy |mse faem e
T TUHITGET SR M 1 FAT o < =ifeu | STqaher Seielt geaay T uRkfefadi w feR 2 €1
STTaT] aiet aeerel ST SRy HH el & 1Y grHee foaem & Geie § T SHerEl % e g8d 9
3R 3TYE T | TIHIT TR 1 THIN IV ST 7Y SIcAa TRl & Qe dretiet foemT W@ 1 @
% fore 3= fonma o Higet Tt & o799 STYE % SMUR R 19+ T iR Gied I & T8y Janar
F T T A g ot e ) E o6 % a1, gE SR Qi ST = Seet gersl 9 gfafwar w5 ok
STE SORAT ISl &1 WS faem it g WHIfqEl Sged & Faee | meeyul o WE | Seary
aRad= i I8 ¥ TSR ol IR-aR =8 Sietary fearfadi qen 7€ Serary o i) =rm feafa=i 1 am
FHAI IS @1 8 | IREReh JM H 3 WG &l Sl df¥deh 199 i asie 9 Serary qRedd & THE ol 7agd
FR T &, ST Ied & 91 Iree foer aun $ve, agfud iR guafag Sue ged | Seme faertt )
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21. The traditional knowledge should be used through :

(1) Synergy between government and local interventions
(2) Modern technology

(3) Its dissemination

(4) Improvement in national circumstances

22. Given below are the factors of vulnerability of poor people to climate change. Select the code
that contains the correct answer.

(a) Their dependence on natural resources

(b) Geographical attributes

(c) Lack of financial resources

(d) Lack of traditional knowledge

Code :

(1) (@), (b), () and (d) (2) () only

(3) (@), (b)and () 4)  (b), (c) and (d)

23. Adaptation as a process enables societies to cope with :

(a
(b

)  An uncertain future

) Adjustments and changes

(c) Negative impact of climate change

(d) Positive impact of climate change

Select the most appropriate answer from the following code :
(1) (b), () and (d) (2) (0) only

(3) (@), 0, (© and (d) (4) (2 and (9

24. To address the challenge of climate change, developing countries urgently require :
(1) Adoption of short-term plans
(2) Adoption of technological solutions
(3) Imposition of climate change tax
(4)

Implementation of national adaptation policy at their level
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21. YRR JE &1 39 FH=fafed § 9 faae meam 9 foan s =nfen ?
(1) TR&R R T &l & = aerd 9
(2) e YrEifient g1
(3) 3Hh TER-FHR g
(4) T aRfufaEl 9 gur g1
22. i e uRad % fa e safaat st dear % R fou T E | 9E SW ol %e 99 B
(a) TRideh GETEAT T 3Tt e
(b)  «iifeie RO
(c) Torita damemi =0t et
(d) URURER A T A9
<< :
(1) (a), (), () 3R (d) 2 & (9
() (@) (b) ¥ () ) (®) (© ()
23. STIHE Tk Uihal o &9 § A ol FAfafad § 9 feas @y gmew foerm § aaed aamm g2
(a) i wfaey
(b) HHS IR g
(c) Sierary ferdd s ThRNIcH THIE
(d) ScTeryg e sl HehRIcHS GHTE
frfafad e § 9 Heifs STyt ST 1 == &
1) ©)(© 3 () () fa (o)
(3) (@), (), (©) ¥R (d) 4) (a) 3R (9)
24, oAy 9REda @t A ¥ fued & fore fasmasia T9i a1 st wu 9 frefafed # 9
HA HT T § 2
(1)  STeUrEfy ASHIT ST
(2) UTENRTRRE THIEE STOAT
(3) Sy afReErde s A
(4) 3T WR W UL e Afd hl HrR-oaT
oo [[[IHINANNHNANT riro.



25. The main focus of the passage is on :

(1) Adaptation to climate change

(2) Social dimensions of climate change

(8) Combining traditional knowledge with appropriate technology
(4) Co-ordination between regional and national efforts

26. Which of the following come(s) within the ambit of the term ‘corruption’ ?

(a) Misuse of official position

(b) Deviation from rules, laws and norms

(c) Non-action when action is required

(d) Harm to public good

Select the correct answer from the code given below :

(1) (a), (b) and (d) (2) (@) (), ) and (d)
(3) (a) only (4) (a) and (b) only

27.  Which of the following universities has received the Visitor's Award for the best Central
University in India in Feb. 2017 ?

(1) Tezpur University (2)  University of Hyderabad
(3) Jawaharlal Nehru University (4) Banaras Hindu University

28. What is the name for a webpage address ?
(1) Protocol (2) URL (3) Domain (4) Directory

29. Occurrence of natural hazards is affected by :
(a) Land use changes (b) Drainage and construction
(c) Ozone depletion (d) Climate change

Choose the correct answer from the code given below :

(1) (), (b) and (d) (2)  (b), (c) and (d)
(3) (@), (c) and (d) 4) (@), (b) and (c)
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25. T T T Hehfweh fog ¥

(1) Sicerg wfed e & 9fd ST

(2) Screryg IR o drHTSIeh ST

(3) URURER FH 1 TYfad UrefiTeht & e S
(4) & SR T YA % S g

4

26. frafafed § & FF-w  yeER’ e w i afify § o g2
(a) HTRRT U T GEIAN
(b) 7o, AT SR ARl § oo
() 19 PHRATE AT & A HNATE T BT

(d) s Hufd ! JhdH

= feu T e H @ W S A ¢
(1) (a), (b) &R (d) 2) (@), (b), (0) 3 (d)
(3) e (a) (4) e (a) ¥R (b)

27. Tr=fafea favafaemesl § @ 68 ®ad 2017 ® 969w foavafaaeE & fau garss
(fafsrer) o1 qrEenr rei g3t ?

(1) aSqY forafea=mem ) TER foEfaEe

(3) SOTRA g% favafaeme™ (4) R Texg fovafermmem

28. II-UB UI (TSH) & o3 s A § 2
(1) Hiereid (2) IIAXTA. (3) =S (4) SERERd

29. ik Muerst & Hfed e H Trefaad s 99 Tedi €

(a) ofF - 3TEM ¥ 9REda (b) < e AR fafo
(c) TSI | At (d) Sierary aRedd
= feT 7T e H 9 FE IW H T R
(1) (a), (b) ¥R (d) 2 (b), (0) 3 ()
3) (@), () R (d) 4) (a), (b) 3R (0)
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30. The data storage hierarchy consists of :

(1) Bits, bytes, records, fields, files and databases
(2) Bits, bytes, fields, files, records and databases
(38) Bytes, bits, fields, records, files and databases
(4) Bits, bytes, fields, records, files and databases

31. What is the full form of USB as used in computer related activities ?
(1)  Universal Serial Bus (2)  United Serial Bus
(3)  Ultra Security Block (4)  Universal Security Block

32.  Which of the following are the goals of higher education in India ?

(a) Access

(b) Equity

(¢)  Quality and Excellence

(d) Relevance

(e) Value based education

(f) Compulsory and free education

Select the correct answer from the code given below :

(1) (@), (b), ©) (@ and (@) ) (@) (b), (©) (), () and ()
(3) (@), (b) and (¢) only (4) (@), (), (@) and (9

33. Which of the following represents billion characters ?
(1) Kilobytes (2) Gigabytes
(8) Terabytes (4) Megabytes

34. Who among the following can be removed by the President without Parliament’s
resolution ?

(1) Chief Election Commissioner (2) Comptroller and Auditor - General
(38) Judge of a High Court (4) Governor of a State
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30. TTRIT YERW & e § wfee ¥ -
(1) fozm, ey, ey, wiegd, wee e SrmEds
(2) fozm, ey, wieew, wEd, frrey o srmEds
(3) @, faed, wieed, RHEd, wiEd 941 SREYS
(4) fozm, amew, wiegy, ey, wEc aon St
31. HPRR Y Grefed HE § FAN g 4.THS. H T EI S ?
(1) FHada Hfaa a9 () IS HifEd |
(3) 3o faeRnfE sain (4) Ftoda et sdien
32. 9NG # 3= fnan & @y Frafafea § 9w 9§72
(a) T
(b) |
(c) o1 T TR
(d)
(e) W A et
(f)y e & gu fen
= feu T Fe H | T IR A ¢
(1) (@), (), (), (d) 3R (e) 2 (@), () (©), (@), () 3 ()
() FH (), (b) S () ) (@, (©) () 3 (@
33. frefafaa # 4 -t ona (fafeem) Fieem wefiia sar &2
(1) fepeirarses (2) TimeTEEH
(3) eEeH (4) HeTECH
34, Trefafea § 9 ford WU & wied y&ard o foH1 Iegufd gRI g2 S 9ehdl © 2
(1) Y& g ST ) T IR HerrEn Thes
(3) I SRTCHT hl A (4) T hl TATA
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35.

36.

37.

38.

39.

40.

41.

Which of the following pollutants is the major cause of respiratory diseases ?
(1) Carbon monoxide (2) Volatile organic compounds
(3) Suspended fine particles (4) Nitrogen oxides
Which of the following domains is used for - profit businesses ?
(1) .edu (2) .com (3) .org (4) .net
Which of the following pollutant gases is not produced both naturally and as a result of
industrial activity ?
(1) Methane (2) Carbon dioxide
(3)  Chlorofluoro carbons (4) Nitrous oxide
Which of the following has been ranked the best college in the country (2017) as per the
National Institutional Ranking Framework (NIRF) ?
(1) Fergusson College, Pune (2) Maharaja’s College, Mysore
(3) Miranda House, Delhi (4) St. Stephen’s College, Delhi
Assertion (A) : In urban areas, smog episodes occur frequently in winters.
Reason (R) : In winters, a lot of biomass is burnt by people for heating purposes or to
keep themselves warm.
Choose the correct answer from the code given below :
(1) (A)is true and (R) is false
(2) Both (A) and (R) are false
(3) Both (A) and (R) are true and (R) is the correct explanation of (A)
(4) Both (A) and (R) are true but (R) is not the correct explanation of (A)
Among the following fuels of energy, which is the most environment friendly ?
(1) CNG (2) Hydrogen (3) Ethanol (4) Biogas
In which of the following arrangements a wider spectrum of ideas and issues may be made
possible ?
(1) Conference (2) Symposium
Research Article (4) Workshop mode
HIH!IHIHIIHIWHI! WM -~ -




35.

36.

37.

38.

39.

40.

41.

frefafead § ¥ SHH-91 Ygu Ya8=-a9 9 eI i@l 1 T9E FR § ?
(1) e HHISARS (2) aTSHRN TSR AR
(3) focifaa gaa wu (4) TEIISH SRS

frefafad el # fF8 STyt =R &g Ja T S € 2
1) () (2 HAwH(FM) (3) .30 WS 4) TWEE(FR)

frefafed § § HH- ygws 19 Tk €9 9 iR oTEifier nfafafy & qRomess 1 9 3=
T et 7 2

(1) Hem (2) e SESATHRES

(3)  RARIT h1eiT (4) ey S

TS Fieeieh Joertor e (TH.31E. IR UE. ) & TR frfefad o & fond 2w ¥, gd9s wic
(2017) T T T §3TT 2

(1) WIE e, ol (2) RIS Siers, HER

(3) Tutie eey, foeait (4) U EEH Hie, feeed

afirerer (A) :  IRA & B, SIS & fol § SToRR 0l ot T "fed 2l € |

&+ (R) SIS & Hrgg § < T R F FESE W 91 = B T W % o st amn |
Sta-Tgfd (S ) I ST ¥ |

1= QT 7T Fe § ¥ T2 I 1 = SN

1) (A) T8 T iR (R) o B |

2) (A) 3R (R) S TTerd €

3) (A) 3R (R) <M T& € IR (R), (A) H T A T

(4) (A) 3R (R) S W& § WA (R), (A) T T 0 7L T

freAfafed o Somi § HiFA-91 S TR & foe ged o € 2
1) TS (2) TESSH 3) T (4) @

frafafad § 9 forg ogaen § faari iR g8 &t = 9 (Tagh) 1 T SF/@T ST 9T § 2
(1) Fe (2) @i
(3) Y@ (4) EEIET 9gid
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42. A researcher attempts to evaluate the effect of method of feeding on anxiety - proneness of
children. Which method of research would be appropriate for this ?
(1) Ex-post-facto method (2) Survey method
(8) Case study method (4) Experimental method
43. Which of the following is susceptible to the issue of research ethics ?
(1) Choice of sampling techniques
(2) Reporting of research findings
(3) Inaccurate application of statistical techniques
(4) Faulty research design
44. Which one of the following is a key behaviour in effective teaching ?
(1) Instructional variety
(2) Questioning
(8) Using student ideas and contribution
(4) Structuring
45. From the list given below identify the learner characteristics which would facilitate teaching-
learning system to become effective. Choose the correct code to indicate your answer.
(a) Prior experience of learner (b) Learner’s family lineage
(c) Aptitude of the learner (d) Learner’s stage of development
(e) Learner’s food habits and hobbies (f)  Learner’s religious affiliation
Code :
(1) (a) (d) and (e) (2)  (b), (c) and (f)
() (@), (c) and (d) (4)  (d), (e) and ()
46. Which of the following set of statements best represents the nature and objective of teaching
and learning ?
(a) Teaching is like selling and learning is like buying.
(b) Teaching is a social act while learning is a personal act.
(c) Teaching implies learning whereas learning does not imply teaching.
(d) Teaching is a kind of delivery of knowledge while learning is like receiving it.
(e) Teaching is an interaction and is triadic in nature whereas learning is an active
engagement in a subject domain.
Code :
(1) (@), () and (©) (2) (@), () and (d)
(3) (@), () and () (4)  (b), () and (e)
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42, U INERAl gl Bt T - S W 9o fafy % gure 1 Aot i 1 WA I &1 -
ot wiry-fafy g9 fag Suga gt ?
(1) wERR 9gfd (2) Hd ggfd
(3) =fte s ggfa (4) ImEfTR Tgfa

43. Trafafeaa § @ s@-a1 oy Afded 1 gy @ gl § 2
(1) fee™ Tl =1 fomed
(2) iy Rl sl KA e
(3) wifEentd dehtenl 1 STFTe STHAN
(4) T T TUEN H TG BT

44, Trafafeaa § @ e guret feo § ygE @R § 2
(1) ST feferer
(2) A gE
(3) forenefl & foe=mi s TeeM 1 STHAM
(4) W

45. = T g H 9 famnedf & 37 sifyasi i fafea o S e st gonett 6 gt a9e
T T 379 S I 30T F o fAU T&t 2 1 =97 H |

(a) Toremeft =1 g6 sgvE (b) faenefl =t wETie a9 "o
(c) Tommeff =1 stfyrerean (d) forneff = forehrd =1 erereen
(e) fomneff =t @M =t o iR s (f)  foeneff =t wnfifer wwga

e

(1) (@) () ¥R (o) (2 (b), () IR (f)

(3) (@) () ¥ (d) 4) (@), (e) R ()

46. Trafafaa el & 9g= § | HA-91 e ok 1form & yefa 1@ e 1 watan &9 § e
FIAT T2
(a) Toreqor fosra & TAM § SR ST SORRT & ST § )
(b) oreror wrfses Fer € Safe sifarm SAfaa F €
(c) Toeror & sifermy fafeq § sraifer stferm foreror =1 wmfea = shean|
(
(

d) T T YRR I I 1 SO § Sl ATH 36 W i S T
e) Toa t sa.fohan ¥ SR yopfa § fras) § Safe eiferm wk fawar & ot=rfa |fha e B

(1) (a), (b) ¥R (o) 2 (a), (b) ¥ (@)
(3) (@) () ¥R (e) 4)  (b), (0) ¥R (e)
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47. Which of the following research types focuses on ameliorating the prevailing situations ?
(1) Action Research (2) Experimental Research
(3) Fundamental Research (4) Applied Research
48. Infinalizing a thesis writing format which of the following would form part of supplementary
pages ?
(1) Conclusions of the study (2) Bibliography and Appendices
(3) List of tables and figures (4) Table of contents
49. Assertion (A) : All teaching implies learning.
Reason (R) : Learning to be useful must be derived from teaching.
Choose the correct answer from the following :
(1) (A) is true, but (R) is false.
(2) (A) is false, but (R) is true.
(3) Both (A) and (R) are true and (R) is the correct explanation of (A).
(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).
50. On the basis of summative tests, a teacher is interpreting his/her students, performance in
terms of their wellness life style evident in behaviour. This will be called :
(1) Norm - referenced testing (2)  Criterion - referenced testing
(3) Formative testing (4) Continuous and comprehensive evaluation
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47. Trefafea § @ vy & g 7R § Oee fufadl § guR R = Sisa fea s e ?
(1) forameh s (2) TR g
(3) wifes e (4) =IeEd 9
48. TH Y YOY TG HHC h HAfaw ®9 < H FAfafed § € SF-91 eh-T81 1 9T S 2
(1) Teaaa & frepd (2) Y- AR gRfire
(3) HRME 3R Skl i gt (4) faoa-gmroh
49. 3feRed (A): Tt foreror # siferm fafeq € 7
e (R) T 1 ST B o foTe 38 STaverss w9 9 e ¥ geas 91 et |
frefafed § 9 ¥&r 3T h1 =91 &Y
1) (A) 5@ T, AfFT (R) e B
(2) (A) T &, Wl (R) & T
(3) (A) 3R (R) T T € TR (R), (A) FT T TLHTI G|
4) (A) 3R (R) I WL €, AT (R), (A) T &1 TITH T & |
50. HehoHIcHS &N o STTUR T T foeeh 31+ faenfi=i o feaes =Haer ol 394 Afyeren gieed
e Seft & G H Srenfad T 81 39 el ST
(1) ®= Hefda adierm (2) Ty Hefda wdem
(3) TS Tderm (4) dd s SAYF oIk
-00o0-
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Answer Key:-

10 3 35 3
11 2 36 2
12 1 37 3
13 1 38 3
14 2 39 4
15 4 40 2
16 2 41 1
17 3 42 1
18 3 43 2
19 9 44 1
20 3 45 3
21 1 46 4
22 3 47 1
23 3 48 2
24 4 49 1




